::-_' . L BASORFIL 5 BASORPLAST

LJ BASORTRAY {3 BASORCANAL

=l BASORTRAV O BASORTUB

A BASORFIX (= BASORSUPPORT

BEGREEN

CableManagementSystems

= Dasor

ELECTAR RIC



= D3asS0or

BELECTAR RIC




i C

BELECTR

= E. Dasor

INDICE |INDEX |INDEX |INDICE |iNDICE |INDEX,UTMUTATO |INHALTSVERZEICHNIS |YKA3ATENb |OBSAH

30

.)

WJS - AVd140Svd

W3S - 11440SvE

48

W3S - AVd140SVvE

66

NQEo NeE

WS - 140ddNSYOSVE g dS - 140ddNSHO0SYE

E38 |‘|



.EBEE.tDcBEﬂD[

BELECTRI

INDICE |INDEX |INDEX |INDICE |iNDICE |INDEX,UTMUTATO |INHALTSVERZEICHNIS |YKA3ATENb |OBSAH

(]

A EETEE
T &
§ '1.

B

BASORPLAST - SCP

0C

0

RE1250 / R1250

o

LLl
(&)
(Vp]
1
-
=
Z
(&)
(0
@A
<
o

118

(Jals

2 | E38



= E. Dasor

BELECTRIC

INDICE |INDEX |INDEX |INDICE |iNDICE |INDEX,UTMUTATO |INHALTSVERZEICHNIS |YKA3ATENb |OBSAH

124

BASORFIX - ACC

145

B |3






WOS ([ AvaLaos v _wmw..,..h.w..,. S

e i

basortray

O
=)

o

(@l eN) - @ (g
— = =

(R e @5 @




BASORTRAY (LJ) SCM

LJ BASORTRAY
ERE 50 -SE.Dbasor

BELECTARIC

U

CERTIFIED

o o |
1 Ls100m N‘; 150°C 120°C NV v
- Q m -50°C -25°C %-/Q) 20J

W ‘I |P2xTJ ‘I |K07'{J
UNE-EN 61537 UNE-EN 61537

N\ I /
o il O @
UNE-EN 50085 UNEENS0085  UNEEN6IS37  UNE-EN50085 NeB UNEEN 1527 /]

UNE 23727 UNE-EN 61537 UNE-EN 50085 IEC 60529 IFC 50102

N

TERE 50 PTER 50 CPER 50 CCER 50
1 g
r ‘é" L & U
CXER 50 JUER 50 JUERP 50 Bl
7
B H50 (2)
mm inch cm? in?
50 \ 2 \ 2% \ 37




U BASORTRAY
ERE 50 -=E. Dbasor

BELECTARIC

S o | Hoo | ]
S = [ o | = [ o Il

ERE 50X50 |50 | 2 | 50 | 2" | 210181 | 956 | 2710182 | 1889 1885

10x7,5
A /100 B1 (214356 - PG 1 2/6826 - HDG). i 7
HOU
= 0 22x7,5
°
o)
ol A~
L=3m(10f) g
3 17
(@)
i I
[an]
O o
o
o Al
O
U D ere-c 50
B N  P6 | HDG | :
N w [ | w o SRR
ERE-C 50X50 |50 | 2 | 50 | 2" | 2710183 | 10,56 | 2/10184 | 1944 o0s
X/,
A 27100 x BL (24356 - PG 1/ /6826 - HDG). K

=

L=3m(10f)

Q

3000

TERE 50
|

15

B
N ReE | em | REE | em | € )

TERE 50 | 50 | 2 |210282] 600 | 210283 | 1367

X @

,,,,,,,, —

=

L=3m(10ft)

B+3

PTER 50 i304

B H e i304
mm inch mm inch mm REF. €lu 30 B+1
PTER 50X50 i304 |50 | 2 [ 50| 2 | 15 | 234 | 422

BASORTRAY (LJ) SCM



U BASORTRAY
A ERE -SE. basor

BELECTARIC
@CPERSO
; i I T

mm inch ~ mm inch mm éE)
CPER 50150 [ 50 | 2 | 50 | 2 | 23235 | 17,11 | 26950 | 21,11 |
A 1xJUERS0 (212051-PG / 2/2056-HDG) N

120

H

21

BASORTRAY (LJ) SCM

Q CCER 50
TN o | o

mm . inch o inch - [NCEEN TN IEE T
CCER 50150 | 50 | 2 | 50 | 2 | 23236 | 1944 | 26952 | 2311 i
1 xJUERS0 (212051-PG / 2/2056-HDG) i —
* &
: 50
114
@ CXER 50
B H
mm - inch o inch [T T T =
CXER 50150 | 50 | 20 | 50 | 2 | 23238 | 1922 | 26951 | 2389 R

125

12x8

/1 JUERS0 (2/2051-PG / 212056-HDG)

50
—
s

g

JUER 50
N ko [ o |

BN ke | e | RE | € '
JUER 50X50 | 50 | 2 | 2051 | 289 | 21086 | 400
/ 4/100B1 (214356 - PG / 216826 - HDG) 126 .9
IERIREE
0=

18x7.5 || ()

125

75
120

4




BASORTRAY

W
JUERP 50

JUERP 50

SE_Dbasor

BELECTARIC

2/8825 | W | 2/882%6 | m

L

} 2/100 x B1 (2/4356 PG /I 2/6826 HDG)

125 0,8

12x8

TFERE 50

TFERE 50X50

B B
mm inch mm inch REF. €lu
| 50 | 2 | 50 | 2 |onveer| 1,72 | 217268 | 258

ol
=

A 27100 B1 (214356 - GS // /6826 - 6C)

18x7,5
* (@] lk D ‘

25

B1

pap
W o | w | o

| 6 | 21356 | 2300 | 26826 | 32,11

D14 ‘ 14

£ | g

BASORTRAY (LJ) SCM



BASORTRAY

Ll—lj.an -=SE. Dasor

BELECTARIC

BASORTRAY (LJ) SCM

CERTIFIED

) ) NIV
150°C 120°C Q:D
s0°C L25°C L

UNE-EN 61537 UNE-EN 61537

- UNE-EN 61537
UNE-EN 50085 UNEENGOOS5  UNEENGISY  UNEEN 50085 UNEENGISS7  JNEEN 50085 [EC 50102
CPERC TCPERC CXERC TCXERC
TERC TTERC CRERC TCRERC AS TAS
SUcpP PS PBCH-1 JUER JUER-A JUER-B
JUER-U PTERE REER
N /
s N
B H60 (2 1/3")
mm inch cm? in?
100 & 59 91
150 6" 89 137
200 8' 119 184

300 12" 178 275
400 16" 238 36,8
500 20" 298 46,1
600 24" 358 55,4

10 | ez2



BASORTRAY
U

ER2E
ER2E Hé0
| g N Po
mm inch mm inch m
‘ ER2E 100X60 GS 100 | 4' | 60 |21/3" |2/10233| 11,89
| .- ER2E 150X60 GS 150 | 6' | 60 |21/3" |2/10234| 13,67
ER2E 200X60 GS 200 | 8 | 60 |21/3"|2/10235| 17,22
ER2E 300X60 GS 300 | 12" | 60 | 21/3" |2/10236| 24,78
ER2E 400X60 GS 400 | 16" | 60 | 21/3" |2/10237| 33,44
@ ER2E 500X60 GS 500 | 20" | 60 | 21/3" 2/10238| 39,78
L=3m(10f) ER2E 600X60 GS 600 | 24" | 60 | 21/3" |2/10239] 45,78
i
TERE
| Pe | Hpe  [NEE
: mm inch mm REF. €/m
\ TERE 100 100 | 4" | 211312 | 6,00 | 2/1321 | 10,67 | 2/4560 | 28,56
TERE 150 150 | 6" | 2/1313 | 822 | 2/1322 | 14,67 | 2/5123 | 37,89
TERE 200 200 | 8" | 211314 | 1056 | 2/1323 | 1844 | 2/45%61 | 46,44
-~ TERE 300 300 | 12" | 2/1316 | 1622 | 2/1325 | 28,67 | 2/4716 | 64,00
TERE 400 400 | 16" | 2/1317 | 2433 | 2/1326 | 37,67 | 2/A931 | 92,44
B TERE 500 500 | 20" | 2/1318 | 3333 | 2/1327 | 50,22 | 2/4562 | 111,78
L=3m(10f) TERE 600 600 | 24" | 2/1319 | 3956 | 2/1328 | 59,67 | 2/5357 | 131,56
(400/500/600 - L=2m (6,56 1! X
PTERE i304
H i304
mm inch  REF. €/u
PTERE 35 i304 35 |13/8"| 2/7059 | 6,11
PTERE 60 i304 60 |21/3"| 2/7060 | 444
PTERE 80 i304 80 |31/7"| 2/7061 | 456
PTERE 100 i304 100 | 4" | 2/7062 | 467

wel ) & £

. Dasor

BELECTRIC

RS R

20x7,5

BASORTRAY (LJ) SCM

120

H-3
H+4

25

30




C

BASORTRAY (LJ) SCM

BASORTRAY
ERE

e Dbasor

BELECTARIC

—L >0 m QX‘&O

UNE-EN 61537 UNE-EN 61537

150°C
-50°C

I

UNE-EN 50085 ] . . UNE-EN 61537 e
uvﬁ%‘ E’g 357020785 UNE-EN61537  UNE-EN 50085 UNE—37 UNE EN 5005 \EC 60500 [EC 50100
CPERC TCPERC CCERC TCCERC CXERC TCXERC
TERC TTERC CRERC TCRERC
PBCH-1 JUER JUER-A JUER-B
JUER-U PTERE REER
N /)
— ™
B H35 (1 3/8") H60 (2 1/3") H80 (3 1/7") H100 (4")
mm inch cm? in? cm? in? cm? in? cm? in?
100 4 34 5,2 59 91 78 12,0 98 15,1
150 6" 51 79 89 13,7 118 18,2 148 229
200 8" 69 10,6 119 184 158 24.4 198 30,6
300 12 103 159 178 275 238 36,8 298 461
400 16" 238 36,8 317 491 397 615
500 20" 298 46,1 397 61,5 497 77,0
600 24" 358 554 477 739 597 92,5
N J
12 | 38




U BASORTRAY
ERE -SE. Dbasor

BELECTARIC

B N  P6 | HDG |
mm inch mm inch mm i 5
ERE 100X35 100 | 4" | 35 |13/8" | 2/1192| 844 |2/1222| 14,44 | 3
ERE 150X35 150 | 6" | 35 |13/8" | 2/1193 | 10,56 | 2/1223 | 1822 | 0 i 0
ERE 200X35 200| 8 | 35 |13/8" |2/1194 | 1267 |2/1224| 22,00 | 4 i
ERE 300X35 300 | 12| 35 | 13/8" | 211195 | 1833 | 21205 | 3267 |© ng was 8
B }4 4/100 x B1 - (2/4356-ZINC / 2/6826-HDG / 2/4925-304) DE:D
T

,,
Ll
w
3
=
o
= o

= D

0

- ERE-C H35

B B PG | HDG |
mm inch mm inch mm 10x7,5

i i
ERE-C 100X35 100 | 4" | 35 [13/8" | 2/1252 | 844 |2/1282| W 3
ERE-C 150X35 150 | 6" | 35 [13/8" | 2/1253 | 10,56 |2/1283 | @ | 0 -
ERE-C 20035 200| & | 35 | 13" [21254| 1267 | 201084 | G | 4 .
ERE-C 300X35 300| 12| 35 | 13/8" | 2/1255| 1833 | 2/1285 | ‘G (S =
B ) 47100 x B1 - (2/4356-ZINC / 2/6826-HDG / 2/4925-1304) 1

L=3m(10f)

o RO

B B PG | HDG [T
mm inch mm inch mm €/m REF. €/m

ERE 100X60 100 | 4" | 60 [21/3"|2/1197 | 10,56 | 2/1227 | 18,22 | 2/4795 | 47,22
ERE 150X60 150 | 6" | 60 [21/3" | 2/1198 | 12,56 | 2/1228 | 21,89 | 2/4319 | 56,89
ERE 200X60 200 | 8" | 60 |21/3"|2/1199 | 16,22 | 2/1229 | 28,67 | 2/4688 | 67,78
ERE 300X60 300 | 12" | 60 |21/3" | 2/1201 | 23,78 | 2/1231 | 37,11 | 2/4317 | 90,33
ERE 400X60 400 | 16" | 60 |21/3" [ 2/1202 | 33,00 | 2/1232 | 49,89 | 2/4933 | 122,11
ERE 500X60 500 | 20" | 60 |2 1/3" | 2/1203 | 40,00 |2/1233 | 60,00 | 2/5030 | ‘@

ERE 600X60 600 | 24" | 60 | 21/3"|2/1204 | 46,00 | 2/1234 | 69,33 | 2/4373 | 165,67

) 4/100 x B1 - (2/4356-ZINC / 2/6826-HDG /2/4925-1304)
L=3m(10f)

Q@ = |

I

S0 i
=——————= —
o =

U ere-c Heo

B B PG | HDG [T E
mm inch mm inch mm REF. €/m B
ERE-C 100X60 100 | 4" | 60 |21/3"|2/1257 | 10,56 | 2/1287 | 18,22 | 2/4907 | 47,22 o {10X7,5 ;

ERE-C 150X60 150 | 6" | 60 |21/3" | 2/1258 | 12,56 | 2/1288 | 21,89 | 2/5028 | 56,56
ERE-C 200X60 200 | 8" | 60 |21/3"|2/1259 | 16,22 | 2/1289 | 28,67 |2/5029 | 67,78
ERE-C 300X60 300 | 12" | 60 | 21/3" | 2/1261 | 23,78 | 2/1291 | 37,11 | 2/4306 | 90,33
ERE-C 400X60 400 | 16" | 60 | 21/3" | 2/1262 | 33,00 | 2/1292 | 49,89 | 2/5196 | 122,11

ERE-C 500X60 500 | 20" | 60 | 21/3" | 2/1263 | 40,00 | 2/1293 | 60,00 - = il
ERE-C 600X60 600 | 24" | 60 | 21/3" | 2/1264 | 46,00 | 2/1294 | 69,33 | 2/5197 | 165,67 Ml &

L=3m(10ft)

D=P0L

f 4/100 x B1 - (2/4356-ZINC / 2/6826-HDG /2/4925-1304)

Q = = :

BASORTRAY (LJ) SCM



BASORTRAY (LJ) SCM

BASORTRAY
& ERE

L=3m(10ft)

Q

ERE-C H80

=

L=3m(10f)

Q

L=3m(101)

Q

ERE 100X80
ERE 150X80
ERE 200X80
ERE 300X80
ERE 400X80
ERE 500X80
ERE 600X80

mm
100
150
200
300
400
500
600

inch

12
16"
20
24"

mm
80
80
80
80
80
80
80

H

317
37
37
37
37
37
37

| PG | HDG |
(N ReE | em | REF | €m

2/1205
2/1206
2/1207
2/1209
2/1210
2/1211

21212

12,44
14,33
17,78
26,22
35,00
4422
51,11

2/1235
211236
2/1237
2/1239
2/1240
2/1241
201242

23,44
27,44
31,67
44,33
53,11
65,11
75,11

®» s~ow-—

. Dasor

BELECTARIC

iR

) 4/100 x B1 - (2/4356-ZINC / 2/6826-HDG [ 2/4925-1304)

[
BIeaL) 17
0,07

|l |20x7,5
0

307500

0

i

B

i

|

P

|

o oo o db
o040

S 5 |

[

20x7,5

0

s H-10x7,5 [T

N PG | HDG |
mm inch mm inch mm
ERE-C 100X80 100 | 4" | 80 |31/7"| 21265 | 12,78 | 2/1295 | 23,44
ERE-C 150X80 150 | 6" | 80 |31/7"| 21266 | 1433 | 21296 | 2744 | |
ERE-C 200X80 200 | 8 | 80 |31/7"| 21267 | 17,78 | 2/1297 | 31,67 g
ERE-C 300X80 300 | 12" | 80 |31/7"| 211269 | 2622 | 2/1299 | 4433 | 4
ERE-C 400X80 400 | 16" | 80 |31/7"| 2/1270 | 3500 | 2/1300 | 53,11
ERE-C 500X80 500 | 20" | 80 |317"| 21271 | 4422 | 21301 | 6511 |©
ERE-C 600X80 600 | 24" | 80 |31/7"| 21272 | 51,11 | 211302 | 75,11
}‘ 4/100 x B1 - (2/4356-ZINC / 2/6826-HDG / 2/4925-304)
B  Pc | HDG
mm inch mm inch mm
ERE 100X100 100 | 4" | 100 | 4" | 2/1213 | 14,44 | 2/1243 | 27,22
ERE 150X100 150 | 6 |100| 4" |21214 | 1633 | 21244 | 31,11 | |
ERE 200X100 200 | 8 | 100 | 4" | 21215 | 19,78 | 2/1245 | 3522 g
ERE 300X100 300 | 12" | 100 | 4" | 21217 | 2789 | 2/1247 | 4744 | 4
ERE 400X100 400 | 16" | 100 | 4" | 2/1218 | 3844 | 2/1248 | 57,89
ERE 500X100 500 | 20 | 100 | 4" | 21219 | 4667 | 21249 | 6878 |©
ERE 600X100 600 | 24" | 100 | 4" | 2/1220 | 52,44 | 2/1250 | 77,67

’ 4/100 x B - (2/4356-ZINC / 2/6826-HDG /2/4925-1304)

=R a=

QDUKD @

0 (=T 0

0
20x7,5

T T S
Ty e
DUGUGUUUUUUU
0 |0 UDUD off of o o
“ll T 3 2l Tl ir20x7,5
DDGDGDGDUDUDD .

0 off o




U BASORTRAY
ERE -SE. Dbasor

BELECTARIC

- ERE-C H100

B N PG | HDG |

mm inch mm inch mm ;[
ERE-C 100X100 100 | 47 | 100 | 4" | 2/1273 | 1444 | 2/1303 | 27,22 B
ERE-C 150X100 150 | 6" | 100 | 4" | 2/1274 | 16,33 | 2/1304 | 31,11 i e 75 [
ERE-C 200X100 200 | 8" | 100 | 4" | 2/1275 | 19,78 | 2/1305 | 35,22 g
ERE-C 300X100 300 | 12" | 100 | 4" | 21277 | 27,89 | 2/1307 | 4744 | 4 g
ERE-C 400X100 400 | 16" | 100 | 4" | 2/1278 | 3844 | 2/1308 | 57,89 o
B ERE-C 500X100 500 | 20" | 100 | 4" | 2/1279 | 46,67 | 2/1309 | 68,78 S
L=3m(10f) ERE-C 600X100 600 | 24" | 100 | 4" | 2/1280 | 52,44 | 2/1310 | 77,67 ' :;:f::::
(g
@I }4 4/100 x B1 - (2/4356-ZINC / 2/6826-HDG / 2/4925-i304)
&= :

TERE
| B o | oo [T : ,

UM R | €m | REF | em [EETIANEEIY | B+2 ‘
TERE 100 100 | 4" |2/1312| 6,00 |2/1321| 10,67 | 2/4560 | 28,56
TERE 150 150 | 6" |2/1313| 822 |2/1322| 14,67 |2/5123 | 37,89 J:f:::;::f:L
TERE 200 200 | 8 |2/1314 | 1056 | 2/1323 | 18,44 | 2/4561 | 46,44 g
B - TERE 300 300 | 127 | 21316 | 16,22 | 2/1325 | 2867 | 2/4716 | 64,00
TERE 400 400 | 16" | 211317 | 24,33 | 2/1326 | 37,67 | 2/4931 | 92,44
L=3m(10f) TERE 500 500 | 20" | 2/1318 | 33,33 | 2/1327 | 50,22 | 2/4562 | 111,78
VOURODED = 2m (6261 TR 600 600 | 24" |2/1319 | 3956 | 2/1328 | 59,67 | 215357 | 131,56
X
@ PTERE i304
H 1304
mm inch REF. €lu
PTERE 35 i304 35 138" | 27059 | 6,11
PTERE 60 i304 B0 213" | 27060 | 444 E@) 'y
PTERE 80 i304 80 |31/7"| 27061 | 456 =
PTERE 100 i304 100 | 4 | 277062 | 467
_

[xol ) & £ B

BASORTRAY (LJ) SCM



BASORTRAY
MRE -=E. Dasor

BELECTARIC

BASORTRAY (LJ) SCM

AN
T
N
N
%
N
w
=
o

ol
o
qq

. , \
:|__ L2100 m* QM&‘O mmo C ﬂuo C Q) I
-s0°C -25°C ﬁ - - | I 20J —/ \— /

UNE-EN 61537 UNE-EN 61537

UNE-EN 50085 i ! ! UNE-EN 61537 =
UNEENSODR5  UNEENGIES7  UNEENSI0BS UNE? Lo UNEENSORS FC 60520 G 50102

CPERC TCPERC CXERC TCXERC

TERC CRERC TCRERC

sucp PBCH-1 JUER JUER-A JUER-B

JUER-U PTERE REER

- /
B HB0 (2 1/3") H60 (3 1/7") H100 (4”)

mm inch cm? in? cm? in? cm? in?
100 4 59 91 8 12,0 98 151
150 6" 89 137 118 182 148 229
200 8 119 184 158 24,4 198 30,6

300 12' 178 27,5 238 368 298 46,1
400 16" 238 36,8 317 491 397 615
500 20" 298 46,1 397 615 497 770
600 24" 358 55,4 471 739 597 92,5

16 | e22



@ BASORTRAY
MRE

NN P | HDG

mm inch mm inch mm mm

MRE-100X60 100 | 4" | 60 |21/3"| 1 |2/7273 | 17,56 | 2/7517 | 26,44
MRE-150X60 150 | 6" | 60 | 213" | 1 |2/7274|21,22 | 2/7518 | 32,11 | !
MRE-200X60 200| 8" | B0 |21/3"| 1 |2/7275 | 25,11 | 2/7519 | 37,89 g
MRE-300X60 300 | 12" | 60 |21/3"| 1 |2/7276 | 32,89 | 2/7520 | 49,56 | 4

MRE-400X60 400 | 16" | 60 |21/3"| 1 |2/7277 | 40,56 | 2/7521 | 61,11
MRE-500X60 500 | 20" | 60 213" | 1 | 27278 | 49,22 | 217522 | 7367 | ©

MRE-600X60 600 | 24" | 60 |21/3"| 1 |2/7279 | 56,44 | 2/7523 | 84,89

L=3m(10f) 4/100x Bl I mn

’ (214356 - PG / 2/6826 - HDG / 2/4925-1304). = @l

X 0=

. Dasor

BELECTARIC

N P | HDG |

mm inch mm inch mm mm

MRE-150X100 100 | 4" [100 | 4" | 1 |2/7409 | 27,11 | 2/7524 | 41,00 | ;

MRE-200X100 150 | 6" | 100 4" | 1 |2/7410| 30,89 |2/7525 | 46,78 | 3

MRE-300X100 200| 8 | 100 4" | 1 |2/7411| 3867 |2/7526 | 58,56 | O

MRE-400X100 300 | 12" | 100 | 4" | 1 |2/7412 | 45,33 | 2/7527 | 70,11 ')
MRE-500X100 500 | 20" | 100 | 4" | 1 |2/7413| 85,00 | 2/7528 | 8267 | g

MRE-600X100 600 | 24" 100 | 4" | 1 |2/7414 | 62,33 | 2/7529 | 93,89

)g 4/100x B I mm
L=3m(10f) 2/4356 PG / 2/6826 - HDG / 2/4925-1304). g~ @.
@TERE
| Ppc | Hoc  [NEEV

. inch TN T M €im

TERE 100 100 | 4" | 21312 | 600 | 21321 | 1067 | 2/4560 | 2856

TERE 150 150 | 6" | 21313 | 822 | 2/1322 | 14,67 | 2/5123 | 37,89

TERE 200 200 | 8" | 2/1314 | 1056 | 2/1323 | 1844 | 2/4%61 | 46,44

y TERE 300 300 | 12" | 21316 | 16,22 | 2/1325 | 28,67 | 2/4716 | 64,00

TERE 400 400 | 16" | 2/1317 | 2433 | 2/1326 | 37,67 | 2/4931 | 92,44

B TERE 500 500 | 20" | 21318 | 3333 | 2/1327 | 50,22 | 2/4562 | 111,78
L=3m(10f) TERE 600 600 | 24" | 2/1319 | 3956 | 2/1328 | 59,67 | 2/5357 | 131,56

(400/500/600 - L=2m (6,56 ft) X . . m_|

El
B
o [ H10x7,5
°
0 %0 %o 0 %o o o ¢
o R A
LU LY
g [
N AR I | O
o0 = o=l | 20x7,
0 %0 %o %00 o %o ¢
AR TR R
LU LY
o]0 o ol oo
ol o 207 o ol 2l @ 20x7,5
of= o =[]
o [lo o 9| o oo
B+2 B

BASORTRAY (LJ) SCM



BASORTRAY (LJ) SCM

BASORTRAY
FRE -SE.Dbasor

BELECTARIC

L soom Q)K(%O 150°C 120°c ’ VIS fpas? fip23] fikio]  ikor
-50°C L_,]ZUJ :g_?:

UNE-EN 61537 UNE-EN 61537 3 -

UNE-EN 50085 g : UNE-EN 61537
UB%EE;O%% UNE-EN 61537 UNE-EN 50085 UNEEN 61537 ONE-EN 50085

TCPERC

ot P

TTERC CRERC TCRERC AS TAS

-

TCCERC

PBCH-1 JUER JUER-A JUER-B
JUER-U PTERE REER
B H35 (1 3/8") H60 (2 1/3") H80 (3 1/7") H100 (4")

mm inch cm? in? cm? in? cm? in? cm? in?

100 4 34 52 59 91 78 12,0 98 15,1
150 6" 51 79 89 13,7 118 18,2 148 229
200 8" 69 10,6 119 184 158 244 198 30,6
300 12 103 159 178 275 238 36,8 298 46,1
400 16" - - 238 36,8 317 491 397 61,5
500 20" - - 298 46,1 397 61,5 497 77,0
600 24" - - 358 55,4 477 739 597 92,5




BASORTRAY

FRE == Dasor
BELECTARIC
>3
(8]
(7))
C v T .
mm inch mm inch mm mm L ﬁ =
s ]
FRE 100X35 100 | 4" | 35 [13,8"| 1,5 | 200001 | 26,11 |2/20051| 34,67 : —_— §
FRE 15035 150 | 6" | 35 |13/8" | 1,5 | 2/0002 | 31,56 |2/20052| 42,44 . . - =
FRE 200X35 200 | 8" | 35 |13/8"| 1,5 | 200003 | 37,00 |2/20053| 50,33 L L L L pe0as
FRE 300X35 300 | 12" | 35 | 13/8"| 1,5 | 2/0004 | 48,00 |2/20054| 65,89 J)geeagin
0 0 0 0 0 0 0 0 0 0
4/100x B @. “|Eozaa|0
(6/100xB1 —300x35) (214356 - PG / 2/6826 - HDG / 2/4925-304). ols e"2lle
L=3m(10ft) :'FQ #ﬁzg Gtﬂ L]
1,5 mm olle o oo
5—1“1 ’ 0 0
= e (e
FRE Hé0
B i e IEENNTN N
mm inch mm inch  mm [T NCEN IEES TN E
FRE 100X60 100| 4" | 60 |21/3" | 1,5 | 2/0006 | 26,89 | 2/0056 | 38,22 B s
FRE 150X60 150 | 6" | 60 |21/3" | 1,5 | 200007 | 32,22 | 210057 | 45,89 e L
FRE 200X60 200 | 8’ | 60 |21/3"| 1,5 | 200008 | 37,56 | 2/0058 | 5356 - - 1875
FRE 300X60 300 | 12 | 60 |21/3" | 1,5 | 200009 | 48,22 | 2/0059 | 68,89 o o o)
FRE 400X60 400 | 16" | 60 |21/3"| 1,5 | 2/0010 | 65,00 | 2/0060 | 90,00 = =l 1,
FRE 500X60 500 | 20" | 60 |21/3"| 1,5 |2/0011 | 76,22 | 200061 [10578 ||| 5= = Sl
o0 o U
FRE 600X60 600 | 24" | 60 |21/3" | 1,5 | 2/0012 | 87,67 | 200062 |122,00 - =il 1,
L=3m(10ft) 0 0 0 g
" f‘ 4/100 x B1 (2/4356 - PG / 2/6826 - HDG / 2/4925-304). @_]l ] . .
20x7.5 o
ﬁl ],5 mm
=R o=
B N PG | HDG |
mm nch mm inch  mm [EEHN G EEN #
FRE 100X80 100| 4" | 80 [31/7"| 1,5 | 200013 | 31,22 | 210063 | 44,33 E
FRE 150X80 150 | 6" | 80 [31/7"| 1,5 | 200014 | 36,56 | 2/0064 | 52,00 s s
FRE 200X80 200 | 8" | 80 |31/7"| 1,5 | 200015 | 41,89 | 2/0065 | 59,67 : ;\E
FRE 30080 300 | 12" | 80 |31/7"| 1,5 | 200016 | 52,56 | 200066 | 75,00 (o 3 i e T
FRE 400X80 400 | 16 | 80 |31/7" | 1,5 | 2/0017 | 69,33 | 2/0067 | 96,11 {00 000
FRE 500X80 500 | 20" | 80 |31/7"| 1,5 | 20018 | 80,56 | 2/0068 |112,00 | 7| Eeemg|r | 0
B FRE 600X80 600 | 24" | 80 [31/7"| 1,5 | 2/0019 | 92,00 | 2/0069 [128,11 e et e,
0| 0|(2c2a8](p |0
L=3m(10ft) S|l =1
! A 4100 B1 (2/4356 - PG / 2/6826 - HDG / 2/4925-304). @. n T A0
20x7.5 18x7.57Z7
ol 1,5 mm
X ey




BASORTRAY
FRE -SE. Dbasor

BELECTARIC

BASORTRAY (LJ) SCM

2 FRE H100
NN P | HDG
mm inch mm inch mm mm 1+

FRE 100X100 100| 4" |100| 4" [15| - - | 24556 | 50,44 E
FRE 150X100 150| 6" |100| 4" | 1,5 | 2/0020 | 40,78 | 2/0070 | 58,11 ° 1005
FRE 200X100 200| 8 100 4" | 1,5 | 2/0021 | 46,11 | 2/0071 | 65,78 : :\E
FRE 300X100 300| 12" |100| 4" | 1,5 | 20022 56,78 | 2/0072 | 81,11 (0 A 8 .
FRE 400X100 400 16" |100| 4" | 1,5 | 2/0023 | 73,56 | 2/0073 |102,22 {0,000
FRE 500X100 500 20" [100| 4" | 1,5 | 2/0024 | 84,78 | 2/0074 118,11 )| 3| EE2Es)|p_ |0 0
FRE 600X100 600| 24" |100| 4" | 1,5 | 2/0025| 96,22 | 2/0075 | 134,22 A Al

L=3m(10ft) 0l o|Eo2a8)|p |0
A 4/100xB1 (2/4356 - PG / 2/6826 - HDG / 2/4925-304). @I T -
< 1,5 mm 20x7.5  18x7.5
1)

TERE
N o | oo

mm inch mm REF. €/m B+2
TERE 100 100 | 4" | 2/1312 | 6,00 | 2/1321 | 10,67 | 2/4560 | 28,56
TERE 150 150 | 6" | 2/1313 | 822 | 2/1322 | 1467 | 2/5123 | 37,89 ﬂLF;E:::f:m -

TERE 200 200 | 8" | 2/1314 | 1056 | 2/1323 | 1844 | 2/4561 | 46,44 %

d TERE 300 300 | 12" | 2/1316 | 16,22 | 2/1325 | 28,67 | 2/4716 | 64,00
TERE 400 400 | 16" | 2/1317 | 2433 | 2/1326 | 37,67 | 2/4931 | 9244
@ TERE 500 500 | 20" | 2/1318 | 33733 | 2/1327 | 50,22 | 2/4562 | 111,78
L=3m(10f) TERE 600 0 | 24" | 2/1319 | 39,56 | 2/1328 | 59,67 | 2/5357 | 131,56

60
(400/500/600 - L=2m (6,56 ft) x

TFRE

B e

G -
mm inch  mm [EINIEEE é = B
g TFRE 100 100 | 4" | 15| 2/6008 | 1589 [ [ Tl
TFRE 150 150 | 6 | 152010031 | 2122 [ T @m
TFRE 200 200 | 8 | 15| 26009 | 2656 M 3
TFRE 300 300 | 12 | 15| 26010 | 37,22 =
TFRE 400 400 | 16" | 1,5 | 26199 | 4856 WV
TFRE 500 500 | 20" | 15 | 2110032 | 5922 K4
TFRE 600 600 | 24" | 1,5 | 206012 | 69,89 [
L=3m(10ft)
(400600 - L =2 m (6,56 f) X 1’5:""":
PTERE i304
H i304
mm  inch REF. €/u
PTERE 35 {304 35 |138"| 270% | 611
PTERE 60 {304 60 |21/3"| 27060 | 444 E@ ol 3
PTERE 80 {304 80 [31/7"| 277061 | 456 =
PTERE 100 i304 100 | 4" | 277062 | 467
W) ) & & =

20



L BASORTRAY
A ERE-MRE-FRE -=E. basor

BELECTRIC
@CPERC

B N o | HDG D
mm inch mm inch mm REF.  €u

CPERC 100x35 100 | 4" | 35 | 13/8" | 2/1337 | 24,00 |2/1368 | 3322 | - - = ﬂ I“
ﬁ CPERC 15035 150 | 6" | 35 | 13/8" | 2/1338 | 24,78 | 2/1369 | 37,11 | - - AN

CPERC 200x35 200 | 8 | 35 | 13/8"|2/1339| 2867 | 2/1370| 4533 | - - .

CPERC 300x35 300 | 127 | 35 | 13/8” | 2/1340| 38,56 | 2/1371| 6578 | - -

CPERC 100x60 100 | 4" | 60 | 21/3" | 2/1344 | 22,00 | 2/1375 | 34,11 | 2/4777 | 45,33 o

CPERC 150x60 150 | 6" | 60 | 21/3" | 2/1345 | 24,78 | 2/1376 | 40,00 | 2/5317 | 54,00 N ::;

CPERC 200x60 200 | 8" | 60 |21/3" | 2/1346 | 28,67 | 2/1377 | 48,44 | 2/4778 | 62,89 To]

CPERC 300x60 300 | 127 | 60 |21/3” | 2/1348 | 40,22 | 2/1379 | 70,78 | 2/6180 | 8556 /ms T@ -

CPERC 400x60 400 | 16" | 60 | 21/3" | 2/1349 | 5367 |2/1380 | 97,44 |2/7390 | 12344 | & S 2

CPERC 500x60 500 | 20" | 60 | 21/3" | 2/1350 | 69,89 | 2/1381 | 12889 | - : 37,5

CPERC 600x60 600 | 24" | 60 |21/3" | 2/1351 | 84,67 | 2/1382 | 161,33 | 2/7391 | 19856

CPERC 100x80 100 | 47 | 80 |31/7" | 211352 | 2589 | 2/1383 | 42,44

CPERC 150x80 150 | 6” | 80 |31/7"|2/1353 | 29,56 |2/1384 | 50,78

CPERC 200x80 200 | 8 | 80 |31/7"|2/1354 | 34,11 | 2/1385 | 60,67

CPERC 300x80 300 | 12" | 80 |31/7"|2/1356 | 46,78 | 2/1387 | 86,33

CPERC 400x80 400 | 16" | 80 |31/7" | 2/1357 | 61,33 | 2/1388 | 116,22

CPERC 500x80 500 | 20" | 80 |31/7" | 2/1358 | 79,00 | 2/1389 | 152,22

CPERC 600x80 600 | 24" | 80 |31/7"|2/1359 | 95,78 | 2/1390 | 189,89

CPERC 100x100 100 | 4" [100| 4" |2/1360 | 28,56 |2/1391 | 46,67

CPERC 150x100 150 | 6" |100| 4" |2/1361| 32,00 |2/1392 | 55,00

CPERC 200x100 200 | 8 100 4" |2/1362| 37,67 |2/1393 | 66,22

CPERC 300x100 300 | 12" [100 | 4" |2/1364 | 50,78 | 2/1395 | 92,56

CPERC 400x100 400 | 16" |100| 4" |2/1365 | 65,56 |2/1396 | 123,33

CPERC 500x100 500 | 20" | 100 | 4" |2/1366 | 82,78 | 2/1397 | 159,00

CPERC 600x100 600 | 247 | 100 | 4" |2/1367 | 100,44 | 2/1398 | 197,89

) 2 JUER

B -~ - R

@ TCPERC

N PG | HDG [T -
mm  inch mm €lu REF. €lu

15

TCPERC 100 100 | 4" |2/1430| 10,44 | 2/1437 | 15,11 | 2/3560 | 30,33

TCPERC 150 150 | 6" |[2/1431| 13,00 | 2/1438 | 20,44 | 2/3561 | 36,89

TCPERC 200 200 | 8" |2/1432| 1578 | 2/1439| 26,22 | 2/3562 | 44,00

TCPERC 300 300 | 12" | 2/1433| 2167 |2/1440| 39,11 | 2/3563 | 61,33

TCPERC 400 400 | 16" | 2/1434 | 28,67 | 2/1441 | 55,00 | 2/4752 | 82,44 o

TCPERC 500 500 | 20" |2/1435| 41,89 | 2/1442 | 78,78 - - &

TCPERC 600 600 | 24" |2/1436 | 5589 | 2/1443 | 104,67 | 2/4753 | 135,89

>3 o
B+161

21

BASORTRAY (LJ) SCM



BASORTRAY (LJ) SCM

BASORTRAY
L A ERE-MRE-FRE

9 CCERC

@ TCCERC

22

. Dasor

BELECTARIC

/9137

H+161

|.n

~

mi,%
18x7.5

o 00

—

d BN Pc | HDG IV
mm inch mm inch mm REF.  €/u
CCERC 100x35 100 | 4" | 35 |13/8"|2/1451 | 1578 | 2/1482 | 21,44
CCERC 150x35 150 | 6" | 35 |13/8"|2/1452 | 18,67 |2/1483 | 26,00
CCERC 200x35 200| 8" | 35 |13/8"|2/1453 | 20,89 | 2/1484 | 29,89
CCERC 300x35 300 | 12" | 35 | 13/8" | 2/1454 | 25,00 | 2/1485 | 37,67
CCERC 100x60 100 | 4" | 60 |21/3"|2/1458 | 17,00 | 2/1489 | 25,78 | 2/4908 | 52,56
CCERC 150x60 150 | 6" | 60 |21/3"|2/1459 | 19,44 | 2/1490 | 30,22 | 2/5157 | 59,00
CCERC 200x60 200 | 8" | 60 |21/3"|2/1460 | 21,56 | 2/1491 | 34,56 | 2/5024 | 72,33
CCERC 300x60 300 | 12" | 60 |21/3"|2/1462 | 27,00 | 2/1493 | 44,11 | 2/6503 | 83,89
CCERC 400x60 400 | 16" | 60 |21/3"|2/1463 | 31,78 | 2/1494 | 53,11 | 2/7392 | 97,22
CCERC 500x60 500 | 20" | 60 |21/3"|2/1464 | 36,00 | 2/1495 | 61,56 | - -
CCERC 600x60 600 | 24" | 60 |21/3"|2/1465 | 40,33 | 2/14% | 70,22 | 2/7393 | 121,00
CCERC 100x80 100 | 4" | 80 |31/7" | 2/1466 | 19,56 | 2/1497 | 31,11 =
CCERC 150x80 150 | 6" | 80 |31/7" | 2/1467 | 22,00 | 2/1498 | 35,89
CCERC 200x80 200 | 8" | 80 |31/7"|2/1468 | 24,33 | 2/1499 | 40,44
CCERC 300x80 300 | 12" | 80 |31/7"|2/1470 | 31,5 |2/1501 | 54,67
CCERC 400x80 400 | 16" | 80 |31/7" | 2/1471 | 35,11 | 2/1502 | 60,67
CCERC 500x80 500 | 20" | 80 |31/7" |2/1472 | 39,56 | 2/1503 | 69,78
CCERC 600x80 600 | 24" | 80 |31/7"|2/1473 | 44,11 | 2/1504 | 79,00
CCERC 100x100 100 | 4" |100 | 4" |2/1474 | 2156 | 2/1505 | 35,22
CCERC 150x100 150 | 6" |100 | 4" |2/1475 | 24,22 | 2/1506 | 40,56
CCERC 200x100 200 | 8" |100 | 4" |2/1476 | 26,67 |2/1507 | 4544
CCERC 300x100 300 | 127|100 | 4" |2/1478 | 32,67 |2/1509 | 56,44
CCERC 400x100 400 | 16" | 100 | 4" |2/1479 | 38,00 | 2/1510 | 66,89
CCERC 500x100 500 | 20" | 100 | 4" |2/1480 | 42,89 |2/1511| 77,00
CCERC 600x100 600 | 24" | 100 | 4" |2/1481 | 47,67 | 2/1512 | 86,89
A 2R
"
o EEENETE
mm inch mm REF.  €/u
TCCERC 100 100 | 4" | 2/1544 | 12,67 | 2/1551 | 16,78 | 2/3263 | 35,56
TCCERC 150 150 | 6" | 2/1545| 13,67 |2/1552 | 19,33 | 2/3264 | 44,22
TCCERC 200 200 | 8" |2/1546| 15,33 | 2/1553 | 22,44 | 2/3265 | 49,56
TCCERC 300 300 | 12" | 2/1547 | 17,89 | 2/1554 | 28,22 | 2/3266 | 60,11
TCCERC 400 400 | 16" | 2/1548 | 21,56 | 2/1555| 3511 | 2/3271 | 70,44
TCCERC 500 500 | 20" | 2/1549 | 24,89 | 2/1556 | 41,44 | - =
TCCERC 600 600 | 24" | 2/1550 | 27,89 | 2/1557 | 4756 | 2/4724 | 89,56

£
%

12x8

* @

B+2




L) BASORTRAY
A ERE-MRE-FRE -=SE. basor

BLECTARIC
@CXERC

B B PG | HDG [
mm inch mm inch mm €lu REF. €lu o

CXERC 100x35 100 | 4" | 35 [13/8" | 2/1565 | 16,11 | 2/1596 | 21,22 =
CXERC 150x35 150 | 6" | 35 [13/8" | 2/1566 | 17,67 | 2/1597 | 24,44 - - ]
CXERC 200x35 200 | 8" | 35 | 13/8"|2/1567 | 19,67 |2/1598 | 27,89 = - 4’«}7 -
CXERC 300x35 300 | 12" | 35 | 13/8"|2/1568 | 23,00 | 2/1599 | 34,56 - - =
CXERC 100x60 100 | 4" | 60 [21/3"|2/1572 | 1644 | 2/1603 | 24,33 | 2/4909 | 50,22 1238

CXERC 150x60 150 | 6" | 60 [21/3"|2/1573 | 18,00 | 2/1604 | 27,44 | 2/5158 | 55,89

CXERC 200x60 200 | 8" | 60 |21/3"|2/1574 | 19,78 | 2/1605| 31,00 | 2/5025 | 68,22 B
CXERC 300x60 300 | 12" | 60 |21/3" | 2/1576 | 22,67 | 2/1607 | 37,00 | 2/6817 | 77,11 s |
CXERC 400x60 400 | 16" | 60 |21/3" | 2/1577 | 27,00 | 2/1608 | 44,67 | 2/7514 | 88,22 00 =
CXERC 500x60 500 | 20" | 60 |21/3" | 2/1578 | 31,00 | 2/1609 | 52,00 - -

CXERC 600x60 600 | 24" | 60 | 21/3" | 2/1579 | 34,33 | 2/1610 | 58,67 | 2/7515 | 106,56 -

CXERC 100x80 100 | 4" | 80 [31/7"|2/1580 | 18,56 |2/1611 | 28,78

CXERC 150x80 150 | 6" | 80 [31/7"|2/1581 | 20,11 | 2/1612 | 31,89

CXERC 200x80 200 | 8" | 80 |31/7"|2/1582 | 21,89 | 2/1613 | 3544

CXERC 300x80 300 | 12" | 80 |31/7"|2/1584 | 24,89 | 2/1615 | 41,78

CXERC 400x80 400 | 16" | 80 |31/7" |2/1585| 29,11 | 2/1616 | 49,11

CXERC 500x80 500 | 20" | 80 |31/7"|2/1586 | 33,11 | 2/1617 | 56,44

CXERC 600x80 600 | 24" | 80 |31/7"|2/1587 | 36,44 |2/1618 | 63,11

CXERC 100x100 100 | 4" (100 | 4" |2/1588| 20,33 | 2/1619 | 32,00

CXERC 150x100 150 | 6" (100 | 4" |2/1589| 21,89 | 2/1620 | 3544

CXERC 200x100 200 | 8" | 100 | 4" |2/1590 | 23,67 |2/1621 | 3867

CXERC 300x100 300 | 127 | 100 | 4" |2/1592 | 26,67 |2/1623 | 45,00

CXERC 400x100 400 | 16" | 100 | 4" |2/1593 | 31,00 | 2/1624 | 52,67

CXERC 500x100 500 | 20" | 100 | 4" |2/1594 | 35,00 | 2/1625 | 60,00 -

CXERC 600x100 600 | 24" | 100 | 4" |2/1595 | 3833 | 2/1626 | 66,67 -

F rue = 5@/0%

B PG | HDG [N
mm inch [EEIETEEIETE R e —

@. TCXERC

TCXERC 100x35 100 | 4" | 2/1658 | 16,67 |2/1689 | 21,67

TCXERC 150x35 150 | 6" | 2/1659 | 17,89 | 2/1690 | 24,89 - - N

TCXERC 200x35 200 | 8" | 2/1660 | 19,22 | 2/1691 | 28,33

TCXERC 300x35 300 | 12" | 2/1661 | 21,78 | 2/1692 | 34,78 - =

TCXERC 100x60 100 | 4" | 2/1665 | 14,22 | 2/1696 | 20,11 | 2/3565 | 38,78

TCXERC 150x60 150 | 6" | 2/1666 | 1556 | 2/1697 | 23,67 |2/3249 | 49,22 ]
TCXERC 200x60 200 | 8" | 2/1667 | 18,33 | 2/1698 | 28,78 | 2/3253 | 56,89

TCXERC 300x60 300 | 127 | 2/1669 | 22,22 | 2/1700 | 37,00 |2/3250 | 70,44

TCXERC 400x60 400 | 16" | 2/1670 | 26,89 | 2/1701 | 46,11 | 2/3251 | 83,89 &
TCXERC 500x60 500 | 20" | 2/1671 | 31,11 | 2/1702 | 55,00 - -

TCXERC 600x60 600 | 24" | 2/1672 | 35,00 | 2/1703 | 63,22 |2/3252 | 108,33

TCXERC 100x80 100 | 4" | 2/1673 | 14,56 | 2/1704 | 21,00 - = I —
TCXERC 150x80 150 | 6" | 2/1674 | 16,11 | 2/1705 | 25,11

TCXERC 200x80 200 | 8" | 2/1675| 19,11 |2/1706 | 30,44

TCXERC 300x80 300 | 12" | 2/1677 | 2322 | 2/1708 | 39,56

TCXERC 400x80 400 | 16" | 2/1678 | 28,11 | 2/1709 | 49,33

TCXERC 500x80 500 | 20" | 2/1679 | 31,67 | 2/1710 | 56,11

TCXERC 600x80 600 | 24" | 2/1680 | 36,78 | 2/1711 | 67,89

TCXERC 100x100 100 | 4" | 2/1681 | 14,89 |2/1712 | 21,89

TCXERC 150x100 150 | 6" | 2/1682 | 16,56 |2/1713 | 26,22

TCXERC 200x100 200 | 8" |2/1683 | 19,78 |2/1714| 32,22

TCXERC 300x100 300 | 12" | 2/1685 | 24,22 | 2/1716 | 41,89

TCXERC 400x100 400 | 16" | 2/1686 | 29,33 | 2/1717 | 52,44

TCXERC 500x100 500 | 20" | 2/1687 | 34,11 | 2/1718 | 62,56

TCXERC 600x100 600 | 24" | 2/1688 | 38,67 |2/1719| 72,44

*x @

23

BASORTRAY (LJ) SCM



BASORTRAY (LJ) SCM

L), BASORTRAY
A ERE-MRE-FRE = E.bosor

BLECTAIC
@TERC

B N 6 | HDG |

mm inch mm inch mm
TERC 100x35 100 | 4 | 35 |138 | 20751 | 2422 | 21782 | 3844 ‘ ,
TERC 150x35 150 | 6" | 35 |138"| 21752 | 2844 | 211783 | 47,89 N - 8' e
TERC 200x35 200 | 8 | 35 |13@"| 21753 | 3444 | 21784 | 62,22 "
TERC 300x35 300 | 127 | 35 |138"| 21754 | 644 | 211785 | 86,00 " i -
TERC 100160 100 | 4 | 60 |213"| 21758 | 2589 | 21789 | 42,67 - o
TERC 150460 150 | & | 60 |213"| 21759 | 30,78 | 211790 | 53,00 %
TERC 200460 200 | & | 60 |213"| 21760 | 37,11 | 21791 | 67,56 ﬁ ,QELG*0 i
TERC 300460 300 | 12 | 60 |213"| 21762 | 5044 | 21793 | 93,22 £: ET
TERC 400460 400 | 16" | 60 |21/3"| 21763 | 6400 | 211794 | 123,67 51320
TERC 50060 500 | 20" | 60 |21/3"| 21764 | 7889 | 211795 | 15833 | i
TERC 600x60 600 | 24" | 60 |21/3"| 21765 | 101,00 | 211796 | 203,22 | 3
TERC 100x80 100 | 4 | 80 |317"| 21766 | 27,11 | 21797 | 4589 2
TERC 150x80 150 | & | 80 |317"| 21767 | 32,00 | 21798 | 56,22
TERC 200x80 200 | & | 80 |3177| 21768 | 3844 | 21799 | 7111 | S
TERC 300x80 300 | 12° | 80 [317"| 21770 | 5189 | 211801 | 96,89
TERC 400x80 400 | 16" | 80 |37 | 21771 | 6556 | 211802 | 127,78
TERC 500480 500 | 20" | 80 [317"| 21772 | 8067 | 211803 | 163,00
TERC 600x80 600 | 24" | 80 [31/7"| 21773 | 10289 | 211804 | 207,78
TERC 100x100 100 | 4 | 100 | 4 | 21774 | 2922 | 21805 | 50,00
TERC 150x100 150 | 6 | 100 | 4 | 21775 | 34,11 | 21806 | 60,67
TERC 200x100 200 | & | 100 | 4 | 21776 | 4078 | 21807 | 75,78
TERC 300x100 300 | 12 | 100 | 4 | 21778 | 5411 | 21809 | 101,67
TERC 400x100 400 | 16" | 100 | 4 | 21779 | 6800 | 211810 | 13311
TERC 500x100 500 | 20" | 100 | 4" | 21780 | 8322 | 21811 | 16856
TERC 600x100 600 | 24" | 100 | 4" | 21781 | 10567 | 211812 | 214,00

A 2R L
SR

@TI'ERC
o T ‘

on o AT N T E
TTERC 100 100 4" 2/1844 | 13,00 2/1852 | 20,89 i
TTERC 150 150 6" 2/1845 | 15,89 2/1853 | 27,44 3
TTERC 200 200 8" 2/1846 | 19,00 2/1854 | 3456 | 0
TTERC 300 300 12" | 2/1848 | 26,11 2/1855 | 51,33 4 -
TTERC 400 400 16" | 2/1849 | 36,67 2/1856 | 73,22 6 E g
TTERC 500 500 20" | 2/1850 | 49,22 2/1857 | 99,33
TTERC 600 600 24" 2/1851 | 62,89 2/1858 | 128,44 Jﬂ
B+2
B+161

24



L BASORTRAY
A ERE-MRE-FRE -=E. basor

BELECTRIC

@ CRERC

B BN 6 | HDG |

mm inch mm inch mm
CRERC 100x35 100 | 4 35 |13/8"| 2/1866 | 31,67 | 2/1897 | 49,44 i S i ‘II
CRERC 150x35 150 | 6" 35 |13/8"| 2/1867 | 36,22 | 2/1898 | 60,22 S
CRERC 200x35 200 | & 35 |13/8"| 2/1868 | 41,00 | 2/1899 | 71,89 0o
CRERC 300x35 300 | 12" | 35 |13/8"| 2/1869 | 4244 | 2/1900 | 71,33
CRERC 100x60 100 | 4 60 |21/3"| 2/1873 | 32,44 | 2/1904 | 53,33 0 e =0 S
CRERC 150x60 150 | 6" 60 |21/3"| 2/1874 | 37,11 | 2/1905 | 64,11 0r” bomy
CRERC 200x60 200 | & 60 |21/3"| 2/1875 | 42,11 | 2/1906 | 75,78 = -0
CRERC 300x60 300 | 12" | 60 |21/3"| 2/1877 | 58,33 | 2/1908 | 107,78 ﬁ ‘@iﬂ*
CRERC 400x60 400 | 16" | 60 |21/3"| 2/1878 | 72,00 | 2/1909 | 139,78 L
CRERC 500x60 500 | 20" | 60 |21/3"| 2/1879 | 87,00 | 2/1910 | 176,00 | i B
CRERC 600x60 600 | 24" | 60 |21/3"| 2/1872 | 10811 | 2/1911 | 21811 3 B
CRERC 100x80 100 | 4 80 |31/7"| 2/1831 | 3389 | 2/1912 | 56,78 2
CRERC 150x80 150 | 6" 80 |31/7"| 2/1882 | 3856 | 2/1913 | 67,56
CRERC 200x80 200 | & 80 |31/7"| 2/1883 | 4367 | 2/1914 | 7956 | &
CRERC 300x80 300 | 12" | 80 |31/7"| 2/1885 | 59,78 | 2/1916 | 111,22
CRERC 400x80 400 | 16" | 80 |31/7"| 2/1886 | 7344 | 2/1917 | 143,56
CRERC 500x80 500 | 20" | 80 |31/7"| 2/1887 | 8844 | 2/1918 | 179,67
CRERC 600x80 600 | 24" | 80 |31/7"| 2/1830 | 110,11 | 2/1919 | 223,11
CRERC 100x100 100 | 4" | 100 | 4" | 2/1889 | 36,78 | 2/1920 | 62,22
CRERC 150x100 150 | 6" | 100 | 4" | 2/1890 | 41,44 | 2/1921 | 73,00
CRERC 200x100 200 | 8" | 100 | 4" | 2/1891 | 46,56 | 2/1922 | 84,89
CRERC 300x100 300 | 12" | 100 | 4" | 2/1893 | 62,67 | 2/1924 | 116,67
CRERC 400x100 400 | 16" | 100 | 4" | 2/1894 | 76,44 | 2/1925 | 149,00
CRERC 500x100 500 | 20" | 100 | 4" | 2/1895 | 91,22 | 2/1926 | 184,78
CRERC 600x100 600 | 24" | 100 | 4" | 2/18% | 114,33 | 2/1927 | 231,89
& 2
= Pg
/N
=
@ @ TCRERC
N PG | HDG
o, TR
- TCRERC 100 100 | 4" | 2/1959 | 13,56 | 2/1967 | 24,00 -
TCRERC 150 150 | 6" | 2/1960 | 16,22 | 2/1968 | 31,00 | !
TCRERC 200 200 | 8" | 2/1961 | 20,67 | 2/1969 | 40,11 g
TCRERC 300 300 | 12" | 21963 | 2844 | 21971 | 59,00 | 4 R
TCRERC 400 400 | 16" | 2/1964 | 37,89 | 2/1972 | 81,33 35
TCRERC 500 500 | 20" | 2/1965 | 5344 | 2/1973 | 111,67 (S} ©
TCRERC 600 600 | 24" | 2/1966 | 6844 | 2/1974 | 143,44 ﬂ @ﬁﬂ‘
B+320

25

BASORTRAY (LJ) SCM



BASORTRAY (LJ) SCM

L) BASORTRAY
A ERE-MRE-FRE =E. basor

BELECTARIC

@AS

B N 6 | HDG |
mm - ineh o inch - [CTCEN T I T

S AS 100x35 100 | 4" | 35 |138| 21983 | 31,14 | 2/2015 | 3626 N =]
AS 150435 150 | 6 | 35 |138"| 21984 | 31,78 | 22016 | 37,69 126 '
AS 200x35 200 | 8 | 35 [13/8"| 2/1985 | 3243 | 202017 | 39,14
AS 300x35 300 | 12 | 35 |138| 21987 | 3271 | 2/2019 | 41,15 ﬂ Nigxr.s o
AS 100460 100 | 4 | 60 |21/3"| 21991 | 3091 | 22023 | 37,12 R
AS 150460 150 | & | 60 |21/3"| 211992 | 3155 | 22024 | 3853 = o o
AS 20060 200 | 8 | 60 [21/3"| 201993 | 32,27 | 2/2025 | 44,03 =
AS 30060 300 | 12 | 60 |21/3"| 21995 | 3845 | 2/2027 | 52,05
AS 40060 400 | 16" | 60 |21/3"| 2199 | 4385 | 212008 | 6026
AS 50060 500 | 20" | 60 |21/3"| 21997 | 5036 | 2/2029 | 63,15 | i
AS 600x60 600 | 24" | 60 |21/3| 21998 | 5355 | 2/2030 | 6620 | 3
AS 100x80 100 | 4 | 80 [31u7| 21999 | 3252 | 22031 | 39,35 2
AS 150480 150 | 6" | 80 |317| 22000 | 33,17 | 2/2032 | 40,79
AS 200x80 200 | 8 | 80 [31/7"| 2/2001 | 3382 | 22033 | 4620 | &
AS 300x80 300 | 12 | 80 |31/7"| 22003 | 39,81 | 2/2035 | 53,28
AS 400x80 400 | 16" | 80 |31/77| 2/2004 | 4535 | 2/2036 | 61,50
AS 500x80 500 | 20" | 80 |31/7"| 22005 | 51,98 | 2/2037 | 64,15
AS 600x80 600 | 24" | 80 |31/7"| 2/2006 | 52,36 | 2/2038 | 67,20
AS 100x100 100 | 4 | 100 | 4 | 202007 | 3308 | 22039 | 4058
AS 150x100 150 | 6" | 100 | 47 | 2/2008 | 3382 | 2/2040 | 4224
AS 200x100 200 | 8 | 100 | 4" | 22009 | 3446 | 2/2041 | 47,64
AS 300x100 300 | 12 | 100 | 4" | 22011 | 4049 | 202043 | 54,73
AS 400x100 400 | 16' | 100 | 4’ | 22012 | 4600 | 2/2044 | 6293
AS 500x100 500 | 20" | 100 | 4" | 2/2013 | 62,65 | 2/2045 | 71,13
AS 600x100 800 | 24" | 100 | 4" | 22014 | 6369 | 2/2046 | 79,34
/’ 2 JUER +4/100 x B1 (2/4356 - PG / 2/6826 - HDG / 2/4925-1304)
f—
&0 s
| PG| HDG |
@ | o | w | o]
TAS 100 100 | 4 | 2i8325 | 878 | 2/8332 | 1333 )
" TAS 150 150 | 6" | 2/8306 | 989 | 218333 | 1544 é o ‘ '
TAS 200 200 | 8 | 28327 | 1122 | 28334 | 1778 | ¢ “‘f
TAS 300 300 | 12 | 28328 | 1344 | 218335 | 22,00 | 4 - ;\ ke,
TAS 400 400 | 16" | 2/8329 | 21,78 | 28336 | 32,44 8
TAS 500 500 | 20" | 2/8330 | 2522 | 28337 | 37,89 |© B2 £0
TAS 600 800 | 24 | 2/8331 | 2889 | 218338 | 4356
3
g REER
B B PG |  HDG [
mm inch mm inch mm €lu REF. €lu
REER 50/35 50 | 2°| 35138 |2/6290| 293 |2/6298| 3,19 | - -
REER 50/60 50 | 2" | 60 |21/3"|2/6291 | 307 |2/6299| 360 |2/8767 | 3,44
REER 50/80 50 | 2' | 80 |31/7" | 206292 | 323 |2/6300| 394 | - - 208 _ A
REER 50/100 50 | 2" [100| 4" |2/6293| 338 |2/6301 | 428 | - - ! !
REER 100/35 100| 47 | 35 |13/8" | 206294 | 295 |2/6302| 3,36 - B 60

REER 100/60 100 4" | 60 [21/3"|2/6295| 3,21 |2/6303 | 390 |2/8768 | 422
REER 100/80 100 | 4" | 80 [31/7"|2/6296 | 3,41 |2/6304 | 434
REER 100/100 100 | 4" (100 | 4" |2/6297 | 3,61 |2/6305| 4,67

’ 2/100 x B1 (2/4356 - PG / 2/6826 - HDG / 2/4925-i304)



LJ BASORTRAY
N A ERE-MRE-FRE SHE.bosor

BELECTRIC
W) ps

H PG HDG i304 -
(U REE | €m | REE | em [ECEANERG =L
PS 35 35 | 138" | 23476 | 489 |23479| 567 | - | - -
PS 60 60 | 21/3" | 2/2066 | 6,00 |23480| 7,78 | 23645 | 20,33 0 ﬂ
PS 80 80 |31/7" | 23477 | 7,33 |2/3481| 944 3 =
PS 100 100| 4 |23478| 833 | 23482 | 11,00 | 255138 | 2989 0
A 1100 xB1 (500 500 mm) (2/4356 - PG / 216826 - HDG / 2/4925-304) U s
m (10 ft) D
il
0L
IR
SUCP
B H “ 1304
mm inch mm inch REF.  €/u o ]
SucP 1160|6277 | 130 518 \2/14255\ 232 |2n4gs6| 978 H@U\ /[]@U
2/100 % B1 (214356 - PG / 2/6826 - HDG / 2/4925 - 1304) = e —
4 NG
29-70 mm SN -«
— 20x7,5
120
- B
. {79460, 98-128460, 16-66262
L)
:30-147
B suer
H PG HDG 304 .
LM REF. | €/u | RER | €/u [T} w
JUER 35 35 138" 22047 | 263 | 22052 | 333 | 23232 | B
JUER 60 60 |21/3 | 212048 | 1,23 |2/2083 | 192 |23233| 333 0
JUER 80 80 |31/7" | 222049 | 177 |2/084| 271 | - | - 18:7.5
JUER 100 100| 4" |22050| 232 |2r055)| 344 | - | - 0 .
JUER3S A 20100 B1 (2/4356 - PG / 2/6826 - HDG | 2/4925-i304) 0
1z
JUER 35
20x8 ) 20x8 ‘
S o™ L S S o e
=
110
110
JUER 60 JUER 80/100 JUER 60 JUER 80/100

3 | 27

BASORTRAY (LJ) SCM



BASORTRAY (LJ) SCM

L BASORTRAY
A ERE-MRE-FRE -=SE. basor

eLECTRIC
@JUER-A
N  Pc | Hoc

|
o inen | T A T ___TH
JUER-A 35 35 138 23206 | 7,22 | 255298 | 933 | 0 /
JUER-A 60 60 |21/3"| 2/3229 | 689 | 24439 | 1033 | & o
JUER-A 80 80 (317" | 2/6327 | 833 | 25055 | 10,33 J { g[
9 oo o O oo
JUER-A 100 100 | 4" | 206209 | 911 | 26416 | 1167 208 s |~

JUER-A 35
A 4/100xB1 (24356 - PG | 2/6826 - HDG / 2/49254304)
97,5 97,5
1 4
=T ——E
| T| & I q
‘ I
20x8 < 20x8'
v . s 8, s
137,5 137,5
4 b _l,-" JUER-A 60 JUER-A 80/100
+u JUER-BFR
i304 305
REE. €M ™ N
JUER-BFR 60/65 | 217018 | 22,33 5 Ll
. 35 55 119
r
JUER-B
i
i U —
WY o | w | o | =T
JUER-B 35 3 138" 27204 | 511 | 277208 | 633 | 0 A -
JUER-B 60 60 213" | 27205 | 433 | 2440 | 489 | & 3o
JUER-B 80 80 317" 27206 | 500 | 27209 | 589 | o . -
JUER-B 100 100 | 4 | 27207 | 600 | 27210 | 767 <
A 27100 B1 (214356 - PG / 26826 + HDG / 24925-1304)
. JUER-U 60
N | o
Y [ o I sl
JUER-U 60 | 60 [2153] 25740 | 1187 000 =
40 | 50 100
CNN LN
PBCH-20 TMM PVC 90
e L PVC

mm o m REF. €/u
PBCH-20 1MM PVC 90 | <1 | 20 | 20086 | 40489

B1-100
L Pap 1304
];L LR REE L | Rer | eu T
|

“  B1-100 14 | 6 | 213% | 2300 | 26826 | 3211 | - : 3€ g[
B1-100 20| 6 214925 | 80,00 ©

28 |




U

BASORTRAY

. Dasor

BELECTARIC

29

BASORTRAY (LJ) SCM



sy e
s /7717774 Y77
Vo A
7L i » . e 117714
2 a5 [ L et

.
e —————
e ey S e e = e e e S = e e e e e
e ey e e S I 5 et s e i L < e e ] I (] ] I I s s e o e e e e et e et B W e B i e B W DSl oo oL o m
i | I | E
et | rrremrrr—— | e
it
'
.
. r
ol ] pan
r"
¢ papr i
i ey
1 i
r
'

T T T T T T T T =
= s T g e e g il | = = = e ol S [ o [ P i P Pt
A % B S S

-l -~ -~ - -




basorfil

/ memmﬂl e —— y /|
ey Wi o owr i
:%Wwww e wwmwa
wywyew g wwwme
wwwamw wammw|

e, W Wi
W e i

W




BASORFIL (L) scM

w BASORFIL
=1 PG . Dasor

BELECTARIC

CERTIFIED
SAFETY US-CA

E358301

" 150°C
—L L>100m Q!Nkl‘o ﬂLsoaC

UNE-EN 61537 UNE-EN 61537 UNE-EN 61537
UNE 23727

471

7 BXH NEMA VE1 NMX-J-511-ANCE
mm inch cm? in? cm? in? 60465 2%
60 18 " 33 100x65 | 4% - . 6AA 6AA
00 R i 67 150065 | 6% - . 6AA 5AA
50 , - 1 200065 | 8% 5AA 5AA | 6AASBB | GAA/SBB
00065 | 1270 5AA 5AA 688 688
200 g 100 155 186 2838
200065 | 16" 5AA 5AA 688 688
300 12 156 242 291 45,1
50065 | 202" 5AA 5A 688 688
400 16 212 329 3% 614 60065 | 242" 5A 5AA 688 688
500 X 28 415 Soi 7 200x105 | 8’ 5AA 5AA 688 688
600 Gl 324 502 606 939 300¢105 | 124’ 5A 5AA 688 688
400x105 | 1674 | SAASA 5A 6A 688
500x105 | 20%d' | SAABA | 5AA 6A 688
600X105 | 244’ | SANSA | 5AA 6A 688

32| ez



s

S5 BF2R Hes

BASORFIL
s

B H
mm inch mm inch
BF2R 60X65 60 | 2" | 65| 2
BF2R 100X65 100 4" | 65| 2"
BF2R 150X65 150 | 6" | 65 | 2"
BF2R 200X65 200 8 |65 | 2"
BF2R 300X65 300 12" | 65| 2"
BF2R 400X65 400 | 16" | 65 | 2"
L=3m(10f) BF2R 500X65 500 | 20" | 65 | 2"
BF2R 600X65 600 24" | 65 | 2"

. Dasor

BELECTARIC

25

2/7389
2[7248
2[7249
2/7250
2/7251
2/73%4
2/7395
2/73%

2/17354
2/17355
2/17356
2/17357
2/17358
2/17359
2/17361
2117362

)
o1
Fe)
«©
100

*x ® Y o=

P

(/) TERE (BF2R H65)

mm

TBF 60 60

TERE 100 100

TERE 150 150

TERE 200 200

TERE 300 300

TERE 400 400

- TERE 500 500

b= TERE 600 600

inch
o
4
6
g
12"
16"
20"
24"

BT
W | an | @ | an

26044 | 1156 | 2/3614 | 17,00
21312 | 6,00 | 21321 | 10,67
211313 | 822 | 21322 | 14,67
2/1314 | 1056 | 2/1323 | 1844
2/1316 | 16,22 | 2/1325 | 2867
2/1317 | 2433 | 2/1326 | 37,67
2/1318 | 3333 | 2/1327 | 50,22

2/1319 | 3956 | 2/1328 | 59,67

N X®

BF2R H105

. B H
-i £ mm inch mm inch
— BF2R 200X105 200 8" [ 105 4
: BF2R 300X105 300| 12 [ 105| 4
BF2R 400X105 400 | 16 | 105 | 4"
BF2R 500X105 500 | 20" | 105| 4"
BF2R 600X105 600 | 24' | 105| 4’

L)
0
1
1
2
2

Q.

EZ 1000
2,02
2748
37,13
3976
14

| ReE ] em

2/7397 | 19,16
27398 | 2437
27399 | 32,63
2/7400 | 35,00
2/7401 | 39,22

2/17365
2117366
2117367
2/17369
2/17370

B+ 18

*x ® Y o=

L=3m(10f)

mm
TEBFR 200 200
TEBFR 300 300
TEBFR 400 400
TEBFR 500 500
TEBFR 600 600

inch
g
12"
16"
20
24"

EEaEaeE
2/9791 | 17,33 | 2/9888 | 25,00 ¢

29792 | 23,33
29793 | 30,56
2/979%4
219795

2/9889 | 34,00
2/9890 | 44,22
2/9891
2/9892

X @

=SSl

3

BASORFIL (L} scM



BASORFIL

. Dasor

BELECTARIC

25

BF2R 60X65 60 | 2" | 65| 2 2/7516 | 29,44 —
BF2R 100X65 100 4" | 65| 2 2/7502 | 39,00
BF2R 150X65 150 | 6" | 65| 2 27503 | 41,78
BF2R 200X65 200 8" |65 | 2 2/7504 | 51,67
BF2R 300X65 300 12" | 65 | 2" 207505 | 76,67

BF2R 400X65 400 | 16" | 65 | 2" 2/7506 | 91,78
L=3m(10f) BF2R 500X65 500 20" | 65 | 2" 2/7507 | 106,44
BF2R 600X65 600 | 24" | 65 | 2" 2/7508 | 120,33

xRN O= Q.

100

B H i304
mm inch mm inch U REF. €/m %
0
0
0
0
1
1
2
2

=
=
7]
=

T

TERE (BF2R Hé5)
‘ B 1304 m T
I mm inch  REE.  €m = ?
f TBF 60 680 | 2 | 25504 | 2322

TERE 100 100| 4" | 204560 | 2856

TERE 150 150| 6 | 25123 | 37,89

TERE 200 200 8 | 24561 | 46,44

TERE 300 300 | 127 | 24716 | 64,00

TERE 400 400 | 16" | 2/4931 | 92,44

TERE 500 500 | 20" | 2/562 | 111,78

TERE 600 600 | 24" | 25357 | 131,56

N X GIB

BF2R 200X105 200 8" |105| 4" 27509 | 57,78
BF2R 300X105 300 127|105 | 47 2/7510 | 8544
BF2R 400X105 400 | 16" | 105 | 4"
BF2R 500X105 500 | 20" | 105 | 4"

2/7511 | 102,44

2(7512 | 123,89

BF2R 600X105 600 | 24" | 105| 4" 2/7513 | 143,00
g

B+18

B H i304
mm inch mm inch U REF. €/m
0
1
1
2
2

=

L=3m(10ft)

xR X @= @3B

TEBFR (BF2R H105)

nm | inch CICE

TEBFR 200 200 8 | 29791 | 173 :
TEBFR 300 300 | 12" | 209792 | 2333
TEBFR 400 400| 16" | 2/9793 | 30,56 I
TEBFR 500 500 | 20" | 209794 | 4033 i
L=15m(5H) 7 == - :
TEBFR 600 600 | 24" | 2/9795 | 4689

ESEE

*x @

34



== basor

ELECTAHRIC

£38 | 35




BASORFIL L)

BASORFIL

e Dbasor

BELECTARIC

CERTIFIED

* 150°C
1wt oK 2y
- OSUAL
UNE-EN 61537 UNE-EN 61537
UNE 23727 UNE-EN 61537 UNEf
‘ ” \ bt":tt;t;.___t:
URBF CGBF ULA TBF GBF ERE-BFR MU
h E g N
SLS STB suC MINI SUC BC BF/BFR
v i u
Y PS PB BFR CFBFR41 SFS BFR PG SST SFL BFR6MES
( 7 N[ BxH NEMA VET NWXJ511-ANCE
mm inch EWOG 304316 EZWDG 3047316
mm inch cm? in? cm? in? cm? in? 150x35 6'x1"3/8 5AA 5AA
, 20035 | 8x1'38 5AA 5AA
60 2l 2 36 300635 | 12'x1'38 6AA .
100 & 27 42 47 73 6065 | 2% - -
H 100165 | 4% 6AA 6AA
150 6 42 6,5 LR 15065 | 6% . . 6AA 5AA
200 g 58 90 | 102 | 158 | 193 | 300 200x65 | 8% 5AA 5AA | GAASBB | GAASBB
) 300065 | 12%2° 5AA 5AA 6BB 6BB
300 | 12 89 | 138 | 157 | 243 | 207 | 460 0065 | 1670 o o e e
00 | 16 22 | 329 | 401 | 622 500x65 | 20X 5AA 5A 6BB 688
) B00XE5 | 24'x2" 5A 5AA 6BB 6BB
00 |20 %1 | 27 | 505 | 783 200x105 | 8%’ 5AA BAA 688 688
600 | o4 322 | 299 | 609 | 944 300x105 | 124" 5A 5AA 6BB 6BB
L Y 400x105 | 164" | SAABA 5A 6A 688
500x105 | 20 | 8AABA | 5AA 6A 688
600x105 | 244 | SAASA | 5AA 6A 688




BASORFIL

T e SE_ basor

BFR H35
B H 1304 316 5
mm inch mm inch REF.  €m REE  €m gﬁ
BF 60X35 60 | 2" | 35 |13/8"|2/6407 | 7,83 |2/8230 | 9,89 | 2/6516 | 53,22 | 2/8233 | 63,89
BFR 100X35 100 | 4" | 35 [13/8"2/3616| 7,40 |2/0286 | 12,33 | 2/0303 | 27,58 | 2/7415 | 39,67
BFR 150X35 150 | 6" | 35 |13/8"|2/3617 | 844 |2/0287 | 14,56 | 2/0304 | 37,06 | 2/7416 | 49,28
BFR 200X35 200 | 8" | 35 [13/8"|2/3618 | 9,33 |2/0288 | 17,56 | 2/0305 | 37,44 | 2/7417 | 58,56 )
BFR 300X35 300 | 12" | 35 |13/8"|2/3619 | 15,62 | 2/0289 | 23,78 | 2/0306 | 47,22 | 2/7418 | 77,44 -

A 100,150,200 T 2 CGBF (24364-E7 / 2/4360-HDG). @!

BASORFIL (L} scM

(R
300 ¥ 3xCGBF (2/4364-E7 / 2/4360-HDG) ) 1L
— [ ] ] ] @m
= I I |
100
L=3m o BF 60435 BFR H35
AR
BFR H65
—e B O  EZ | HDG [ i316 :
_:II ” o, mm inch mm inch LA LNIEEHIEEN RE em  REE €m -EH
- I' - BFR-2F 60X65 60 | 2" | 55 | 2 [2710009| 8,00 |215576| 12,67 | - - - - |—‘ :
" -
LHF;.?:___-_-_ BFR 100X65 100| 4" | 65 | 2" | 213622 | 8,56 |2/0091 | 13,11 | 210308 | 35,82 | 2/7420 | 49,56
BFR-2F 60x65 BFR 150X65 150 | 6" | 65 | 2" | 213623 | 9,79 | 2/0092 | 14,11 | 200309 | 3832 | 2/7421 | 53,00
BFR 200X65 200| 8 | 65 | 2" | 2/3624 | 12,08 | 200293 | 18,11 | 2/0310 | 49,23 | 277422 | 66,56
BFR 300X65 300| 12" | 65 | 2" | 2/3625 | 17,49 | 200294 | 25,00 | 2/0311 | 74,86 | 277423 | 99,00 g
BFR 400X65 400 | 16" | 65 | 2" | 2/4407 | 22,45 | 210295 | 32,00 | 2/0312 | 90,42 | 27424 | 119,89
BFR 500X65 500 | 207 | 65 | 2" | 24409 | 20,88 | 210296 | 4356 | 200313 [10616| 27425 | 13880 AL AL
BFR 600X65 600 | 24" | 65 | 2" | 2/3626 | 33,50 | 2/0297 | 47,89 | 200314 |122,22| 2/7426 | 161,00
)5200 I 2x URBF (2/6217-EZ / 2/6219-HDG). @!
300 ¥a¥ o URBF (20621767 1 2/6219-HDG) L 1] H 8
+ 1x CGBF (2/4364-E7 / 2/4360-HDG). 10 2
H
= 60465
AR
w BFR 60Xé65
B H 1304 316 .
mm inch mm inch REF.  €/m REF. €/m i S
BFR 60X65 |60 | 2 |55 | 2 | 20807 | 2815 | 277419 | 35,33
12,5
A 2XURBF (20621762 | 2/6219-GC) ]
N PG | HDG NI N
+. —
mninch [IEANIECMIEEIEIE re em
TBF 60 60 | 20 | 26044 | 1156 | 23614 | 17,00 | 25594 | 23,22 o 1
TERE 100 100 4" | 21312 | 600 | 271321 | 10,67 | 2/4560 | 28,56 s
TERE 150 150 | 6" | 21313 | 822 | 21322 | 14,67 | 25123 | 37,89 a
TERE 200 200| 8 | 21314 | 1056 | 21323 | 1844 | 24561 | 4644 s}
TERE 300 300 | 12 | 21316 | 1622 | 21325 | 2867 | 24716 | 64,00
TERE 400 400 | 16" | 21317 | 24,33 | 21306 | 37,67 | 2/4931 | 92,44
TERE 500 500 | 20 | 211318 | 3333 | 21327 | 50,22 | 24562 | 111,78
TERE 600 600 | 24" | 211319 | 39,56 | 211328 | 5967 | 205357 | 131,56
X D

37



BASORFIL

<
\

EBFR 200x105
EBFR 300x105
EBFR 400x105
EBFR 500x105
EBFR 600x105

mm inch
200 | 8"
300 | 12"
400 | 16"
500 | 20"
600 | 24"

mm
105
105
105
105
105

B 7 | HDG |

[N REE | €m | REE | em
4" | 2/7312 | 1825 | 2/7333 | 26,78
4" | 2/7313 | 23,03 | 2/7334 | 3589
4" | 2/7314 | 3197 | 2/7335 | 4456
4" 1 2/7315 | 36,66 | 2/7336 | 5544
4" | 2/7316 | 40,32 | 2/7337 | 60,22

BASORFIL (L) scM

basorfil &nergugl‘:-BH?

TEBFR

/" B =200 ¥ 2« URBF (2/6217-EZ / 2/6219-GC)

B 2300 II" _ '||I 2x URBF (2/6217-EZ | 2/6219-GC) + 1x CGBF (2/4364-EZ - 2/4360-GC)

Q

| PG | HDG |
SN | am | e | an |
TEBFR 200 200 8" | 2/9791 | 17,33 | 2/9888 | 25,00
TEBFR 300 300 | 12" | 2/9792 | 23,33 | 2/9889 | 34,00
TEBFR 400 400 | 16" | 2/9793 | 30,56 | 2/9890 | 44,22
TEBFR 500 500 | 20" | 2/9794 | 40,33 | 2/9891 | 57,78
TEBFR 600 600 | 24" | 2/9795 | 46,89 | 2/9892 | 67,78
B H i304 i316
mm inch mm inch REE.  €/m REE  €/m
BFR 200X105 200 | 8" | 105 | 4" | 2/0315 | 73,05 | 2/7427 |112,44
BFR 300X105 300 [12"| 105 | 4" | 2/0316 | 90,30 | 2/7428 |138,33
BFR 400X105 400 | 16" | 105 | 4" | 2/0317 |105,60| 2/7429 | 163,22
BFR 500X105 500 [ 20" | 105 | 4" | 2/0318 |127,11| 2/7430 |184,33
BFR 600X105 600 | 24" | 105 | 4" | 2/0319 |134,33| 2/7431 |212,78

HDG).

TERE 200
TERE 300
TERE 400
TERE 500
TERE 600

)',5200 " I 2x URBF ( 2/6217-EZ | 2/6219-HDG).

mm
200
300
400
500
600

inch
g’
12"
16"
20"
24"

Q.

2300u 2x URBF ( 2/6217-EZ | 2/6219-HDG) + 1x CGBF (2/4364-EZ | 2/4360-

i304

REF.
2/4561
2/4716
2/4931
2/4562
2/5357

€/m
46,44
64,00
92,44
111,78
131,56

o=

Q.

. Dasor

BELECTARIC

B + 15

50

100

(EEREn

50

100

-
y
fl
|
L
)




-

BASORFIL
A

l!IPS

SE_Dbasor

BELECTARIC

H
NN REE | €m | REE | €m

i304
REF. €/m

PS 35 35 [13/8" | 2/3476 | 4,89 | 213479 | 567 -
PS 60 60 (21/3"| 22066 | 6,00 | 2/3480 | 7,78 | 2/3645 | 20,33
PS 80 80 |31/7"| 2/3477 | 733 | 2/3481 | 944 -
PS 100 100 | 4" | 2/3478 | 833 | 2/3482 | 11,00 | 2/5138 | 29,89

=

) L3 -3 xGBF (2/0337-EZ / 2/0339-HDG / 2/0340-i304) + 3 x B1 (2/4356-EZ / 2/6826-HDG
L=3m(10f)

| 2/4925-304)

H-5
N}
S)

x8,5

URBF
W | G | e | G
URBF 65/105 216217 1,09 | 2/6219 1,15
URBF 35 217271 1,46 | 2/7272 1,67

o 65/105[
105[
65[‘ UR BFR 35

UR BFR 65/105 E-BFR 105 @l

URBE 35 URBF 65/105

25

w5 I AN
ulife

52

12

% URBF 65/105

;V}
N

—

URBF 35

=
o R

i304
REF. €lu

CGBF | 6 | 24364 | 081 | 24360 | 1,00 | 24915 | 251
BFR 60-200 x 2u @l
BFR 300-600 x 3u

JJE&

20

JOsEg
18

e38 [ 39

BASORFIL L) scM



BASORFIL

. Dasor

BELECTARIC

Pap 1304

(M REE | €u | Rer | e GO *
ULA 65/105 | 6 | 24919 | 152 | 24363 | 181 | 24901 | 389 =

34

Q

BASORFIL (L) scM

2N P |  HDG [NV —
(U8 ReE | €u | ReE | eu [EETIANNEGT

| 6 |om32| 052 | 2732 | 067 | 21923 | 200

@H L]

20

CGBF i316 / CTBF2i316

Pap i316
- Nm REF. €lu
CGBF 316 6 | o388 | 323
!10!
Pap i316
Nm Ref. €lu
CTBF i316 |6 | 2829 | 335
!10!

JUBFR-A 65/105

18

18

| Pc IRET

T | o O
JUBFR-A 65/105 | 219868 | 12,16 | 219869 | 1878 el S -

} 2 x GBF (2/0337-EZ | 2/0340-i304) + 2 x B1 (2/4356-EZ | 2/4925-1304)

ﬂ

31

40



BASORFIL ,
1INy 7 S&-basor

-y

GBF
| Ez | HDG 304 316 818
NERNEEEEETE R eu REE € /
GBF | 200337 | 027 | 20339 | 030 | 20340 | 066 | 21104 | 082

18

Q.

28

Pap 1304
OB ReE e | rer | eu IS

UCBF | 6 | 25059 | 264 | 25060 | 274 | 25093 | 441

BFR100 x 2u ; BFR150 x 3 u; BFR200 x4 u
BFR300 x 5u ; BFR400 x 6 u; BFR500 x 7 u: BFR600 x 8 u

uJUER-BFR 60/65i304

i304
REF. €l s
JUER-BFR 60/65 1304 | 27018 | 2233 ;
A 2xTBF+2x81 i e
35 55 1q
MU
L e 304 316
mm - mm €lu m REF.  €u  REE €/ 0
MUS00 | 500 | 1 | 20357 | 206 | - | - | 20872 344 |214244| 467 1875 0
MU275 | 275 | 15 |2/10007| 146 | - : : N UE]
A TBF/(GBF+BD) -
U
0
e,

£38 | 4]

BASORFIL[LJ) scM



BASORFIL

m- SE-basor

SSC

N

PG HDG i304 ©

REF. €/u REF. €l =FSs————————
sse | 20064 | 071 | 20363 | 084 | 20373 | 146
- @8

¥ = m

BFR/BF2R 65-200

SL
| PG [ HDG [
REF | eu [N
sL | 200355 | 256 | 200365 | 433 | 20375 | 7,15
Mod. 60x65 - 100x65.

40

BASORFIL (L) scM

i304 128

| P | HDG |
ESEEKEKEEEEEEE <

SLS | 20360 | 129 | 20370 | 184 | 2/0380 | 400

/v BFR/BF2R 60x65 - 100x65 /-« BFR/BF2R 60x65..200x65

jp=]=N e
103

30 19

REE. | €u
| 25724 | 232 25 o 25

=
H35 + VR8/VRI10 =
55

42 | e38



BASORFIL

N

STBF 100X65 GS

SE_Dbasor

BELECTARIC

| 6|
REF. €lu
STBF 60X65 GS 2117314 | 4,22
STBF 100X65 GS 2/0886 | 4,22
STBF 100X35 GS 209675 |

M

70

7x7

120
=
I

| 92

]

STB

PG HDG i304
REE. | €u [T
| 210356 | 544 | 20366 | 944 | 20376 | 1033

X

L
;
¥

127

STBU

REF. €lu

26 97
—
| 25834 | 656 —
T I
106
g
x7,5 L5
N o NV
mm REF. €/u REF. €lu
| 15 210253 | 185 | 210254 | 3,05 o s
& am
1,5

e38 | 43

BASORFIL L) scM



-

BASORFIL (L) scM

BASORFIL
A

—_

e Dbasor

BELECTARIC

1304
[ Rer | eu | ReE | eu [EETTANET

| 210358 | 944 | 2/0368 | 1500 | 200378 | 2089

suc

SucC

X

'I@I' 29-70 mm

79x50, 98-128x50, 15-55x82

' 1:30-147

PG HDG 304
REE | €u | REE | €u [T g
| 200359 | 1,80 | 20369 | 248 | 20379 | 978 T2 o o] [T
ad [ %]
L p]
+olo ok
2] L1s]
48
73
SUCM 35
PG HDG i n
REE_| eu | REE | eu [ =N
SUCM 35 | 26343 | 411 | 277256 | 567 | & %L ¢ g :El
A 20 TBF (436262 - 27132HDG - 2/49234304) cER] gﬂi
‘*\ag ®
=03
9_7é
BJC
PG HDG
REE | €u | REF | €u :Lr%
| 26451 | 9,06 | 206452 | 12,44 = \\m j
18x7,5
é)@@ O 0|

OO T T)O0
————

[@> N e Nan] O 0|
(@R an e O 0|
= | 6| "
A REE | e [ —

BIGM G | 20807 | 7,44 \\ 5
X 19,5 -

é O O (@)
[ b N e [ X! N




BASORFIL
AN S& basor

-

SFL
PG|

=K
| 25906 | 622 { Lus I

25x7,5

PBF
N PG | Hoc [N s
O REE | €u | REE | eu [N ——kn
| 15 | 5590 | 467 | 24397 | 6,00 | 218777 | 844 sL j \L
= |60 | 85
8,5
o Jd o
7]
D o0 O
15x6,5
PBF 60 i304
B e i304
mm inch mm REF. €lu
PBF 60 i304 | 60 | 238 | 15 | 27304 | 633 j l B
X ey 2
B 12x8
8 ]]]@I]I
35x7,5
SFS 140 GS
e e

mm m €lu
SFS 140 GS 2 | o602 | 489

A CSV0+(2xB1) =y

®7,5 (B1)
‘ <
1

142

45

BASORFIL L) scM



U BASORFIL

AN A —

BASORFIL (L) scM

e Dbasor

BELECTARIC

ke
i | G

| 208231 | 9,20

20

——

60

r

7,5¢7,5 (B1)

R
>

120
100

CFBFRA41 i304

CFBFR41i304

i304
REF. €
| 2noss | 203

R3

/Qi\j:\

© Bosor| (crerrer C€)
=

27 20 27
REF. €lu
TDC 2/5066 ACC
BPZ 27224 ACC

TDC

46 | £38




iC

BELECTR

SE_Dbasor

E38 | 47



—

— -
—

|
- .l
= e




(a =)

=] basorfrav

[ - 'ﬂ

gl SNINNNANY

E

X
R =
o, % .\‘\_\

e e e




BASORTRAV

-E‘ P SE_Dbasor

BELECTARIC

ry

—
E
[~
(=]
wn
=T
(--]

CERTIFIED
SAFETY US

L >0 iy QX&&‘U ﬂljzcc ﬁ\% u’ Eclf
[

20J s 0%
UNE-EN 61537 UNE-EN 61537

UNE 23727 UNE-EN 61537 UNE-EN 61537
UNE-EN 61537
TFE CPFE 60 CCCXFE 60 TEFE 60 CRFE 60 REFE 60
P, -2z == &l
\_ BFE PTFE JUFE 60 JUFE-A 60 JUFE-B 60 B2 M8X15 )
7
B H60 (2 1/3")
mm inch cm? in?
100 4" 45 7,0
150 6" 67 104
200 8" 89 138
300 12" 134 20,8
400 16" 178 276
500 20" 223 36,1
600 24" 267 414

B0 | e32



BASORTRAV
 FE HG0 . Dasor

BELECTRIC

—J FE H60
B i e BTN .
e o nen on [EARICEE 23 3| N
FE 100160x1,5-333 3M GC 100 | 4" | 63 |2127| 15| 20749 | 4333 SR A S
FE 150160x1,5-333 3M GC 150 | 6" | 632127 | 15| 20750 | 4533 HE| [,
FE 200160x1,5-333 3M GC 200 8 | 63 |2112| 15| 20751 | 47,33 : By
FE 300160x1,5-333 3M GC 300| 12" | 63 [2112| 15 | 20752 | 5122 s
FE 400160x1,5-333 3M GC 400 | 16" | 63 |21 | 15| 20783 | 5522 .
FE 500160x1,5-333 3M GC 500| 20" | 63 |21/2"| 155 | 200754 | 6167 A
8 FE 600x60x1,5-333 3M GC 600 | 24" | 63 |21/2'| 155 | 20075 | 65,56
o ===
¥ 4/100x B2 (216792-HDG) @! L ==
E} ; ZOXQH | —
@
BN oo e =
mm inch | mm [EINIEEH B+38 S
TFE 100¢1,5 3M 6C 100 4 |15 24937 | 3078 2
TFE 150¢1,5 3M 6C 150 | 6 | 15| 2472 | 39,00
TFE 200¢1,5 3M 6C 2000 8 | 15| 2473 | 4833
TFE 300¢1,5 3M 6C 300| 12' |15 23579 | 6344
TFE 400¢1,5 2M 6C 400| 16" | 15| 24430 | 7989
TFE 500¢1,5 2M 6C 500| 20" | 1,5 | 24509 | 9678
TFE 600x1,5 2M 6C 600| 24" | 15| 2% | 1311 =
L=3m(10ff) %
400/500/600 - L= 2 m (6,56 t) L 2 L

(omm)|
TFEL
o NN

inch

TFEL 100x0,8 3M GC 100 4" |0,8 | 2/10000
TFEL 150x0,8 3M GC 150 | 6" |0,8 | 2/10001
TFEL 200x0,8 3M GC 200 8 |08 | 2/10002
TFEL 300x0,8 3M GC 300 12" |08 | 2/10003 | ‘@
TFEL 400x1 2M GC 400 | 16" 1 | 2/10004
TFEL 500x1 2M GC 500 | 20" 1 | 2/10005
TFEL 600x1 2M GC 600 | 24" 1 | 2/10006 5

L=3m(10f) g

400/500/600 - L= 2 m (6,56 ) a2l

@ CPFE 60

g i e
mm inch mm inch mm [EZEEIETE I[’;’I N

CPFE-125 100x60x1,5 GC 100 4" |63 [212]1,5] 20770 | 70,89 < 0o
4 CPFE-125 150x60x1,5 GC 150| 6 | 63 212 15| 200771 | 76,89

CPFE-125 200460x1,5 GC 20| 8 |63 (2127 | 15| 200772 | 8322 s 03

CPFE-125 300460x1,5 GC 300| 12 | 63 2127 | 15| 200773 | 9556 0]

CPFE-125 400x60x1,5 GC 400 | 16" | 63 [21/2"| 15| 200774 | 107,44 N

CPFE-125 500460x1,5 GC 500 | 20" | 63 |21/2"| 15| 200775 | 120,00

CPFE-125 600x60x1,5 GC 600 | 24" | B3 2112 | 15| 200776 | 13356 ==

’ 4/100 x B2 (2/6792-HDG)
F] B 125 133

N

80
1

—
N




=, BASORTRAY
=T A JFEHGD S&-basor

Q CCCXFE 60
B i e TN
mm inch mm inch mm m

CCCXFE 100x60x1,5 GC 100 4" |63 |212"| 15| 2/5222 | 81,11
CCCXFE 150x60x1,5 GC 150 | 6" | 63 |21/22"| 1,5 2/5223 | 83,00
CCCXFE 200x60x1,5 GC 200 8" |63 |212"| 15| 2/5224 | 86,22
CCCXFE 300x60x1,5 GC 300 | 12" | 63 |21/2"| 1,5 2/5225 | 92,33
CCCXFE 400x60x1,5 GC 400 | 16" | 63 |21/2"| 1,5 | 2/5226 | 98,44
CCCXFE 500x60x1,5 GC 500 | 20" | 63 |21/2"| 1,5 | 2/5227 | 104,56
CCCXFE 600x60x1,5 GC 600 | 24" | 63 |21/2"| 1,5 | 2/5228 | 110,78

} 4/100 x B2 (2/6792-HDG)

=
=
O
(7]
) W
E TEFE 60
g g T <] Y [
§ mm inch mm inch mm m | B 20:9
=3 TEFE-125 100x60x1,5 6C 100 4 |83|212']15] 20812 | 93,78 2
TEFE-125 150x60x1,5 6C 150 | 6 | 63 |21/2'| 1,5 | 20813 | 10267 ===
TEFE-125 200x60x1,5 6C 200 8 |63 |2127| 15/ 20814 | 11156 P \4ﬁ
TEFE-125 300x60x1,5 6C 300 | 12' | 63 |21/ | 1,5 | 20815 | 12578 N
TEFE-125 400x60x1,5 6C 400 | 16" | 63 |21/2| 1,5 | 2/0816 | 140,00 A — 11—
TEFE-125 500x60x1,5 6C 500 | 20" | 63 [21/2" | 1,5 | 20817 | 15433 :
TEFE-125 600x60x1,5 6C 600 | 24" | 63 |21/2"| 1,5 | 2/0818 | 16856 a
¥ 4/100 xB2 (216792-HDG) m:' - H o
")
@ CRFE 60
B NN Hoe | .
am inch omnch oo [CARECTE @ e =
CRFE-125 100x60x1,5 GC 100 4' |63 |2127] 15| 20833 | 110,78 , 209 Y o
CRFE-125 150x60x1,5 GC 150| 6 |63 |212'| 15| 2083% |12289 | |
5 CRFE-125 200x60x1,5 GC 200| 8 |63 |21/2| 15| 20835 | 13511 o
CRFE-125 300x60x1,5 GC 300| 12' |83 |21/2| 15| 20836 | 15589 T 2 |
CRFE-125 400x60x1,5 GC 400| 16" | 63 |21 | 15| 20837 | 18000  Z=| b
CRFE-125 500x60x1,5 GC 500 | 20" | 63 |21/ | 1,5 | 2/0838 | 20078 il N
CRFE-125 600X60X1,5 GC 600 | 24" | 63 [21/2"| 15 | 200839 | 250,11 N 5
’ 12/100 x B2 (2/6792-HDG) B 125/ 133
")
REFE 60
B i e T |9
mm inch mm inch mm [IEEIETE -- G U g D
REFE 50160 GC 50 | 2’ |63 212 2 | 26799 | 578 :
REFE 100x60 6C 100| 4" |63 |212'| 2 | 26800 | 667 46117
REFE 150x60 6C 150 | 6' |63 |21/2'| 2 | 26801 | 767
REFE 200x60 6C 200| 8 |63 |21/2"| 2 | 26802 | 856

/41100 % B2 (2/6792-HDG)

X

92



BASORTRAV

-EI A -=E. Dasor

% BELECTARIC
BFE
e HDG o o
= ]
@ N REE | €l - -
BFE 6/8 6C 2 | 20863 | 118 00 20012
BFE 10/12 GC 3 | 2084 | 118 é B é
|15 ] 15 ] | 15 ] 15 ]
55 55
M-6/8 M-10/12
@ PTFE i304
Pap e i304 185 2
Nm mm  REF €lu % w
PTFE i304 | 6| 2 | 27084 | 228 Al

1
|

}4 2 —1m— m:]

M6x25

JUFE 60/75

eor

N oo |
i 20 40
mm inch ~mm [ €lu i — 25%9
JUFE 60775 GC (60 [213'] 2 | 20854 | 272 _ é}
o O [}

A 4100 x B2 (2/6792-HDG)

H-1

JUFE-A 60/75

H e
mm inch ~mm L3 €lu
JUFE-A 60/75 GC 160 [213'| 2 | 20857 | 522
A 4/100xB2 (266792-HDG)
) JUFE-B 60/75
H e HDG
om (inch (on EECANNCT 0
JUFE-B 60/75 GC 160 [213"] 2 | 200860 | 4,22 ;] 0 —
e
}‘ 47100 x B2 (2/6792-HDG) 24
% | B2-100
P CTCHE 3
v EEIET reE cn
_— m B2-100 | 15 | 26792 | 67,11 | 215392 | 150,11 %"{
q ﬂ ©20 ‘ 15

E38 | 53

=
(8]
(V]
>
=
(=
3
=




=)
PS

BASORTRAV

" AFEHED

SE_Dbasor

BELECTARIC

==|'SCM

—
E
[~
(=]
wn
=T
(--]

H PG HDG
mm - inch | €em | REE | €m |
PS 35 35 [ 138" | 23476 | 489 | 23479 | 567 20
A 82 L=3m-3/100 (26792) :U N M
PS 35— HEO. 0
M x8,5
L=3m(10ft) D
i
I
6] BJCFE
e 15
BICFE FE 100 6C 15 | 2710021 | 1800 =
BICFE FE 150 6C 15 | 21002 | 2311 3
BICFE FE 200 6C 15 | 2710023 | 2822
BICFE FE 300 6C 15 | 2710024 | 3822
BICFE FE 400 GC 15 | 2710025 | 4678 —
BICFE FE 500 6C 15 | 2710026 | 55,22 R
BIGFE FE 600 6C 15 | 210027 | 6378 S o oo
o O (@] a 0
(@) (@n] (@)
? (=] a ]

20x9

LY/ =E



BASORTRAV

SE_Dbasor

BELECTARIC

SAFETY US

BASORTRAV (5| SCM

CERTIFIED

R I N A

UNE-EN 61537 UNE-EN 61537 20
UNE 23727 UNE-EN 61537 UNEEN61537 L—"I
UNE-EN 61537
CPFE CCFE CXFE TEFE CRFE
TFE JUFE JUFE-A %
<=z o Lk
REFE BFE PTFE B2 M8X15 )
%
B H75 (3") H100 (4") H120 (4 5/1") H150 (6”)

mm inch cm? in? cm? in? cm? in? cm? in?

100 4" 59 9,1 84 13,0

150 6" 89 13,8 126 195 156 242 201 312

200 8" 118 18,3 168 26,0 208 32,2 268 415

300 12" 171 274 252 391 312 484 402 62,3

400 16" 236 36,6 336 52,1 416 64,5 536 831

500 20" 295 457 420 65,1 520 80,6 670 1039

600 24" 354 54,9 504 78,1 624 96,7 804 1246

£38 | Bh



=
(8]
(V]
=
=
o=
7]
=

@ FE H75

4

L=3m(10ft)

@ FE H100

L=3m(10ft)

o
1 XN :

L=3m(10f)

@ FE H150

L=3m(10ft)

36

BASORTRAV

SET

B NN HDe |
mm inch mm inch mm [EINIEEE
FE 100x75x2-333 3M GC 100 | 4" | 75 | 3" | 2 | 2/0865 | 56,22
FE 150x75x2-333 3M GC 150 | 6" | 75 | 3" | 2 | 2/0866 | 58,11
FE 200x75x2-333 3M GC 200 | 8 | 75 | 3" | 2 | 2/0867 | 60,00
FE 300x75x2-333 3M GC 300 | 12" | 75 | 3" | 2 | 2/0868 | 63,78
FE 400x75x2-333 3M GC 400 | 16" | 75 | 3" | 2 | 2/0869 | 67,56
FE 500x75x2-333 3M GC 500 | 20" | 75 | 3" | 2 | 2/0870 | 73,89
FE 600x75x2-333 3M GC 600 | 24" | 75 | 3" | 2 | 2/0871 | 77,67
A 4100xB2 (26792-HDG) @H
o=
B N HDe |
mm inch mm inch mm m
FE 100x100x2-333 3M GC 100 | 4" | 100 | 4" | 2 | 2/0872 | 71,11
FE 150x100x2-333 3M GC 150 | 6" | 100 | 4" | 2 | 2/0873 | 73,00
FE 200x100x2-333 3M GC 200 | 8" | 100 | 4" | 2 | 2/0874 | 74,89
FE 300x100x2-333 3M GC 300 | 12" | 100 | 4" | 2 | 2/0875 | 78,67
FE 400x100x2-333 3M GC 400 | 16" | 100 | 4" | 2 | 2/0876 | 8244
FE 500x100x2-333 3M GC 500 | 20" | 100 | 4" | 2 | 2/0877 | 88,78
FE 600x100x2-333 3M GC 600 | 24" | 100 | 4" | 2 | 2/0878 | 92,56
A 4100%B2 (26792-HDG) @H
_E
B Hoooe
mm inch mm inch mm m
FE 150x120x2-333 3M GC 150 | 6" | 120 |45/7"| 2 | 2/6854 | 82,78
FE 200x120x2-333 3M GC 200 | 8" | 120 |45/7"| 2 | 2/6855 | 85,11
FE 300x120x2-333 3M GC 300 | 12" | 120 |45/7"| 2 | 2/6856 | 89,67
FE 400x120x2-333 3M GC 400 | 16" | 120 [45/7"| 2 | 2/6857 | 94,33
FE 500x120x2-333 3M GC 500 | 20" | 120 |45/7"| 2 | 2/6858 | 101,44
FE 600x120x2-333 3M GC 600 | 24" | 120 |45/7"| 2 | 2/6859 | 106,11
/¥ 4100%B2 (2/6792-HDG) @H
B NN HDG |
mm inch mm inch mm m
FE 150x150x2-333 3M GC 150 | 6" | 150 | 6" | 2 | 2/6860 | 95,56
FE 200x150%2-333 3M GC 200 | 8" | 150 | 6" | 2 | 2/6861 | 100,33
FE 300x150x2-333 3M GC 300 | 12" | 150 | 6" | 2 | 2/6862 | 105,00
FE 400x150x2-333 3M GC 400 | 16" | 150 | 6" | 2 | 2/6863 | 109,56
FE 500x150x2-333 3M GC 500 | 20" | 150 | 6" | 2 | 2/6864 | 114,22
FE 600x150x2-333 3M GC 600 | 24" | 150 | 6" | 2 | 2/6865 | 118,89

/¥ 8100xB2 (216792-HDG)

R o=

Q.

. Dasor

BELECTARIC

=12 17
e
ST r‘
il | &
o =%
B
qmcm = o
25x8.5
M|
]
| —l
q;‘) DDDDDD
“1l 20x0
o

333

20x9

-

%
®

14

n

Solooo

25x8.5

333

1120
150

—
[E
167

333

o |

20x9 [d

)
\

° A

g 8




E BASORTRAV

|  HDG |

mm inch mm inch mm [EZEEICEN
FE 100x75x2-250 3M GC 100 4" |75 | 3" 2/6215 | 5897
FE 150x75x2-250 3M GC 150 | 6" | 75 | 3" 2/6992 | 61,75
FE 200x75x2-250 3M GC 200 8" | 75 | 3" 2/7003 | 64,54
FE 300x75x2-250 3M GC 300 12" | 75 | 3" 2/6239 | 70,12
FE 400x75x2-250 3M GC 400 | 16" | 75 | 3" 2/4954 | 75,68

FE 50075x2-250 3M GC 500 20" | 75 | 3" 27004 | 81,26
FE 600x75¢2-250 3M GC 600 | 24" | 75 | 3" 26216 | 86,82
L=3m(10ft)

)'v 4/100 x B2 (2/6792-HDG) @H
o=

N D DD DD N NN

@] FE H100-250

B NN  HDG |

mm inch mm inch mm [EZEEICEN
FE 100x100x2-250 3M GC 100 | 4" | 100 | 4" | 2 | 2/7005 | 69,42
FE 150x100x2-250 3M GC 150 | 6" | 100 | 4" | 2 | 2/6059 | 72,07
FE 200x100x2-250 3M GC 200 8" [100| 4" | 2 | 2/6249 | 7472
FE 300x100x2-250 3M GC 300 12" 1100 4" | 2 | 2/6060 | 80,02
FE 400x100x2-250 3M GC 400 | 16" | 100 | 4" | 2 | 2/6061 | 85,34
FE 500x100x2-250 3M GC 500 | 20" | 100 | 4" | 2 | 2/7006 | 90,64
FE 600x100x2-250 3M GC 600 | 24" | 100 | 4" | 2 | 2/6062 | 95,95

L=3m(10f)

A H100xB2 (216792-HDG) @H
o=

[é] FE H120-250

B NN Hoo
mm inch mm inch mm m
FE 150x120x2-250 3M GC 150 | 6" | 120 [45/7"| 2 | 2/7024 | 8051
FE 200x120x2-250 3M GC 200| 8" [120|45/7"| 2 | 2/7025 | 8346
FE 300x120x2-250 3M GC 300 | 12" [120|45/7"| 2 | 2/7026 | 89,34
FE 400x120x2-250 3M GC 400 | 16" | 120 | 45/7" | 2 | 2/7027 | 9523
- FE 500x120x2-250 3M GC 500 | 20" | 120 | 45/7"| 2 | 2/7028 | 101,11
FE 600x120x2-250 3M GC 600 | 24" | 120 |45/7"| 2 | 2/7029 | 107,00

) 4/100x B2 (2/6792-HDG) @H
L=3m(10f)
X o=
=

@ FE H150-250

B N HDG |

mm inch mm inch mm m

FE 150x150x2-250 3M GC 150 | 6" | 150 | 6" | 2 | 2/7030 | 101,55

FE 200x150x2-250 3M GC 200 8" |150| 6" | 2 | 2/7031 | 104,80

FE 300x150x2-250 3M GC 300 12" 150 | 6" | 2 | 2/7032 | 111,31

FE 400x150x2-250 3M GC 400 | 16" | 150 | 6" | 2 | 2/7033 | 117,81

FE 500x150x2-250 3M GC 500 | 20" | 150 | 6" | 2 | 2/7034 | 12431

FE 600x150x2-250 3M GC 600 24" |150 | 6" | 2 | 2/7035 | 130,82

}‘ 8/100x B2 (2/6792-HDG) @H
L=3m(10ft)

. Dasor

BELECTRIC

Vi

o a s

o

20x9

9

S oo o o o

250

8 i o
N i
. I B
2ol = =
25x8.5
o
&
I ——l
(DQ. DDDDDD
“1l 20x0
g1
15 & o
=t 8 T
I
B
_ 4
8 =]
<] l& .
B <l o
S o6 oo
25x8.5
(=]
&
%tftzxzf:%:
%9 DDDDDD
el
o 20x9 ﬂ:
e ] M
3= g | =
8,
f
B
3 I o
E o ﬂ'ﬁl E
<
o olo oo
25x8.5
o
&
| P
N —
o
o200 ﬂ ‘
@ g

=
(8]
(V]
=
=
o=
7]
=




BASORTRAV
=Y SE.basor

BLECTAIC
¥ crre

B H £ 2019

mm inch mm inch mm [T - Ay
CPFE-300 100x75x2 GC 100 4" | 75 | 3" | 2 | 2/0887 | 122,00 B 29" |80
CPFE-300 150x75x2 GC 150 6" | 75 | 3" | 2 | 2/0888 | 129,33 ==
CPFE-300 200x75x2 GC 200 8" | 75| 3" | 2 | 2/0889 | 136,79 :
CPFE-300 300x75x2 GC 300(12"| 75| 3" | 2 | 2/08%0 | 15156 N !
CPFE-300 400x75x2 GC 400 | 16" | 75 | 3" | 2 | 2/0891 | 176,89 N -
CPFE-300 500x75x2 GC 500 20" | 75 | 3 2 | 2/0892 |210,89 )
CPFE-300 600x75x2 GC 600 | 24" | 75 | 3" | 2 | 2/0893 | 227,67 25565 %
CPFE-300 100x100x2 GC 100 4" 100 | 4" | 2 | 2/089%5 |137,22 Seo=
CPFE-300 150x100x2 GC 150 | 6" | 100 | 4" 2 | 2/08% | 14522 2
CPFE-300 200x100x2 GC 200 8" | 100| 4" | 2 | 2/0897 | 15333
CPFE-300 300x100x2 GC 300 | 12" 100 | 4" | 2 | 2/0898 | 16956
CPFE-300 400x100x2 GC 400 | 16" | 100 | 4" | 2 | 2/0899 |196,33 CPFE H75/100/120
CPFE-300 500x100x2 GC 500 20" | 100 | 4" | 2 | 2/0900 | 231,78
CPFE-300 600x100x2 GC 600 | 24" | 100 | 4" | 2 | 2/0901 | 249,89
CPFE-300 150x120x2 GC 150 | 6" | 120 |45/7"| 2 | 2/6880 | 160,78
CPFE-300 200x120x2 GC 200 | 8" | 120 |45/7"| 2 | 2/6881 | 170,33
CPFE-300 300x120x2 GC 300 | 12" | 120 |45/7"| 2 | 2/6882 | 189,44
CPFE-300 400x120x2 GC 400 | 16" | 120 |4 5/7" | 2 | 2/6883 | 221,00
CPFE-300 500x120x2 GC 500 | 20" | 120 |45/7"| 2 | 2/6884 | 259,89
CPFE-300 600x120x2 GC 600 | 24" | 120 |45/7" | 2 | 2/6885 | 28144
CPFE-300 150x150x2 GC 150 | 6" |150 | 6" | 2 | 2/6886 |179,78
CPFE-300 200x150x2 GC 200 8" | 150 | 6" | 2 | 2/6887 | 190,22
CPFE-300 300x150x2 GC 300 | 12" | 150 | 6" 2 | 2/6888 | 211,00
CPFE-300 400x150x2 GC 400 | 16" | 150 | ©" 2 | 2/6889 | 24433
CPFE-300 500x150x2 GC 500 | 20" | 150 | 6" 2 | 2/6890 | 284,78
CPFE-300 600x150x2 GC 600 | 24" | 150 | 6" | 2 | 2/6891 | 308,00

) CPFE H150

4/100 x B2 (2/6792-HDG) (8/100 x B2 1 150)

@ CCFE

DR o |
mm inch mm inch mm [ETANECTE
CCFE-300 100x75x2 GC 100 4" | 75| 37 | 2| 2479 | 12278
CCFE-300 150x75x2 GC 150| 6" | 75 | 3" | 2 | 2/45% | 12667
CCFE-300 200x75x2 GC 2008 | 75| 3 | 2 | 21548 | 130,56
CCFE-300 300x75x2 GC 300 12'| 75 | 3 | 2 | 24549 | 138,22
CCFE-300 400x75x2 GC 400 16"| 75 | 3" | 2 | 200802 | 14600
CCFE-300 500%75x2 GC 500 (20" | 75 | 3 | 2 | 2/0803 | 15378
CCFE-300 600x75x2 GC 600 | 24" | 75 | 3" | 2 | 2/0804 | 161,56 /187,5 |
CCFE-300 100x100x2 6C 100| 4" |100| 4" | 2 | 2/0805 | 14578 ==y i
CCFE-300 150x100x2 6C 150 | 6" |100| 4" | 2 | 200806 | 149,67 e |
CCFE-300 200x100x2 66 200 8" |100| 4" | 2 | 20807 | 18356 i i T
CCFE-300 300x100x2 6C 300 | 12" [100| 4" | 2 | 2/0808 | 161,22 0 :
CCFE-300 400x100x2 GC 400| 16" [100| 4" | 2 | 2/0809 | 169,00 e | '
CCFE-300 500x100x2 GC 500 20" | 100 | 4" | 2 | 200810 | 176,78 e 1751007120
CCFE-300 600x100x2 6C 600 | 24" | 100 | 4" | 2 | 2/0811 | 184,56
CCFE-300 150x120x2 GC 150 | 6" | 120 457" | 2 | 26892 | 17144
CCFE-300 200x120x2 6C 200 8" |120 457" | 2 | 206893 | 176,22
CCFE-300 300x120x2 GC 300 | 12| 120|457 | 2 | 2/6894 | 18589
CCFE-300 400x120x2 6C 400 | 16" | 120 457" | 2 | 206895 | 19544
CCFE-300 500x120x2 6C 500 | 20" | 120|457 | 2 | 2/689 | 205,00
CCFE-300 600x120x2 6C 600 | 24" | 120|457 | 2 | 2/6897 | 214,56
CCFE-300 150x150x2 6C 150 | 6" [150 | 6" | 2 | 2/6898 | 202,00
CCFE-300 200x150x2 6C 200 8 |150| 6 | 2 | 2/6899 | 206,78
CCFE-300 300x150x2 66 300 12150 | 6" | 2 | 2/6900 | 216,44
CCFE-300 400x150x2 66 400 | 16" |150 | 6 | 2 | 206901 | 226,00 ;
CCFE-300 500x150x2 66 500 | 20 |150 | 6" | 2 | 2/6902 | 235,56 =85
CCFE-300 600x150x2 6 600 | 24" [150 | 6" | 2 | 266903 | 24511 7| T ! T
A 4 JUFE(H75/100/120/150) ) L.

CCFE H150

98



BASORTRAV
N A FE SE._basor

BELECTARIC
@CXFE

B RN e |

mm inch mm inch ~mm m I[
CXFE-300 100x75x2 GC 100 4" | 75| 3" | 2 | 20909 | 122,78
CXFE-300 150x75x2 6C 150 6" |75 | 3" | 2 | 200910 | 12667
CXFE-300 200x75x2 GC 200( 8 | 75| 3 | 2 | 20911 |13056
CXFE-300 300x75x2 6C 300 (12| 75| 3 | 2 | 20912 |13822
CXFE-300 400x75x2 6C 400 16" | 75 | 3' | 2 | 20913 | 14600
CXFE-300 500x75x2 6C 500 (20" | 75| 3 | 2 | 20914 [15378 %
CXFE-300 600x75x2 GC 800 | 24" | 75 | 3 | 2 | 2/0915 | 16156
CXFE-300 100x100x2 6C 100| 4" [100| 4" | 2 | 200916 | 14578 = i
CXFE-300 150x100x2 6C 150 | 6" [100| 4" | 2 | 200917 | 14967 D :
CXFE-300 200x100x2 6C 200| 8" [100| 4" | 2 | 20918 |1535%6 =T q ] 1
CXFE-300 300x100x2 6C 300 | 12" |100| 4" | 2 | 2/0919 | 16122 g : MH
CXFE-300 400x100x2 6C 400 | 16" [100 | 4" | 2 | 2/0920 | 169,00 ===
CXFE-300 500x100x2 6C 500 | 20" 100 | 4" | 2 | 2/0921 | 176,78
CXFE-300 600x100x2 GC 600 | 24" 100 | 4" | 2 | 2/0922 | 184,56
CXFE-300 150x120x2 GC 150 | 6" (120 [457"| 2 | 2/6904 | 17144
CXFE-300 200x120x2 6C 200| 8' 120 |45/7" | 2 | 266905 | 176,22
CXFE-300 300x120x2 GC 300 | 12" | 120 |45/7" | 2 | 26906 | 18589
CXFE-300 400x120x2 GC 400 | 16" | 120 (457" | 2 | 2/6907 | 19544
CXFE-300 500x120x2 GC 500 | 20" | 120 |45/7" | 2 | 2/6908 | 205,00
CXFE-300 600x120x2 GC 600 | 24" | 120 |45/7" | 2 | 2/6909 | 214,56
CXFE-300 150x150x2 GC 150 | 6" (150 | 6" | 2 | 2/6910 | 202,00
CXFE-300 200x150x2 GC 200| 8" (150 | 6 | 2 | 26911 | 206,78
CXFE-300 300x150x2 6C 300 | 12" 150 | 6 | 2 | 26912 | 21644 B o s ,
CXFE-300 400x150x2 GC 400 | 16" | 150 | 6 | 2 | 26913 | 226,00 | W
CXFE-300 500x150x2 GC 500 | 20" [150 | 6" | 2 | 2/6914 | 23556 i
CXFE-300 600x150x2 6C 600 | 24" 150 | 6" | 2 | 2/6915 | 24511 [ i
/.«4JUFE(H75/100/120/150) ce—altl v .

CXFE H150

@ TEFE

B Hoooe =[]
mm inch mm inch mm [EEAIETH O[ 09 200

#  TEFE-300 100x75¢2 6C 1004 |75 ] 3 | 2 [ 2090 [17789  ALL____]
TEFE-300 150x75x2 6C 150| 6 | 75| 3" | 2 | 20931 | 18578 E
TEFE-300 200x75x2 6C 200 8" | 75| 3 | 2 | 20932 | 20033 \
TEFE-300 300x75x2 GC 300 (12| 75| 3 | 2 | 200033 | 21800 g n
TEFE-300 400x75x2 GC 40016 | 75 | 3 | 2 | 20934 23567 L. A
TEFE-300 500x75x2 6C 500 20" | 75 | 3" | 2 | 20035 | 29167 § §
TEFE-300 600x75x2 GC 600 | 24" | 75 | 3" | 2 | 2/0936 | 31122 :
TEFE-300 100x100x2 GC 100| 4 [100] 4 | 2 | 20937 | 200,67 Va%:
TEFE-300 150x100x2 GC 150 | 6" |100| 4 | 2 | 20938 | 209,00 o |L____ L
TEFE-300 200x100x2 GC 200| 8" [100| 4" | 2 | 2/0939 | 224,00 wE
TEFE-300 300x100x2 GC 300| 12 (100 | 4" | 2 | 2/0940 | 24256 B
TEFE-300 400x100x2 GC 400 | 16" [100| 4" | 2 | 20941 | 261,11 TEFE H75/100/120
TEFE-300 500x100x2 GC 500 | 20 [100 | 4" | 2 | 2/0942 | 31800 _
TEFE-300 600x100x2 GC 600 24 |100| &' | 2 | 20043 | 33844 7 | ey
TEFE-300 150x120x2 GC 150 | 6" | 120 457" 2 | 26916 | 234,44 i 200
TEFE-300 200x120x2 GC 0| g |120la57| 2 | 2607|2521 § |||
TEFE-300 300x120x2 GC 300 | 12" | 120 (457" 2 | 26918 | 27456 :
TEFE-300 400x120x2 GC 400 | 16" [120 |457"| 2 | 26919 | 297,11 zk
TEFE-300 500x120x2 GC 500 | 20" [ 120 45/7| 2 | 26920 | 360,11 :
TEFE-300 600x120x2 GC 600 | 24" | 120 |457"| 2 | 26921 | 385,00 ; :
TEFE-300 150x150x2 GC 150| 6" [150| 6" | 2 | 26922 | 26222 | : -
TEFE-300 200x150x2 GC 200( 8" [150| 6" | 2 | 26923 | 28044 : :
TEFE-300 300x150x2 GC 300 (12" [150 | 6" | 2 | 26924 | 304,00 A,
TEFE-300 400x150x2 GC 400 16" 150 | 6" | 2 | 26925 | 327,56 g
TEFE-300 500x150x2 GC 500 20" [150 | 6" | 2 | 26926 | 39167 %b] °°°°° y
TEFE-300 600x150x2 GC 600 | 24" | 150 | 6" | 2 | 216927 | 41633 .

’ TEFE H150

4/100 x B2 (2/6792-HDG) (8/100 x B2 1 150)

99



=N

=
(8]
(V]
=
=
==
7]
=

@ CRFE

L) <

L=3m(10ft)
400/500/600 - L=2 m (6,56 ft)

60

BASORTRAV

Heoooe

mm inch mm inch mm [EEAEECTE
CRFE-300 100x75x2 GC 100 4" | 75 | 3" 2 | 2/0951 | 237,56
CRFE-300 150x75x2 GC 150 6" | 75 | 3" 2 | 2/0952 | 24522
CRFE-300 200x75x2 GC 20 8" | 15| 3 2 | 2/0953 | 259,67
CRFE-300 300x75x2 GC 300 12" 75| 3 2 | 20954 | 277,11
CRFE-300 400x75x2 GC 400 | 16" | 75 | 3" 2 | 2/0955 | 294,44
CRFE-300 500x75x2 GC 500 20" | 75 | 3" 2 | 2/0956 | 355,89
CRFE-300 600x75x2 GC 600 | 24" | 75 | 3" 2 | 2/0957 | 375,22
CRFE-300 100x100x2 GC 100 | 4" | 100 4" 2 | 2/0958 | 26511
CRFE-300 150x100x2 GC 150 | 6" | 100 | 4" 2 | 2/09%9 | 272,78
CRFE-300 200x100x2 GC 200 8" |100| 4" 2 | 2/0960 | 287,22
CRFE-300 300x100x2 GC 300 12" 100 | 4" 2 | 2/091 | 304,67
CRFE-300 400x100x2 GC 400 | 16" | 100 | 4" 2 | 200962 | 322,11
CRFE-300 500x100x2 GC 500 | 20" | 100 | 4" 2 | 2/0963 | 38344
CRFE-300 600x100x2 GC 600 | 24" | 100 | 4" 2 | 2/0964 | 402,78
CRFE-300 150x120x2 GC 150 | 6" | 120 |45/7"| 2 | 2/6928 | 305,89
CRFE-300 200x120x2 GC 200 | 8" | 120 [45/7"| 2 | 2/6929 | 323,11
CRFE-300 300x120x2 GC 300 | 12" | 120 [45/7"| 2 | 2/6930 | 344,67
CRFE-300 400x120x2 GC 400 | 16" | 120 |45/7" | 2 | 2/6931 | 366,22
CRFE-300 500x120x2 GC 500 | 20" | 120 |45/7" | 2 | 2/6932 | 434,00
CRFE-300 600x120x2 GC 600 | 24" | 120 |45/7"| 2 | 2/6933 | 457,89
CRFE-300 150x150x2 GC 150 | 6" | 150 | 6" 2 | 2/6934 | 339,00
CRFE-300 200x150x2 GC 200 8" |150| 6" 2 | 26935 | 356,22
CRFE-300 300x150x2 GC 300 | 12" | 150 | 6" 2 | 206936 | 377,78
CRFE-300 400x150x2 GC 400 | 16" | 150 | ©" 2 | 2/6937 | 39922
CRFE-300 500x150x2 GC 500 | 20" | 150 | 6" 2 | 2/6938 | 467,11
CRFE-300 600x150x2 GC 600 | 24" | 150 | 6" 2 | 2/6939 | 491,00

e
4/100 x B2 (2/6792-HDG) (8/100 x B2 1 150)

N HDG |

mm inch mm m
TFE 100x1,5 3M GC 100 | 4" | 1,5 | 2/4937 | 30,78
TFE 150x1,5 3M GC 150 | 6" | 1,5 | 2/4472 | 39,00
TFE 200x1,5 3M GC 200 8" | 1,5 | 2/4473 | 4833
TFE 300x1,5 3M GC 300 | 12" | 1,5 | 2/3579 | 63,44
TFE 400x1,5 2M GC 400 | 16" | 1,5 | 2/4430 | 79,89
TFE 500x1,5 2M GC 500 | 20" | 1,5 | 2/4509 | 96,78
TFE 600x1,5 2M GC 600 | 24" | 1,5 | 2/4494 | 113,11

X @

. Dasor

BELECTARIC

@9

o | | T4

150

150

80

20x9

P

L

B

»9
[k | | N7
20x9
i/ -
: ;
: :
_ : ;
i
: :
o |9
: ;
; :
; :
[F====5
B
CRFE H150
B+38




BASORTRAV

—_—=Tn SE_basor

@ TFEL

B e HDG [_j
mm inch ~mm [ €m B+38

TFEL 100%0,8 3M 6C 100 4 |08 | 210000
TFEL 15040,8 3M 6C 150 6 |08 | 210001
TFEL 200%0,8 3M 6C 200| 8 |08 2/10002
TFEL 300%0,8 3M 6C 300| 12' | 08| 210003 |
TFEL 400x1 2M 6C 400 16 | 1 | 2/10004
TFEL 500x1 2M GC 500 | 20" | 1 | 2/1000
TFEL 600x1 2M GC 600 | 24' | 1 | 2/10006 5
L=3m(10f) %
400/500/600 - L= 2 m (6,56 1) e
p3
(8]
(V]
I . m
PTFE i304 b
—
Pap e 1304 185 25 £
Nm  mm REF. €lu f : g
PTFE i304 | 6| 2 | o054 | 228 4 g =
) 2% —1m— %7
2 M6x25

ey

iy
yo

H PG HDG i304 "
UBRSB REE | €m | REE | em [T z
PS 35 35 | 138" 23476 | 489 | 23479 | 567 | - . 20
PS 60 60 |21/3"| 212066 | 600 | 213480 | 7,78 | 23645 | 2033 0 JL
PS 80 80 |31/7"| 23477 | 733 | 23481 | 944 : | L
PS 100 100| 4" | 23478 | 833 | 23482 | 1100 | 255138 | 2989 0
A B2 L=3m-3/100 (26792) U e
L=3m(10f) I
PS 35— HB0, PS 60— H75, PS 80—H100, PS 100-H120/H150. .
U - . L
I
C 150
BICFE FE 100 GC 15 | 2110021 | 18,00 %
BIGE FE 150 GC 15 |2m002 | 311 g
BIGFE FE 200 6C 15 | 210023 | 2822
BIGFE FE 300 6C 15 | 210024 | 3822
BICFE FE 400 GC 15 | 210025 | 4678 _—
BIGFE FE 500 GC 15 | 210026 | 5522 R
BICFE FE 600 GC 15 | 210027 | 6378 o o o
o (e [an] o @
O O (@] i}
? [@n] (@) i}
20x9

£38 | 61



BASORTRAV

HET

=7 = E=. basor
%%‘ ELECTRIC
B suee
H B  HoG |
JUFE 60/75 GC 75 | 3 2 | 20854 | 2,72 5 C\> =N= j
JUFE 100 GC 100 | 4 | 2 | 208% | 544 2% O o
JUFE 120 GC 120 |457| 2 | 256940 | 6,78 160
JUFE 150 GC 150 | 6" | 2 | 26941 | 889 JUFE 75
}‘ 4/100 x B2 (2/6792-HDG) / 8/100 x B2 1150 (=] 2 50
. e
NN D o O oo
* 25x97 O @73
180
JUFE 100/120
p3
(&) 50 40
(V] 1
i L Ly
E Q U [anD) Qm
= 25%9 S
g 180
JUFE 150
@ JUFE-A
H e
o ineh o [T
JUFE-A 60/75 6C 75 | 3 | 2 | 20857 | 522
JUFE-A 100 GC 100 | 4" | 2 | 20859 | 10,11 )
(@] @E
JUFE-A 120 GC 120 [457"| 2 | 256942 | 12,33 o=
JUFE-A 150 6C 150 | 6" | 2 | 26943 | 1544 0
JUFE-A 75/100/120
}4 4/100 x B2 (2/6792-HDG) / 8/100 x B2 1150 e >y
JUFE-A 150
(2
S5
JUFE-B
H e HDG
mm inch  mm REF. €lu S 0 )
JUFE-B 60/75 GC 5|3 2 | 2/0860 | 4,22 | Nozsxo 0
JUFE-B 100 GC 100 | 4 | 2 | 20862 | 7,78 264 58
JUFE-B 120 GC 120 [4577| 2 | 256944 | 9,33 JUFE-B 75/100
JUFE-B75 JUFE-B 150 GC 150 | 6 2 | 2/6945 | 1333
A 4100 B2 (2/6792-HDG) / 8/100 % B2 1150 e >y 0
5 0«
\97.5x9 0
58
264
JUFE-B 120
JUFE-B 150
C D D C
ﬁ ( 97.5)(9) 8 . 2
0 5
58
264
JUFE-B 150

62 | e3¢




BASORTRAV

=l SE_basor
REFE

B N Hoe | |
mm inch mm inch mm .;ﬁ.- B 259
REFE 50x75x2 GC 50 | 2 [ 15| 3 | 2 | 26803 | 844 =10 0 [f
REFE 100K75x2 GC 100 4 | 75| 3 | 2 | 26804 | 9,89 |
REFE 1504752 GC 150 6" | 75| 3 | 2 | 26805 | 11,33 o
REFE 200x75x2 GC 200 8 | 75| 3 | 2 | 26806 | 1278
REFE 50x100x2 GC 50 | 2 [100| 4 | 2 | 266807 | 1078
REFE 100x100x2 GC 100| 4 [100| 4 | 2 | 26808 | 1267
REFE 150x100x2 GC 150| 6" [100| 4" | 2 | 26809 | 1456 ®
REFE 200x100x2 GC 200] 8 |100| 4 | 2 | 26810 | 1644
REFE 50x120x2 GC 50 | 20 | 1204577 | 2 | 26954 | 1256
REFE 100x120x2 GC 100| 4 [120 (457" | 2 | 26985 | 1478
REFE 150x120x2 GC 150 | 6" | 120|457 | 2 | 26956 | 17,11 REFE H75/100/120 =
REFE 200x120x2 GC 200 8 |120(457"| 2 | 26957 | 19,33 \ 0
REFE 50x150x2 GC 50 | 20 [150| 6" | 2 | 26958 | 1522 e o1 ¢ 1
REFE 100x150x2 GC 100 4 [150| 6 | 2 | 26959 | 18,00 =7 2500 E[ =
REFE 150x15012 6C 150 | 6" |150| 6 | 2 | 26960 | 2089 20 0|6 = E
REFE 200x150x2 GC 200 8 |150| 6 | 2 | 26961 | 2367 : 2
46 17 =
A 4/100xB2 (216792-HDG) / 8100 % B2 1150
o
REFE H150
BFE
e o o
<7 wlKE —
BFE 6/8 GC 2 | 20863 | 1,18 o6 2012
BFE 10/12 GC 3| 0864 | 118 é 5 é
ﬁi‘ 15 ] .&J 15 ]
55 55
E BFE 6/8 BFE 10/12

BEV

O hoc [N

inch  mm REF | € REF €lu 35 18

' —
BEV | 6 | 150 [211805 | 260 | 214473 | 344 m[:%
M6x25

BEV

B2-100

l B2-100 | 15 | 26792 | 67,11 | 25392 | 150,11 3

&-'mk =) | %

Pp [CCCHI 30
Nm

REF. €lu REF. €lu [




=
(8]
(V]
=
=
o=
7]
=

b=l Y

gt

b4

BASORTRAV

AWl

A
B

. Dasor

BELECTARIC



== basor

ELECTARIC

—
=T
(=4
—_
[~
(=]
(7r]
=T
(=)

£38 | 69







boasorsupport

BASORSUPPORT@SCM




=
O
(%)
|
—
=
2
o
>
@D
S
7]
=

150°C N2
oKl 12 e 364
UNE-EN 61537 UNE-EN 61537
UNE 23727 UNE-EN 61537
(]
SWL kg (lb) g
B mm (inch)
50 (2") 100 (4") 150 (6")  200(8") 300(12") 400(16") 500(20") 600 (24") 700(28") 800 (32") 1000 (40")
3 6
C-SHO 98 (217) | 90(199) | 69(153) | 45(100)
3 6
SCR 70(155) | 70(155) | 60(133) | 60(133) | 60(133) | 60(133) | 60(133) | 60(133) | 60(133)
SRB 70(155) | 60(133) | 60(133) | 60(133) | 60(133) | 60(133) | 60(133) | 60(133)
(6 ]
SHL 205 (450) | 205 (450) | 205 (450) | 250 (550) | 250 (550) | 250 (550) | 250 (550)
(6 ]
SHR 480 (1058) | 365 (804) | 300 (661) | 285 (628) | 270 (595) | 265 (584)
(6 ]
SP 350 (772) | 350(772) | 290 (640) | 250 (552) | 220 (486) | 200 (441)
(6 ]
SPD 500 (1103) | 430 (948) | 370(816) | 320 (706) | 260 (574)
(6]
SP+R450 724 (1597) | 592 (1306) | 501 (1105) | 434 (957) | 383 (845) | 310 (684)
(6 ]
SPD+R450 1123 (2476)| 950 (2095) | 823 (1815) | 726 (1601) | 588 (1297)
(6 ]
SVP+SP 350 (772) | 350(772) | 290 (640) | 250 (552) | 220 (486) | 200 (441)
[ 6 ]
18+SHV 200 (441) | 200 (441) | 200 (441) | 200 (441) | 200 (441) | 200 (441)
KS+SCR/SRB 60(133) | 60(133) | 60(133) | 60(133) | 60(133) | 55(122) | 50(111) 40 (89) 40 (89)
KSR+SR 135(298) | 120 (265) | 110(243) | 100 (221) | 80(177)

E38




C-SHO

== Dbasor

BELECTARIC

B e SWL HDG X AEIA o
mm inch mm kg Ib mm REE. €/ - j
C-SHO100 | 100| 4" | 1,5 | 98 | 217 |2/7230 27239| 7,33 | 15 |2/7490] 32,70 =
C-SHO150 | 150| 6" | 2 | 90 | 199 [2/7231 207240| 1067 | 1,5 |2/7491| 42,75 =
C-SHO200 |200| 8" | 2 | 69 | 153 [2/7232 27241] 11,89 | 15 |2/7492] 54,60 T
C-SHO C-SHO300 |300 12 | 2 | 45 | 100 |2/7233 27242| 14,44 | 15 |2/7493| 78,45 ‘ ‘
PSHO 2 2/6318| 2,12 m] ENEHIEEHIEHED
TFSHO/SVO (2/0894) IS o
p
= W,
& B1 (2/4356-ZN / 2/6826-HDG)
P12 2
' - 18 46
. ) PSHO
TFSHO/SVO z
B e SWL PG HDG  [XEIEIA < oo
mm inch mm kg b EEEICTREEEETE nn REE €l . I——
SCR 50 50 | 2° |15 70 | 155200975 392 |2/3450| 522 | - | - : " —
SCR100 | 100| 4" | 15| 70 | 155 |2/0976| 393 |2/0980| 556 | 1,5 |2/0995| 12,33 %10 ,25%7.5 3575
SCR150 | 150 | 6" | 1,5 | 60 | 133 |2/0977| 4,31 |2/0981| 6,44 | 15 |2/0996| 15,00
SCR200 |200| 8 |1,5| 60 | 133 |2/0978| 4,69 |2/0982| 7,67 | 1,5 |2/4691| 17,56
SCR 50/100/200/300/400
SCR300 |300| 12" | 2 | 60 | 133 |2/0997| 7,33 |2/1002| 1244 | 15 |2/1020| 22,78
SCR400 | 400 | 16" | 2 | 60 | 133 |2/0998| 9,44 |2/1003| 1567 | 1,5 |2/1021| 28,78 e e
SCR500 [500 | 20" | 2 | 60 | 133 |20099| 17,56 [2/1004| 30,11 | 15 (2464|3922 =
SCRG00 | 600 | 24" | 2 | 60 | 133 |2/1000| 19,56 |2/1005| 34,44 | 15 |2/1022| 4567 & :;
34 20x8 18x7.5 35x7.5
P 2 B1 (2/4356-ZN / 2/6826-HDG) Focoes
) [ a0 bso s0l ]
+
}‘ BF (2/4362-ZN / 217132-HDG / 2/4923-1304) SCR 500/600/750
SRB
B e SWL PG HDG B+ 50
mm inch mm kg b A €lu REF. €lu ] _ ]
SRB 100 2 |100] 4 |155] 70 | 155| 26372 | 456 | 206379 | 6,11 °
SRB 150 2 |150| 6" | 1,5| 60 |133| 26373 | 533 | 2/6380 | 7,22 8 .
SRB 200 3 |200| 8 | 15|60 133 | 26374 | 567 | 266381 | 811 010 169
SRB 300 4 1300|12"| 2 |60|133| 2/6375 | 811 | 2/6382 | 13,22 = =N
SRB 400 4 1400|16" | 2 |60 |133| 2/6376 | 10,00 | 2/6383 | 16,67
SRB 500 4 |500|20" | 2 |60 |133| 26377 | 19,11 | 206384 | 2978 SRE 100/150/200/300/400
SRB 600 4 1600|24" | 2 |60 |133| 26378 | 21,11 | 2/6385 | 3344
sl o 128
20x8” |36

B+50

SRB 500

< @'\j’ 12x8
~ =1E§ s
|§ F = 2
20x871./36 B+50

SRB 600

E38 | 69

=
O
(%2]

|
=
S
=
o
]
@D
o=
S
172}
3
=




=
O
(%)
|
—
=
=
a
>
@D
S
7]
=

i Y
| e B+50 °
P I | o e —
SHL 100 GC 100] 4" [ 15| 4 | 47 [16/7| 205 | 450 | 2/6866 | 10,33 2 ;Hjjh“
SHL 150 GC 150 | 6" | 15| 4 |53 | 2’ | 205 | 450 | 2/6867 |1200| ; 4
SHL 200 GC 200] 8 | 15| 4 |58 |22/7| 205 | 450 | 2/6868 | 1422 | i A= SR
SHL 300 GC 300 12" | 15| 6 | 68 |22/3"| 250 | 550 | 2/6869 | 21,78 ? L "
SHL 400 GC 400 16" | 1,5 | 6 | 79 [31/9"| 250 | 550 | 26870 | 2567 | 4 SHL 100/150/200
SHL 500 GC 500(20" | 2 | 6 | 89 |31/2"| 250 | 550 | 2/6871 | 36,33
SHL 600 GC 600 24" | 2 | 6 |100| 4" | 250 | 550 | 2/6872 | 4144 (S
S A& B+50
/v B1 (2/4356-ZN / 2/6826-HDG) Sk Sl
-
p BF (214362-2N / 2/7132-HDG) el il
32
& [E s 20853106 + 82 (265792-400) = el oll =
SHL 300/400/500/600 )
SHR
i I
ek oo oo kg b T
SHR 300 GC 300| 12 |25| 6 | 68 223"| 480 | 1058 | 2/5525 | 24,78 4
SHR 400 GC 400| 16" 25| 6 |79 |31/9"| 365 | 804 | 20023 |2944| / R o % g
, y i o -
SHR 500 GC 500 20 | 25| 6 |89 312|300 | 661 | 21024 |3600| 5 ¢ & ‘
SHR 600 GC 600| 24" |25| 6 |[100| 4" | 285 | 628 | 21025 [4189| ] oo o
SHR 700 GC 700| 28" |25 | 6 |110|41/3"| 270 | 595 | 2/1026 | 4933 | & SE
SHR 800 GC 800 311/2"| 25 | 6 | 120 |4/5/7"| 265 | 584 | 2/1027 | 56,11 | & ol ol] z
}‘ B1 (2/4356-ZN / 2/6826-HDG)
)‘ BF (2/4362-ZN / 2/7132-HDG)
& [E) 5e 20863106 + B2 @26792-+D6) =
J
-
_--------m T %jf
SP 150 GC 150 | 6 | 25| 4 |350|772| - | - | 24939 | 1744 y :ﬁ 30
<« e o
SP 200 GC 200] 8 | 25| 4 |350|772| - | - | 24733 | 19,67 i E o
SP 300 6C 30012 | 25| 4 |290|640| - | - | 24734 | 24,00 25x11 [ 50]
SP 400 6¢ 400| 16' | 25| 4 | 250|552 | 724 1597| 21036 | 2889 SRR
SP 500 6C 500 | 20" | 25 | 4 |220| 486|592 |1306| 21037 | 34,44 0
SP 600 6C 600 | 24' | 25 | 6 | 200 | 441|501 |1105| 2/4938 | 41,11 -
SP 700 6C 700 | 28" | 25 | 6 - 434|957 - -
SP 800 6C 80032 |25/ 6 - | 383 | 845| 271038 | 49,44
SP 1000 GC 1000/ 40" | 25 | 6 310|684 | 255086 | @ B '
R450 GC 450 | 18" 8 207325 | 44,44
TM6x25 1507380 (0/1064-ZN / 2/9995-00880-1304) + TM6 (0/0427-ZN / 2/8225-
HDG) 1
CFBFR41 (2/10284) / TM6x25 1507380 (0/1064-ZN / 2/9995-00880-i304) + !
SSC (2/2064-ZN / 2/0363-HDG) + TM6 (0/0427-ZN / 2/8225-HDG) e
\ RE!
TM10x30 DIN933 (0/0320-i304) + BE M10 (2/0864-HDG) + TM10 (0/1071- T2
HDG) R450
J

70

E38




== Dbasor

BELECTARIC

o )
SPD 500 GC 500 | 20" | 2,5 | 8 |500 |1103(1123|2476| 2/6272 | 65,11 N
SPD 600 GC 600 | 24" | 25| 8 |430|948|950 2095 2/5621 | 7433
SPD 700 GC 700 | 28" | 25| 8 |370 816|823 1815 2/6273 | 83,89
SPD 800 GC 800 | 32" | 25| 8 |320|706|726 |1601| 2/6274 | 9333 25x11
SPD 1000 GC 1000| 40" | 2,5 | 8 | 260|574 | 588 |1297| 2/4641 | 111,78 :;[ S o \Qj
SPD 1500 GC 1500/ 60" | 2,5 | 8 275 | 606 | 2/4642 ] 5% o
T
R450 GC 450 (18" | - | 8 | - - - - 2/7325 | 44,44 <PD
} TM6x25 1SO7380 (0/1064-ZN / 2/9995-00880-i304) + TM6 (0/0427-ZN | 2/8225- B 1
HDG)
) CFBFR41 (2/10284) / TM6x25 1S07380 (0/1064-ZN / 2/9995-00880-i304) + SSC
(2/2064-ZN / 2/0363-HDG) + TM6 (0/0427-ZN / 2/8225-HDG)
14
% ) TM10x30 DIN933 (0/0320-i304) + BE M10 (2/0864-HDG) + TM10 (0/1071-
HDG) e
a§| \ EE
— R450 Ll 20 )

BI8 + 18 + SHV

>
|

18

SHV

18 600 GC 600 | 24" 3
18 1000 GC 1000/ 39"3/8| 3 2/6346 | SPM
18 1300 GC 1300/ 51"1/6| 4 - -] - - - - | 2/6347 | SPM
18 1500 GC 1500, 59" 5 - -] - - - - | 2/6348 | SPM
6
8

€lu
2/6345 | SPM

18 2000 GC 2000 78" 3/4 2/6349 | SPM
18 3000 GC 3000(118"1/9 2/6350 | SPM

SHV 200 GC 200| §&' - 25 58 | 22/7 | 200 | 441 | 2/6058 | SPM

3
SHV 300 GC 300 12" - |25] 3 |68 223|200 | 441 | 2/6271 | SPM
SHV 400 GC 400 | 16" - (2513 |79|31/9] 200 | 441 | 2/6259 | SPM
SHV 500 GC 500 | 20" - 125|389 31/2| 200 | 441 | 2/6057 | SPM
SHV 600 GC 600 | 24" - |25| 3 |100] 4 | 200 | 441 | 2/6275 | SPM
SHV 700 GC 700 | 28 - 1253 |110] 41/3 | 200 | 441 | 2/6276 | SPM
SHV 800 GC 800 | 32 - 125| 3 |120| 45/7 | 200 | 441 | 2/6277 | SPM
BI8 GC - - - - -] - - - - | 2/6342 | SPM

’ SHV + 2 x T M10x30 DIN 933 (0/0320) + 2 x DIN 934 M10 (0/0343)

& BL (2/4356-ZN / 216826-HDG)
p BF (2/4362-ZN / 2/7132-HDG)

BE (2/0863-HDG) + B2 (2/6792-HDG)

100

D

Y
D || C
)

63x13

8

C

60

Eg,gﬁﬁj
50 =

70 )

BI8

e |

=
O
(%2]

|
=
S
=
o
]
@D
o=
S
172}
=
=




@ KS + SCR/SRB

—F——F—
,!_—== —

=SS

RS §§§

q-

SE_Dbasor

BELECTARIC

i

N o | w | o

KS 50_400 76 3" 2/7211 = 2/7215 511 | 4
KS 500_750 357"| 206289 | @ | 25881 | 676 | &

) SCR/SRB g 8 +2/100 B2 (2/6792-HDG / 2/4926-ZN)

D

E SCR

=
O
(2]

]
=
=
o
o
>
@D
o
S
172}
=T
=

b

SWL PG TcHlleisos 304
mm | inch ‘mm kg b EHIETHECEIEET nn R €

SCR 50 50 | 2" | 1,5 70 | 155 |2/0975| 392 |2/3450| 522
SCR100 | 100 4" | 1,5 | 70 | 155|2/0976| 3,93 |2/0980| 556 | 15 [2/0995| 12,33
SCR150 | 150 | 6" | 1,5 | 60 |133|2/0977| 4,31 |2/0981| 6,44 | 15 [2/09%| 15,00
SCR200 {200 8" | 1,5 | 60 |133|2/0978| 4,69 |2/0982| 7,67 | 15 [2/4691| 17,56
SCR300 |300 12" | 2 | 60 |133|2/0997| 7,33 |2/1002| 12,44 | 15 [2/1020| 22,78
SCR400 |400| 16" | 2 | 60 | 133 |2/0998| 9,44 |2/1003| 15,67 | 1,5 |2/1021| 28,78
SCR500 {500 | 20" | 2 | 60 |133|2/0999| 17,56 |2/1004| 30,11 | 15 [2/4464| 39,22
SCR600 | 600 | 24" | 2 | 60 | 133|2/1000| 19,56 |2/1005| 34,44 | 15 |2/1022| 45,67

y s B (2/4356-ZN / 2/6826-HDG)
e

36,

< i16x9

20x10 25x7 5 35x7.5

SCR 50/100/200/300/400

122

34 20x8 18x7.5 35x7.5

KS + SCR Uﬂ . ﬂu
p BF (2/4362-ZN / 2/7132-HDG / 2/4923-1304) SCR 500/600/750
=)
SRB
B e  SW PG HDG b s
NI Rer | eu | ReE | €w R _ l
SRB 100 2 |100] 4" | 15|70 | 155 | 266372 | 456 | 26379 | 611 ;?
SRB 150 2 |150| 6" | 1,5 |60 |133| 206373 | 533 | 26380 | 722 8
h SRB 200 3 |200| & | 1,5 |60 |133| 266374 | 567 | 26381 | 811 2040169
SRB 300 4 (300|127 | 2 |60 |133| 26375 | 811 | 2/6382 | 13,22 == Sx=
SRB 400 4 |400|16"| 2 | 60 |133| 206376 | 1000 | 2/6383 | 16,67
SRB 500 4 |500|20"| 2 |60 |133| 216377 | 19,11 | 206384 | 29,78 SRB 100/150/200/300/400
SRB 600 4 |600|24" | 2 |60 |133| 206378 | 21,11 | 2/6385 | 3344
T 0 1 g o 128
b BN o g———"¢ @f
20x8” LI36 B+50

KS + SRB

/36| miso |

- SRB 500

SRB 600

@ KSR + C-SR

o

KSR+C-SR

KSR

A CTA
mm inch kg b m

i

mm inch mm mm inch 3

C-SR 200 200 8" | 15|67 |22/3"| 30 |11/6"|102| 225 | 2/7264 | SPM 0
C-SR 300 30| 12" | 1,5 | 67 |22/3'| 30 | 11/6"| 90 | 198 | 2/7265 | SPM ?
C-SR 400 400 | 16" | 1,5 (100 4" |60 |21/3"|159| 351 | 2/7266 | SPM i
C-SR 500 500 20" | 1,5|100| 4" |60 |21/3"|134| 295 | 2/7267 | SPM | 3
C-SR 600 600 | 24" | 15]100| 4 60 |21/3" | 117 | 258 | 2/7268 | SPM 1
KSR a2 e s e e - 26828 sPm | 6
CT2 M8X75 (E2) | - - - - - - - - - | 206793 | SPM S

’KSR—» g 9 1x CT2 M8X75 (2/6793) + 2/100 B2 (2/6792-HDG)

72 | e32




»

,7/f
A SO
a 150°C N | 7 |
)Y ( )\; N\
) (Mo ﬂ-so"c ﬁ [ _/:C?i_I / ] .
UNE-EN61537  UNE-EN 61537 SWL (kg) |—E
UNE 23727 B mm (inch)
50 (2") 100 (4") 150 (6") 200(8") 300(12") 400(16") 500(20") 600 (24") 700(28") 800(32") 1000 (40")
3 6
C-SHOT 105 (232) | 75(166) | 70(155) 37(82)
A 9A)
C-SV0
+2VR8 250 (552) | 200 (441) | 294 (649) | 235 (519) | 161(355) | 115(254) | 87(192)
C-SHO 400 80(177) | 69(153) | 58(128) | 50(111) 39 (86)
(6 ]
SU 431(951) | 431(951) | 368 (812) | 321 (708) | 255 (563) | 212 (468) | 182 (402) | 160 (353)
SUR 705 (1555) | 582 (1284) | 495 (1092) | 431(951) | 382 (843) | 342 (754) | 310 (684)
(6 ]
SU +R450 489 (1079) | 349 (770) | 272 (600) | 222 (490) | 188 (415) | 163 (360) | 144 (318)
SUR + R450 813 (1793) | 670 (1478) | 570 (1257) | 495 (1092) | 438 (966) | 393 (867) | 356 (785) | 300 (662)

i

o
s

[ 6
SP + R4S0

o
SPD
SPD + R4S0

r.

470 (1037)

837 (1846)

470 (1037)

837 (1846)

400 (882)

748 (1650)

347 (766)

675 (1489)

275 (607)

486 (1072)

566 (1248)

810 (1786)

228 (503)

378 (834)

487 (1074)

630 (1389)

195 (430)

309 (682)

428 (944)

515 (1136)

170 (375)

262 (578)

381 (840)

436 (962)

227 (501)

344 (759)

378 (834)

200 (441)

313 (691)

333 (735)

mEE

162 (358)

270 (596)

E38

13

r

=
O
(%2]
=
(==
S
=
o
]
@D
o=
S
172}
=
=




=
O
(2]

]
=
=
o
o
>
@D
o
S
172}
=T
=

C-SHOT

B SWL B PG
mm inch (kg) b mm
C-SHOT 150 150 | 6" | 75 | 166 2
C-SHOT 200 200 8" | 80 | 155 2
C-SHOT 300 300| 12" |55 |8 | 2
PSHO 2

SE_Dbasor

BELECTARIC

i304

mn - REF.

C-SHOT 100 100 | 4" 105|232 | 1,5 |2/7235| 6,33 |2/7244| 11,33
2/7236| 9,11 |2/7245| 15,89
2(7237| 9,67 |2/7246| 17,56
2/7238) 10,78 |2/7247 20,00
2/6240| 1,56 |2/6318| 2,12

€lu

1,5 |2/7495|59,58
1,5 12/7496|62,73
1,5 12/7497|78,03
1,5 |2/7498 95,40

TFSHO PE 6011 (2/0894) /1,48 €lu

175

> @ 1 PSHO (2/6240-PG / 2/6318-HDG)
& B (2/4356-ZN | 2/6826-HDG)

(Fe
/1/17)
& ),

- on 2
’ 18 46
- ~ PSHO
PsHO TFSHO/SVO
C-SVO 7
B e  SWL e 304 .
mm | inch mm (ke) b [EEHIEEEEE mn R € m
€-5V0 100 100| 4" | 1,5 | 241 | 52 |213630| 3,56 |2/6280| 6,00 | 15 |2/6285)16,22
C-5V0 150 150 | 6" | 1,5 | 198 | 441 |2/1073| 489 |2/1078| 7,33 | 15 |2/1087|1844 oS
C-5V0 200 200| 8 | 2 | 218|649 [2/1074| 6,33 |2/1079|10,11| 1,5 [2/1088|20,78 8
C-5V0 300 300 | 12" | 2 | 168|519 [2/1076| 8,22 |2/1081|13,44| 1,5 [2/1090| 25,44 0
C-5V0 400 400 | 16" | 2 | 136|355 2/3629|10,44|2/5719|16,33| 15 |2/6286|30,11 o
C-5V0 500 500 20" | 2 | 115|254 |2/1077|11,78|2/1082|1878| 15 |2/6287|37,11 5 |||
C-5V0 600 600 | 24" | 2 | 99 | 192 |2/5941|13,11|2/5720|20,00| 15 |2/6288|42,11 Bl
TFSHO PE 6011 (2/0894) / 1,48 €fu M 200
B e sw I ¢ B0 y
mm inch mm (k) b EEHEIEEIEDY mn R €
-5V0 3000 |- - -] - | - |emior|1500/27a36)2033) - | - | - 0

TFSHO/SVO

} @ 2 x VR-8 (2/3397-ZN) + 4/100 x DIN6923 M8 (0/0338-ZN)

& BL (214366-ZN | 2/6826-HDC)

/11111
=,

C-SHO

C-SHO 400

PSHO

L e Fmax Mmax Cd il

MR R Rer. | €u | ReE | € g :13

C-SHO 400 400 | 16" | 2 |147| 68| 1,91 |2/7234| 978 | 217243 | 1733 | 4 | 6
PSHO 2 206240 | 156 |2/6318| 212 |© | S
(8

A 15HO+ 2/100 B2 (2/6792-HDG / 214926-ZN) ]

L+112

25

50 25
T

S

}
[ ©

20x9

| 18

18

46

PSHO

14

E38




SU 400 GC

i
mminch | Rer | eu [
25| 6 | 656 2

== Dbasor

BELECTARIC

400 | 16" 51,55| 0,191 | 2/7142 | 31,22

@ o~ — W —
o
80
120

SU 600 GC 600 | 24" | 25| 6 | 65 |51,55|0287 | 217143 | 42,00
SU 800 GC 800 311/ 2,5 | 6 | 65 |51,55|0398 | 2/7144 | 53,22
50
,0 SCRISRB/SHLISHR + 2/100 x B2 (2/6792-HDG) “i ‘
0 0
= 0 UjA
27x11 2
i =
50 L 40 ) Y,

SP3S

P14
mminch | REE_| €u |
SP3S 400 GC 400| 16° | 2 | 630 | 374 | 0428 217308 | 22,44 _
$P3S 600 GC 600| 24 | 2 | 630 | 374 |0615| 217310 | 31,67 e ® =
$P3S 800 GC 800 311/ 2 | 630 | 374 |0802| 217311 | 38,78 O
gT 50
=
0 U*EI
0 07
xS
N
L4t ] L4t )
J
SHST
PG HDG )
. DY © o w |
SHST 100 100 4 |15] 150 | 331 | 2/14489 | SPM | 2/1449 | SPM
SHST 150 150| 6' |15| 150 | 331 |2/14490 | SPM | 2/14497 | SPM
SHST 200 200 8 |15 150 | 331 | 2714491 | SPM | 2/14498 | SPM
SHST 300 300| 128 | 2 | 150 | 331 | 2714492 | SPM | 2/14499 | SPM
SHST 400 400| 16" | 2 | 120 | 265 | 2/14493 | SPM | 2/14500 | SPM
SHST 500 500| 20° | 2 | 100 | 221 | 2/14494 | SPM | 2/14501 | SPM
SHST 600 600| 24 | 2 | 100 | 221 | 2714495 | SPM | 2/14502 | SPM
% RLck
§ @ ® ® )

£38 | 75

BASORSUPPORT( PR} SCM




KI8 + 18

=
o
(%2]
|
—
=
S
a
>
2
3
=

KI8+I8

mmnh
18 600 GC 600 | 24"
18 1000 GC 1000 | 39 3/8"
18 1300 GC 1300 | 51 1/6”
18 1500 GC 1500 | 59"
18 2000 GC 2000 | 783/4"
18 3000 GC 3000 |118 1/9”
KI8 GC

1337
1337
1337
1337
1337
1337

165 | 0,069 | 2/6345 | SPM
165 | 0,092 | 2/6346 | SPM
165 | 0,117 | 2/6347 | SPM
165 | 0,138 | 2/6348 | SPM
165 | 0,172 | 2/6349 | SPM
165 | 0275 | 2/6350 | SPM

- - 2/6056 | SPM

== Dbasor

BELECTARIC

T

50

100

f SHV' + 2/100 x M12x35 DIN 933 (0/0609-i304) + 2/100 x M12 DIN 934 (0/0347-i304)

63x13

30x12

.
% O (-8
-
140
200
KI8
I el :
mminch | REE_| €u | =R
SP 300 GC 300 12 | 25| 4 55,15 | 0,142 | 2/4734 | 24,00
SP 400 GC 40| 16" | 25 | 4 55,15 | 0,203 | 2/1036 | 28,89 Lm &
SP 500 GC 500 20" | 25 | 4 55,15 | 0,265 | 2/1037 | 34,44 O
SP 600 GC 600| 24" | 25 | 6 55,15 | 0,326 | 2/4938 | 41,11
SP 800 GC 800 |311/2"| 25 | 6 55,15 | 0,509 | 2/1038 | 49,44 f

28

100

@ ’ SCR/SRB + 2 x TE M10 (0/0907-
IN)

SHUSP/SHR +2/100 x T M10x30 DIN933
(0/0320-1304) + 2/100 x TM M10 (0/1071-HDG
/0/0970-i316)

&)

SPL/SHL/SP +2/50 x B3 (2/8827-HDG)

SCR/ISRB + 2/100 x B2 (2/6792-
HDG)

25x11

L+50




== Dbasor

BELECTARIC

-
%Q#
I i KT h
$PD 500 GC 500 | 200 |25 | 8 | 1100 | 133 | 0,147 | 26272 | 65,11 ,
$PD 600 6C 600 | 24 | 25 | 8 | 1100| 133 |0179| 255621 | 7433 28
$PD 700 6C 700 27507 | 25 | 8 | 1100 | 133 |0211| 26273 | 8389 s
$PD 800 6C 800 (31172 25 | 8 | 1100 | 133 |0263| 26274 | 9333 o
$PD 1000 6C 1000 3938' | 25 | 8 | 1100 | 133 |0316| 24641 | 111,78 5
¥ SCRISRB + 2/100 TE M10 (010907-ZN) #Ll 0
SHUSHR/SP/SPD + 2/100 T M10x30 DIN933 (0/0320-1304) + 2/100 X TM M10 (0/1071-HDG / " - Tollg
0/0970-316) — EIJ
— Ot
= 82 Lt |
- )
=P
A5,
13
SUR 600 GC 600 | 24' | 4| 8 |1225| 166 |0080| 27487 | 6898 ogol N
—
SUR 800 GC 800 3112 4 | 8 |1225| 166 | 0,131 27483 | 8663
SUR 1000 GC 100039358 | 4 | 8 | 1225 | 166 | 0,204 | 27489 | 10393 -
A SHUSHRISPISPD + 2/50 B3 (2/8827-HDG) ] ﬂ _
:za ”N“%’O .
i O O
e )
— -0 0
— o
= _.mI:*O 0
27x11
0 0|
0 0
0 0
- )
(I
R450
B I
:
REE. | €
R450 GC (450 18" | 8 | 2735 | 4444
D14
A +5U + 1100 T 8120 DINO33 (010318304) + 1/100 x TAG M8 DING23 (010348-304) 1
A + 5P + 150 x B3 (2/8827-HDG) BE
)
/~ +SPD+ 1/100 T M10:30 DIN933 (0/0320-304) + 1/100 x T M10 (0/1071-HDG)
 +SUR + /50 x B3 (218827-HDG)
- )

E38

mn

BASORSUPPORT( PR} SCM




‘“ @TO e -50°C 208
fﬁ
UNE-EN 61537 UNE-EN 61537
UNE 23727 UNE-EN 61537

100 (4")

2176 (609)

250 (551) x 1

176 (388)

150 (6")

260 (573)

250 (551) x 1

176 (388)

SWL kg (lb)
B mm (inch)
200 (8") 300 (12")
253 (558) 207 (456)
250 (551) x 1 | 250 (551) x 2
176 (388) 176 (388)

400 (16")

506 (1116)

250 (551) x 2

161 (354)

500 (20")

460 (1014)

250 (551) x 2

115 (253)

600 (24")

414 (912)

250 (551) x 3

87(191)

PBF
=
o
(%2]
i |
—
=3 SFS+C-SV0
S
—J
2
3
=
[ 6]
sp
[ 6]
su
[ 6]
SPD

78 | e38

470 (1037)

431(951)

748 (1650)

400 (882)

368 (812)

748 (1650)

347 (766)

321 (708)

675 (1489)

275 (607)

255 (563)

566 (1248)

228 (503)

212 (468)

487 (1074)

195 (430)

182 (402)

428 (944)

170 (375)

160 (353)

381 (840)



== Dbasor

BELECTARIC

sv
B e su 1304 ; .
LR REE | €u | RER | eu [ANEITRENN | LEI
SV 100 100 | 4° | 15276609 | 211046 | 393 | 21050 | 560 |21062|967 & 35075
SV 150 150 | 6" | 1,5|260 | 573 | 2/1047 | 431 | 21051 | 639 | 21063 |11,44 J 7 7 JHEe
SV 200 200| 8" | 1,5 | 253|558 | 2/1048 | 4,69 | 2/1052 | 7,17 | 2/1064 1311 Brad
. sV300 300 | 12" | 1,5 | 207 | 456 | 2/1049 | 6,39 | 2/1053 | 9,48 | 2/1065 |15,:89 B2
T sv400 400 | 16" | 1,5 | 506 |1116| 213413 | 13,78 | 213418 | 2000 | - | - SV 100/150/200/300
SV 100/150/200/300 SV 500 500 | 20" | 1,5 | 460 |1014|2/3414 | 1844 | 213419|2300| - | -
SV 600 600 | 24" | 1,5 | 414|912 | 23415 | 17,67 | 23420 | 2611 | - | - ;
| LJ Le
& BL (2/4356-ZN / 2/6826-HDG) Y
7 7 7 W7 7 7 71599
p BF (2/4362-ZN / 2/7132-HDG) 27
B+146
I e a%l SVO 400/500/600
e 1304
RRURRN Rer [ e | Rer | eu AN e
PBF | 1,5 | 250 | 551 | 2/5590 | 467 | 214397 | 6,00 |28777| 844 o % \
f @ L e | 85
)
8,5
=EEE=)
37711
QD o0 O
15x6,5
SFS + C-SVO
B e sw e 30 .
mm inch mm (k) b [EHIETEEAET oo REE € @ﬁ
C-SV0 100 100 | 4" | 1,5 | 241 552 |2/3630| 3,56 |2/6280| 6,00 | 1,5 |2/6285[16,22 _
C-SV0 150 150 | 6" | 1,5 | 198 | 441 [2/1073| 4,89 [211078| 7,33 | 1,5 |2/1087| 1844 O™
C-5V0 200 200| 8" | 2 |218 649 |2/1074| 6,33 |2/1079|10,11| 15 |2/1088|20,78 R
C-5V0 300 300 | 12" | 2 | 168|519 |2/1076| 8,22 |2/1081|13,44| 15 |2/1090|25,44 0
oS C-5V0 400 400 | 16" | 2 | 136|355 |2/3629|10,44|2/5719|16,33| 15 |2/6286/30,11 E
C-SV0 500 500 | 20" | 2 | 115|254 |2/1077|11,78|2/1082/18,78| 1,5 |2/6287|37,11 g
C-SV0 600 600 | 24" | 2 | 99 | 192 |2/594113,11|2/5720|20,00| 15 |2/6288 42,11 b4 ﬁ'ﬁ‘ﬁ
SFS 140 6S -2 2/5602 4,89 200
\_‘ TFSHO PE 6011 (2/0894) / 148 €lu o
B e  SW e 304
CSV0 mm | inch| mm (kg) | b [EEHECIREHEEY nm REE € 0
C-SV0 3M - -] -] -] - |emiot]1500[2m7436/2033] - | - | - 0.5V0
(¥
o @ 2 XVR-8 (2/3397-ZN) + 4/100 x DIN6923 M8 (0/0338-ZN)
e
p 2 B1 (2/4356-ZN / 2/6826-HDG) =
2 SFS+C-SVO %
= g _
' . ©®7,5 (B1)
— o] & [#,
TFSHO/SVO SFS

E38 | 79

=
O
(%2]

|
=
S
=
o
]
@D
o=
S
172}
3
=




BASORSUPPORT ESPM

SOLUTIONS/SOLUCOES/SOLUTIONS

SRB

L ——

SCR
s s

@ C-PC/ KPC/ KLPC / KAPC

C-SR SCR

.

@ PC/ KAPC / KLPC2
SR SRB
" b

&
SP3S

SCR

B

SHST SRB SCR SHL/SHR

J

@IS

SHV

: \

E38



SPM BASORSUPPORT

E CT30/ KCT30

-=E. basor

ELECTRIC

Fmax | Mmax RN T
a | o KRS 6
€130 26784 | 519 | 26785 | g 83
KCT30 500 | 195 | 277071 | 362 | 27070 | &1
CT4-100 M10X20 EZ 217074 | 2381 <
CT2 MBXT5 EZ 26793 | 033
A SCR/SRB
CT30
K
s
KCT30 KCT30+CT30+P-SR M10x20 CT30 P-SR M8x75 U
AN CT30
@ SCR
B e sw [T 504 i304 2 m
mm | inch ‘mm kg b EEHIETHECEIEET nn R € B
SCR50 | 50 | 2 | 1,5 70 | 155 [2/0075| Scm |2i3450| Scu "
“ SCR100 | 100| 4" | 1,5| 70 | 155 |2/0976| SCM |2/0980| ScM | 1,5 |2/0995| ScM 20x1o 25x75 3575
SCR150 |150| 6 | 1,5| 60 | 133 |2/0977| SCM |2/0981| Scm | 1,5 |2/0996| ScM
SCR200 |200| &' | 1,5| 60 | 133 |[2/0978| SCM |2/0982| ScM | 1,5 |2/4691| SCM S 5011001200/ 3007400
SCR300 |300| 12" | 2 | 60 | 133 |2/0997| SCM |2/1002| Scm | 1,5 |2/1020| ScM
SCR400 400 | 16" | 2 | 60 | 133 |2/0998| SCM |2/1003| SCM | 15 [2/1021 SCM
SCRS00 (500 20" | 2 | 60 | 133|200999| SCM |21004| SCM | 15 24464 ScM -
SCRB00 |600 | 24" | 2 | 60 | 133 [2/1000| SCM |21005| ScM | 15 |21022| oM © ?
y B1 (214356-ZN / 2/6826-HDG) ) T T
— uﬂ B+50 &u
p BF (2/4362-ZN / 2/7132-HDG / 2/4923-304) SCR 500/600/750
B SRB
B e SW . B+ 50 |
mm inch mm kg b mm -
SRB 100 2 |100] 4 | 15|70 |155| 26372 | som | 26379 | som j?/
SRB 150 2 |150| 6 | 1,5 |60 (133 26373 | SCM | 26380 | SCM ' ‘\aoao e
SRB 200 3 |200| 8 |1,5|60|133| 2/6374 | SCM | 26381 | SCM o oo,
SRB 300 4 |300| 12| 2 | 60 |133| 266375 | ScM | 26382 | SCM o7 100/150/200/300/400
SRB 400 4 |400|16" | 2 | 60 |133| 2/6376 | SCM | 26383 | SCM
SRB 500 4 |500|20" | 2 | 60 |133| 2/6377 | SCM | 26384 | SCM q& 1218
SRB 600 4 |600|24" | 2 | 60 |133| 2/6378 | SCM | 26385 | SCM ]ﬁf ——
20x8 B+50

FON

;

SRB 500

gl o 128
“ © o©
S % = % bl
20x8” 1136 B+50

SRB 600

E38 | 81

=
o
é
=
==
=
o
o
=
@D
o
S
17}
=T
=




=
o
é
=
=
S
a
o
>
@D
=5
=
@D
=T
=

SPM BASORSUPPORT

|

O C-PC/ KPC/ KLPC / KAPC

C-PC(PG)

KLPC

‘13!
P-SR M8x75

@ C-SR

C-SR

-=E. basor

BELECTARIC

B e -
mm inch mm inch mm inch mm m_ IF ]
C-PC 300 GS 58 | 22/7| 35 |13/8"|300| 12" | 2 | 2/3485
C-PC 600 GS 58 | 22/7"| 35 |13/8"|600| 24" | 2 | 2/4504 ‘i‘ 208 083
C-PC 3000 GS 58 | 22/7"| 35 | 13/8"|3000| 10ft | 2 | 2/7269 | 829 €m %[:D g
KPC 2 | 27270 | 524 €u 0 o
KLPC 3 | 206786 | 519 €u 0 4 LY
CT2 MBXT5 E 26793 | 0,33 €l 0 0
DIN94 8X80 EZ 217297 | 045 €lu 8 8
KAPC GS 2/1116 | 281 €M e
PDPC GS 2/7281 | 1,08 €l
TFPC PVC 2/14809 | 0,72 €l
A CPCIPG) > CPC: 2X PSR /2 P-SR94 o , @
X7
f‘ C-PC (PG) --> KLPC L: 2/100 x B2 (2/4926 ZN) = \%{ le
<4
} E C-SR - 20x8 ¢
O—20x8
= 8 G| 21 KPC
- gLﬁﬂ KAPC
PDPC PDPC B
' e 36
. R C‘) o O‘/ 20x11
P-SR94 115 12 %" KLPC
Be A WL
mm inch mm mm inch mm inch kg Ib mm €lu S 1
C-SR200 200 8" |1,5|67 223 |30 |11/6"|102| 225 |2/7264| 4,76 |2/3460| 7,00 [Eif@é
C-SR300 [300| 12" |1,5| 67 |22/3"| 30 |11/6"| 80 | 198 |2/7265| 552 |2/1032| 895 -5 209
C-SR400 |400| 16" | 1,5|100| 4' | 60 |21/3"|159 | 351 |2/7266| 781 |2/1033] 1090
C-SR500 500 | 20" | 1,5(100 | 4" | 60 |21/3"|134| 295 |2/7267| 9,24 |2/1034| 13,05 Hl]ﬂ]w]&l]ﬂ]aﬂn
C-SR600 600 | 24" |1,5|100 4" |60 |21/3"|117| 258 |2/7268| 11,19 |2/1035| 15,29
P-SR (EZ) 2/6793| 0,33
’ C-SR -->C-PC: 2/100 x P-SR
!13!
P-SR M8x75
NIRRT o | Hoc  CICTEEV 2 mg
mm inch mm kg Ib mm mm REE.  €/u o
SCR 50 50 | 2" | 1,570 |1552/0975| SCM |2/3450| SCM | - - - ”
SCR100 | 100 4" |1,5| 70 | 155|2/0976| SCM [2/0980| SCM | 1,5 |2/0995| SCM 20x10 25x75 35x7.5
SCR150  |150| 6" |1,5| 60 |133]2/0977| SCM |2/0981| SCM | 15 |2/0996| SCM [ _ =
SCR200 |200| 8" |1,5| 60 |133|2/0978| SCM |2/0982| SCM | 15 |2/4691| SCM
SCR 50/100/200/300/400
SCR300 300 | 12" | 2 | 60 |133|2/0997| SCM |2/1002| SCM | 1,5 |2/1020| SCM
SCR400 400 | 16" | 2 | 60 |133|2/0998| SCM |2/1003| SCM | 1,5 |2/1021| SCM
SCR500 500 | 20" | 2 | 60 |133|2/0999| SCM |2/1004| SCM | 1,5 |2/4464| SCM NS' e
SCR600 | 600 24" | 2 | 60 | 133 |2/1000) SCM |2/1005| SCM | 1,5 |2/1022| SCM = {?

& BL (2/4366-2N /| 216826-HDG)

)‘ BF (2/4362-ZN [ 2/7132-HDG / 2/4923-1304)

(Fe
77777,
&

34

20x8 18x7.5 35x7.5
EE Y- TY—Y—y—y
40 50
B+50
SCR 500/600/750



SPM BASORSUPPORT

| SE-basor

[] PC/ KAPC / KLPC2

B Hoo e .
mm inch mm inch mm m . r
H

PC 3000 GC 58 [22/7°| 35 |138'| 2 | 20229 | 11,006

KAPC GC Sl |- - 2 21117 | 505eu e ]
KLPC2 GC S e - | 3| e8| 79 8 8L ras
TFPC PVC S ] 248 | 0726

0
0.1
)‘ 4/100 (2/4356-PG / 2/6826-HDG) ﬂ
e
rFEs ==
20x8

3000

oo oo o

133

C-PC (HDG)

30130 30

pr— O—1-20x8 0] 12
o
&

014 @I @ <

120
40
#E_.

@12 LLJ

KAPC KLPC2

PC
KLPC2
Esr
B H e SWL HDG
mm inch mm inch mm kg Ib REF. €lu B+50
SR 200 200 & |8 |31/7"] 1,5 |250| 551 |2/3460| 7,00 sxs/’EII
SR

SR300 300 12 | 80 |317'| 1,5 |250 | 551 |2/1032| 895

SR400 | 400| 16" |100| 4' | 1,5 |250 551 |21033| 10,90 35075 @

SR500  |500| 20 |100| 4" | 1,5 |200| 441 |2/1034| 13,05 (gdozrvo07077 ]
37,5

SRE00 | 600 | 24' |100| 4' | 1,5 175 38 |2/1035| 1529

PSRED | - | - | - | - - -] - | 26793| 033

SR

=
o
é
=
==
=
o
o
=
@D
o
S
17}
=T
=

y SR - C-PC: 2/100 x PSR

B SRB

SWL PG HDG B +50

|
SRB 100
SRB 150

inch  mm [] REF. €/u REF. €lu >
h 100 4" [ 1,5| 70 |155| 2/6372 | SCM | 2/6379 | SCM j?
=~ 150 | 6" | 1,5 |60 |133| 2/6373 | SCM | 2/6380 | SCM 20x10 M6x9
SRB 200 200 8 | 1,5 |60 |133| 2/6374 | SCM | 2/6381 | SCM T R——
SRB 300 300 12" | 2 |60 |133| 2/6375 | SCM | 2/6382 | SCM SRB 100/150/200/300/400
SRB 400 400 | 16 60 | 133 | 2/6376 | SCM | 2/6383 | SCM
SRB 500 500 | 20 60 | 133 | 2/6377 | SCM | 2/6384 | SCM Sl o 128
SRB 600 600 | 24" 60 | 133 2/6385 | SCM g@j E=;:mf
) @ G 20x8”].J36

36

phpgwmmm
=
=
o
(-]
=
20

N NN

ASA
u\N

12x8 B+50
B+50

+E

E] SCR

B e SWL PG ol ei304 304 16x9
mm inch mm kg Ib mm mm REE.  €/u [ —xo—xo—
SCR 50 50 | 2" | 1,5 70 | 155 |2/0975|SCM |2/3450|SCM| 1,5 |2/0995 SCM =

20

“{ SCR 100 100 4" |1,5| 70 | 155 |2/0976|SCM |2/0980|SCM| 1,5 |2/0996| SCM 2010 ,25x7.5  ,35¢7.5
SCR 150 150 | 6" | 1,5| 60 | 133|2/0977|SCM |2/0981|SCM| 1,5 |2/4691| SCM
SCR 200 200 8" | 1,5 |60 |133|2/0978|SCM |2/0982|SCM| 1,5 |2/1020| SCM SCR 50/100/200/300/400
SCR 300 300 12" | 2 | 60 |133]2/0997 SCM [2/1002|SCM| 1,5 |2/1021| SCM ol o 12a
SCR 400 400 | 16" | 2 | 60 | 133]2/0998|SCM |2/1003|SCM | 15 |2/4464| SCM o [‘?
SCR 500 500 | 20" | 2 | 60 |133]2/0999 SCM [2/1004|SCM| 1,5 |2/1022| SCM - - ZOZXB oos s
SCR 600 600 | 24" | 2 | 60 |133|2/1000|{SCM [2/1005|SCM| 1,5 - - ?,“::E'Eécg‘:';:ﬁ
}' B1 (2/4356-ZN / 2/6826-HDG) Lo B+50 50l ]
= SCR 500/600/750
}' BF (2/4362-ZN 1 2/7132-HDG / 2/4923-i304) =

£33 | 83



SPM BASORSUPPORT

| SE-basor

P41-3S 41X41X2 3M

N P6 | HDG |

Ol ReE | em | ReE | €m »
P41-35 41X41X2 3M | 2 |on7313] 943 |on7312| W

L
'S
[m

Geac  Pap e e A
B CONNN RN REE | €u UMM REE | €u | 0 0
R sBL41 60 | 40 | 3 |omoss| 438 4 | 26472 | 668 27t
- CT2 MBXT5 E2 206793 | 033 . : 0 0
SBLAT @ ¥ 2xDING33 M10X30 (0/0320) + 2 x TMAL ML (0/107) R P

I Qreac 21 U,,

—— 25%11 i
@ A 038 o [ E;ﬁ 0 ]

.

¥ S

ellaa| [0 = | | OW =
132 ; Q ~

25X11 25X11

50 25

50
o O

P-SR M8x75 ﬁ
E] SHST

Lo e s
mm [Cinch [ kg 1o TN T I T

SHST 100 100 4" |1,5| 150 | 331 | 2/14489 | 3,81 | 2/14496
SHST 150 150 6" | 1,5 | 150 | 331 | 2/14490 | 4,48 | 2/14497 2
SHST 200 200 8 |1,5| 150 | 331 | 2/14491 | 490 | 2/14498
SHST 300 300| 12" | 2 | 150 | 331 |2/14492 | 6,71 | 2/14499 | @ e
SHST 400 400 | 16" | 2 | 120 | 265 | 2/14493 | 7,86 | 2/14500
SHST 500 500 20" | 2 | 100 | 221 | 2/14494 | 929 | 2/14501
2

SHST 600 600 | 24 100 | 221 | 2/14495 | 10,71 | 2/14502
P HE=

B SRB

=
o
é
=
=
S
a
o
>
@D
=5
=
@D
=T
=

B e SWL HDG

mm_inch ‘'mm kg | Ib RN €lu REF. €l ]
100 4" | 1,570 | 155 | 2/6372 | SCM | 2/6379 | SCM ¢
150 | 6" [ 1,5 |60 | 133 | 2/6373 | SCM | 2/6380 | SCM

20x10 ‘16x9
200 8" | 1,5 |60 | 133| 2/6374 | SCM | 2/6381 | SCM
300 12" | 2 |60 |133| 2/6375 | SCM | 2/6382 | SCM == ==
400 | 16" 60 | 133 | 2/6376 | SCM | 2/6383 | SCM

2
500 20" | 2 |60 |133| 2/6377 | SCM | 2/6384 | SCM
600 | 24" | 2 | 60 | 133 | 2/6378 | SCM | 2/6385 | SCM

B + 50

20

SRB 100
SRB 150
SRB 200
SRB 300
SRB 400
SRB 500
SRB 600

36

SRB 100/150/200/300/400

hphhwmmm

sl o 128

; v
‘ a = ﬁT
m—l 20x8/],/36 B+50
- SRB 500
g o 128
o~
o} s = a
20x8” 1136 B+50
s . SRB 600

84 | e32

GHe
(s




SPM BASORSUPPORT

| SE-basor

P41-3S 41X41X2 3M

(il REF. €/m REF. €/m

P41-35 41X41X2 3M | 2 |on7313] 943 |onm312| W { 78,
wee P o [NCHE - =
e CRRNT RN ReE | e [N RE | €| 0 0
oo SBL41 600 | 40 | 3 |27088| 438 4 | 26472 | 668 27t
) CT2 M8X75 EZ 26793 | 033 - - U @
SBL41 @ ¥ 2xDIN9Z3 M10630 (0/0320) + 2 x TW4L M10 (01107) U LA
25x11 | Y Qeac = OW O
@ A 250xB3 (218827) { o] &4 . 810 | s
ellaa] [0 = 7|, D,,m O
132 ' Q L | ~
‘UT 25X11

25X11

P-SR M8x75 ﬂ
E] SHL

5 e w W[ o EEETONN

mm inch mm mm mm inch kg Ib
SHL 100 100 4" |1,5| 4 | 47 |16/7"| 205 | 450 | 2/6866 | SCM
SHL 150 150 | 6" | 1,5 53 | 2" | 205 | 450 | 2/6867 | SCM
SHL 200 200 8" | 1,5 58 [22/7"| 205 | 450 | 2/6868 | SCM
SHL 300 300 12" | 1,5 68 [22/3"| 250 | 550 | 2/6869 | SCM
SHL 400 400 | 16" | 1,5 79 (319" | 250 | 550 | 2/6870 | SCM

SHL500 500 | 20" | 2 89 312" | 250 | 550 | 216871 | SOM
SHL 600 600 24| 2 | 6 100] 4 | 250 | 550 | 2/6872 | SCM
> B+50
& BL (2/4356-ZN /| 216826-HDG) sl K
.
& BF (2/4362-2N / 2/7132-HDG) sl 8
_ =) 8E (20863-H0G) + B2 (2/6792-HDC) o
SHL 300/400/500/600

E] SHR

e B+50 o
-—wm
o
e | ——™ veser ﬂ
Sz
X

=
o
é
=
==
=
o
o
=
@D
o
S
17}
=T
=

15

|
3
0
4
J
:I; ep |, 0] [37/%
1
6
S

o o o o b

60 20

w
M
[
[
0
B
mN
| 9
w (g ©
~N
I
0

SHR 600 600 | 24" |25 100 4" | 285 | 628 | 2/1025 | SCM

SHR 700 700 | 28" |25 1104 1/3"| 270 | 595 | 2/1026 | SCM

B e ep H SWL HDG i

mm inch mm mm mm inch kg Ib mg

SHR 300 300 12" |25 68 |22/3"| 480 | 1058 | 2/5525 | SCM | 4
SHR 400 400 | 16" |25 79 |31/9" 365 | 804 | 2/1023 | SCM | / ] ¥ %o
SHR 500 500 | 20" |25 89 |31/2"| 300 | 661 | 2/1024 | SCM :; 8l L :ml

1

6

S

o OO OO OO O ®

15 29 o
R ===de=er
epl 50 | 37

SHR 800 800 311/2"] 2,5 120 |4/5/7"| 265 | 584 | 2/1027 | SCM

& BL (2/436-ZN /| 216826-HDG)
& BF (2/4362-2N / 2/7132-HDG)
& [E] 5e 20863106 + 82 26792-100) =

£33 | 85



=
o
(9]
1
—/
=
S
&
z
2
=

@ 18 3M

PE

&

BE (2/0863-HDG) + B2 (2/6792-HDG)

140
18.3M 10 | 26350 | 116,81 - Ermma
Ki8 206056 | 21,19 - = © R
30x12:
KAIB 27052 | 3190 : o
THS 206047 | 786 -
/& P IPNED > CAR ART IPN 80: 4150 x B3 (218827-H0G) 68 o —
€,
o & B3
8 R o &
T
68
! KAI8
30x12 ©
= 3
\ J] o [ [0s 007 <
D O RS il
=
[ ] C DI D C D
140 I
KI8 KAI8 TFI8 200 5
L KI8 18
SHY
i i A T
SHV 200 200) & |25| 3 | 26058 | 867 i
e g, B + 50
SHV 300 300 12 |25| 3 | 26271 | 1019 ﬁ 2
SHV 400 40| 16 |25 3 | 26250 | 1214 T :; 3
SHV 500 500 20' |25| 3 | 26057 | 1438 " o
SHV 600 600| 24' |25| 3 | 26275 | 1662 —~see=s====
SHV 700 700 28 |25| 3 | 26276 | 1957 ol =]
SHV 800 800| 3 |25| 3 | 26277 | 2024
PACK 100 M10x30 (1304) 26320 | 50,00
A SHV - IPN8D: 2/100 x TM10K30 (216320 304)
BI8 + 18 + SHV
e &, B +50
—
18 600 60| 24 | 3 |-|-|-| - | - | - |26345 | 2400
18 1000 1000[39'38| 3 206346 | 3867 g R
- 18 1300 130051 16| 4 206347 | 4962 wl] @
18 1500 1500 59 | 5 206348 | 60,19 80
18 2000 200078'34| 6 206349 | 7943 EI
18 3000 300011819 8 |- |-|-| - | - | - | 26350 11681
SHV 200 20| 8 25| 3 | 58| 227 | 200 | 441 | 206058 | 867 IS
SHV 300 300 12 25| 3 | 68| 223 | 200 | 441 | 26271 | 10,19
SHV 400 400 16 25| 379|319 | 200 | 441 | 26259 | 12,14 Ul
SHV 500 500 | 20° 25| 3 | 89| 31/2 | 200 | 441 | 206057 | 1438 E
SHV 600 600 | 24° 25| 3 [100] 4 | 200 | 441 | 26275 | 1662 .
SHV 700 700| 28 | - |25| 3 110|413 | 200 | 441 | 26276 | 19,57 U
18 SHV 800 800| 32 | - |25| 3 (120 457 | 200 | 441 | 206277 | 2224 =
63x13
BI8 A 206342 | 329 P
U 18
A SHV+ 2T MI0X30 DIN 933 (0/0320) + 2 x DIN 934 M10 (0/0343) |
Piq EI
sty Y o B1 (2/4356-2N / 2/6826-HDG) R
e BF (2/4362-2N / 2/7132-HDG) . ——

50

E38




zn_mgzon_n_:m%mg

E38 | 87









RAL 7035

®

CERTIFIED

SAFETY US-CA
E479833

"x&:ﬂ:} - 960°

60°C
-15°C

UNE-EN 61537 g
UNE-EN 50085 e UNE-EN 60695 UNEEN 61537 UNE-EN 50085
UNE 23727
uL%4
ol Y4 ipax | | 1p2x IK10 IK07
—ﬁ— / L T
/| \| l Mod. 60100 10) ISOTR 10358
UNEEN 61537 IEC 60529 IEC 50102 DiNecel
UNE-EN 50085
TBPE TOPBPE CCBPE TCCBPE
CXBPE TCXBPE TFBPE

y

JUBPE-A

JUBPE-B

B2-P Y,

90|

8" 101 15,7
12" 152 23,6
16"
24"

175
263
354
539

27,1
40,8
54,8
835




BASORPLAST

SE_Dbasor

BELECTRIC

B H
mm inch mm inch m Iﬂrg j

BPE 60X100 PVCM1 UV 7035 100 | 4" | 60 | 22/5 | 210070 | 11,63 i
BPE-P 60X150 PVCM1 UV 7035 150 | 6" | 60 | 22/5 | 2/10071 | 14,22 “’L
BPE-P 60X200 PVCM1 UV 7035 200 | 8" | 60 | 22/5 | 2/10072 | 19,11

BPE-P 60X300 PVCM1 UV 7035 300 | 12" | 60 | 22/5 | 2/10073 | 2941 [—

)’ 2 JUBPE 60 (2/10084)

)
0
= )
NI — : 0
L=3m(10ft) D ::ﬂ

@b BPE-C H60 PVCM1 UV 7035

B H PVCM1 UV
an en oo o SOOI L
BPE-C 60X100 PVCM1 UV 7035 100| 4" | 60 | 225 | 210062 | 11,63
BPE-C 60X150 PVCM1 UV 7035 150 | 6" | 60 | 22/5 | 2/10063 | 14,22 i c[
) BPE-C 60X200 PVCM1 UV 7035 200 | 8" | 60 | 22/5 | 2/10064 | 1911 \ - %l
: ' BPE-C 60X300 PVCM1 UV 7035 300 | 12" | 60 | 22/5 | 2710065 | 29,41 I 2
B A 21UBPE 60 (2/10084) : hJ
L=3m(10f) [ N Wr jﬂ}[

B H — —
S e | e L
BPE 100X200 PVCM1 UV 7035 200| & [100| 4" |210074 | 2850 ) Bm
BPE 100X300 PVCM1 UV 7035 300| 12' |100| 4* | 210075 | 4133 "“"TL ([ psas
BPE100X400 PVCM1 UV 7035 400| 16" [100| 4" | 2010076 | 5437 —ingid ;k%
BPE 100X600 PVCM1 UV 7035 600 | 24 |100| 4* | 2710077 | 8007 m[jsg gzg os}”
A 21U BPE H100 (2110085) De0g 00D
= i
fodgoop
L=3m(10f) da0doeg
@b BPE-C H100 PVCM1 UV 7035
B H - —
mm inch mm inch [LTEN I Ir )
BPE-C 100X200 PVCM1 UV 7035 200| & [100] 4 | 210066 | 2852 2
BPE-C 100X300 PVCM1 UV 7035 300| 12 [100| 4* | 210067 | 4133 :%
BPE-C 100X400 PVCM1 UV 7035 400| 16" | 100| 4* |2/0068 | 5437 Py
BPE-C 100X600 PVCM1 UV 7035 600 | 24 | 100| 4" | 2710069 | 8007

B 2 JUBPE 100 (2/10085) @ ::ﬁzpﬁ
Z )

L=3m(10ft) —

91



BASORPLAST

= e SE_basor

TBPE PVCM1 UV 7035
B ——
mm inch [N L B
TBPE 100 PVCM1 UV 7035 100 4" | 210078 | 763
TBPE 150 PVCM1 UV 7035 150 | 6" | 2710079 | 926 ]
TBPE 200 PVCM1 UV 7035 200| 8" | 2/10080 | 11,% ]
/ TBPE 300 PVCM1 UV 7035 300 | 12" | 2/10081 | 16,56
TBPE 400 PVCM1 UV 7035 400| 16" | 2110082 | 24,69
B TBPE 600 PVCM1 UV 7035 600 | 24" | 2/10083 | 42,56
L=3m(10f) ’@
T BPE 600

@ CPBPE PVCM1 UV 7035

B h 9 s
mm inch mm inch mm :Wﬁ%ﬁl
CPBPE 60X100 PVCM1 UV 7035 100 4" | 60 | 22/5|2/10089 | 55,63 RETE
CPBPE 60X150 PVCM1 UV 7035 150 6" | 60 | 22/5 | 2/10090 | 58,59
CPBPE 60X200 PVCM1 UV 7035 200| 8" | 60 | 22/5 | 2/10091 | 63,85

CPBPE 60X300 PVCM1 UV 7035 300 | 12" | 60 | 22/5 | 2/10092 | 76,96 —
CPBPE 100X200 PVCM1 UV 7035 200 &' |100| 4" |2/10093 | 81,93 o
CPBPE 100X300 PVCM1 UV 7035 300 | 12" |100| 4" |2/10094 | 97,04

CPBPE 100X400 PVCM1 UV 7035 400 | 16" | 100 4" | 2/10095 | 124,15 P

CPBPE 100X600 PVCM1 UV 7035 600 | 24" |100| 4" | 2/10096 | 194,37

) 2 JUBPE €0 (2/10084) + 4/100 B2-P (2/10017) - 2 JUBPE 100 (2/10085) + 8/100 B2-P %
(2/10017) =z el
sols0,

B R c
H100
@ TCPBPE PVCM1 UV 7035
B
mm inch [SCEAN G
) TCPBPE 100 PVCM1 UV 7035 100 | 4" | 2/10097 | 34,22 B c
—_— TCPBPE 150 PVCM1 UV 7035 150 | 6" 2/10098 | 4511
TCPBPE 200 PVCM1 UV 7035 200 | 8" | 2/10099 | 5148
TCPBPE 300 PVCM1 UV 7035 300 12" | 2/10100 | 63,76 °
TCPBPE 400 PVCM1 UV 7035 400 | 16" | 2/10101 | 78,67
TCPBPE 600 PVCM1 UV 7035 600 | 24" | 2/10102 | 115,65
-
TCPBPE 600

92



BASORPLAST

O SE.besor

Q CCBPE PVCM1 UV 7035

b h ‘
mm inch mm inch mm g
CCBPE 60X100 PVCM1 UV 7035 100 | 4" | 60 | 22/5 | 2/10103 | 54,52 Lj
CCBPE 60X150 PVCM1 UV 7035 150 | 6" | 60 | 22/5 | 2/10104 | 56,89 o
CCBPE 60X200 PVCM1 UV 7035 200 8" | 60 | 22/5 | 2/10105 | 60,37
CCBPE 60X300 PVCM1 UV 7035 300 | 12" | 60 | 22/5| 2/10106 | 68,89 I e
CCBPE 100X200 PVCM1 UV 7035 200 8" |100| 4" |2/10107 | 71,85 e,
CCBPE 100X300 PVCM1 UV 7035 300 | 12" |100| 4" |2/10108 | 83,63
CCBPE 100X400 PVCM1 UV 7035 400 | 16" | 100 | 4" | 2/10109 | 113,04 “ :]:Lr H
CCBPE 100X600 PVCM1 UV 7035 600 | 24" [100) 4" | 2/10110 | 13585 H60
/v 2 JU H60 BPE (2/10084) + 4/100 B2-P (2/10017) - 2 JU H100 BPE (2/10085) + 8/100 B2-P s —=
(2/10017) {1
[
H100
Q TCCBPE PVCM1 UV 7035
B
mm inch (ST T
TCCBPE 60X100 PVCM1 UV 7035 100 | 4“ | 2/10111 | 53,63
TCCBPE 60X150 PVCM1 UV 7035 150 | 6" | 2/10112 | 64,30
TCCBPE 60X200 PVCM1 UV 7035 200| 8" | 210113 | 6681
TCCBPE 60X300 PVCM1 UV 7035 300| 12" | 210114 | 7541 =
TCCBPE 100X200 PVCM1 UV 7035 200 8" |2/10115| 7689
TCCBPE 100X300 PVCM1 UV 7035 300| 12" | 210116 | 83,33
TCCBPE 100X400 PVCM1 UV 7035 400 | 16" | 2/10117 | 97,93 @
TCCBPE 100X600 PVCM1 UV 7035 600 | 24" | 2/10118 | 121,63

-
&-"i TCCBPE 100X600

93



BASORPLAST

O SE_ basor

@ CXBPE PVCM1 UV 7035

e — B H
mm inch mm inch mm =+
CXBPE 60X100 PVCM1 UV 7035 100| 4" |60 | 225 | 210119 | 5452 «
CXBPE 60X150 PVCM1 UV 7035 150 | 6" | 60 | 22/5 | 210120 | 5689 o
CXBPE 60X200 PVCM1 UV 7035 200 8 | 60 | 225 | 2710121 | 60,37 B
CXBPE 60X300 PVCM1 UV 7035 300| 12 | 60 | 22/5 | 2710122 | 68,89 ET
CXBPE 100X200 PVCM1 UV 7035 200 8 [100| 4" | 210123 | 7185 § e
CXBPE 100X300 PVCM1 UV 7035 300 12° [100| 4" | 210124 | 8363
CXBPE 100X400 PVCM1 UV 7035 400| 16" |100| 4" | 2710125 | 113,04 ®
CXBPE 100X600 PVCM1 UV 7035 600 | 24" |100| 4" | 2/10126 | 13585
(22/J1Lé%liE)60 (2/10084) + 4/100 B2-P (2/10017) - 2 JUBPE 100 (2/10085) + 8/100 B2-P H60
7

5
c 4
H100
6 TCXBPE PVCM1 UV 7035
g H
mm inch mm inch mm 7~
TCXBPE 60X100 PVCM1 UV 7035 100 4" | 60 | 24" | 210127 | 53,63
TCXBPE 60X150 PVCM1 UV 7035 150 | 6" | 60 | 24" | 210128 | 64,30
TCXBPE 60X200 PVCM1 UV 7035 200 8" |60 | 24" | 210129 | 66,81
TCXBPE 60X300 PVCM1 UV 7035 300 | 12" | 60 | 24" | 210130 | 7541
TCXBPE 100X200 PVCM1 UV 7035 200 | 8" |100| 4" |2/10131 | 76,89
TCXBPE 100X300 PVCM1 UV 7035 300 | 12" 100 | 4" |2/10132 | 8333
TCXBPE 100X400 PVCM1 UV 7035 400 | 16" |100| 4" | 2/10133 | 97,93
TCXBPE 100X600 PVCM1 UV 7035 600 | 24" |100| 4" | 2/10134 | 121,63 ®
R
TCXBPE 100X600

4L
n PDBPE 60/100 GSP 7035
B H GSP 7035

mm inch mm inch ~ REF €lu : EI

PDBPE 60/100 GSP 7035 (100 4 | 60| 24" [210135] 723
g /410082 (2110017) =
5160 Umoo —

P

142

J
S

142

g,




SE_Dbasor

ELECTARIC

TFBPE GSP 7035

mminch mminch - RER €u T
TFBPE 60X100 GSP 7035 100| 4" |60 225" | 2710136 | 1222 7
TFBPE 60X150 GSP 7035 150 | 6" |60 225" 210137 | 1319 ID P
TFBPE 60X200 GSP 7035 200) 8 |60 225" | 210138 | 1348 &
TFBPE 60X300 GSP 7035 300| 12" | 60 |225"| 210139 | 1548 S
TFBPE 100X200 GSP 7035 200) 8 [100 4" | 210140 | 17,63 Z )
TFBPE 100X300 GSP 7035 300 12" [100| 4" | 210141 | 21,19 a
TFBPE 100X400 GSP 7035 400| 16" |100| 4" | 210142 | 2363
TFBPE 100X600 GSP 7035 600 24" [100| 4" | 210143 | 2481 B
A 2100 B2.P (2110017)

PSBPE PVCM1 UV 7035

PSBPE 60 PVCM1 UV 7035 60 [2255" | 270144 | 711 *[ {
N—— N—y
PSBPE 100 PVCM1 UV 7035 100 4" | 210145 | 859 2] (=]
A 4/10082-P (2710017)
H60 H100
JUBPE PVCM1 UV 7035
25x8\ R
‘mmineh [ L= %%
JUBPE 60 PVCM1 UV 7035 60 |22/5"| 2/10084 | 2,37 00 3
JUBPE 100 PVCM1 UV 7035 100| 4 | 20085 | 296 —
2 x JUBPE 60 - 4/100 B2-P (2/10017) p———

2 x JUBPE 100 — 8/100 B2-P (2/10017)

7]

-l L
Lm0 ] N
7

250

BPI JU 100

o[ 95



=E=. basor

ELECTHRIC

JUBPE-A i304

304
mm REE.  €u

JUBPE-A 60 i304 60 | 22/5| 2/5036 | 10,37
JUBPE-A 100 i304 100 | 4" | 2/5037 | 1348

~ 2xJUBPE-A - 8/100 B2-P (2/10017)

JUBPE-A 100

JUBPE-B i304

i304 o % 25

v
JUBPE-B 60 i304 60 | 22/5| 23520 | 6,52 £| == P/
JUBPE-B 100 i304 100 | 4" | 2/5038 | 815 250
JUBPE-B 60
’ 2 x JUBPE-B — B2-P (2/10017)

50 32,5
AN

250
JUBPE-B 100

H-20

40%9

H-28

CTBP-100 PVCM1 UV 7035

PVCM1 UV
B | e
G a CTBP-100 PVCM1 UV 7035 | 210017 | 51,33
f =

[Seor
S]
M8

I

.

96|



BASORPLAST

L AT i SE.besor

97



BASORPLAST

mC i SE_ basor

~

RAL 7030

% K& I [~

RoHS/ v
UNE-EN 61537 = UNEENISY UNE-EN 60695 UNEEN 61537 UNE-EN 50085
UNE-EN 50085 -
SR UNE 23727
UL94
» ' I 5)
I j IP3X [ | IP2X 1K10 1K07
I_.__IZOJ _\;QE_ ) - -
Mod. 60x100 10) ™ @ C) TS ISO/TR 10358
: DIN 8061
UNE-EN 61537 IEC 50102
UNE-EN 50085
BIK10 RA50 CPBPI TCPBPI
TCCBPI CXBPI TCXBPI PDBPI
| 3 I =
\_ PSBPI JUBPI JUBPI-A JUBPI-B M8 PVC )
s N
%
B H60 (2 1/3") H100 (4”)

mm inch cm? in? cm? in?

100 4 52 8,06

150 6" 80 12,4

200 8" 93 144 169 26,2

300 12" 143 222 259 40,1

400 16" - - 349 54,1

600 o' . - 529 820 —

L y =




BASORPLAST

Oy SE. basor

BPI H60 PVCM1 7030

H 7
w weh e [ ]

‘[B

BPI 60X100 PVCM1 7030 100 | 4" | 60 | 213" | 2/1162 | 10,07
BPI 60X150 PVCM1 7030 150 | 6" | 60 |21/3"| 2/1163 | 1244 >0 o
BPI 60X200 PVCM1 7030 200 | 8" | 60 |21/3"| 2/1164 | 1514 N [ﬁ
BPI 60X300 PVCM1 7030 300 | 12" | 60 |21/3"| 2/1165 | 2292 [, 0
. @ ’ 2 JUBPI 60 (2/2061) ! a
L=3m(10f) r| Q EI
B 100/150 Z) 350 20
B 100/150

8 -_.

L=3m(10f)
B 200/300

B 200/300

%?

BPI-C H60 PVCM1 7030

B H T 7
mm inch mm inch m

BPI-C 60X100 PVCM1 7030 100 | 4" | 60 | 213" | 21156 | 10,07 8 s
BPI-C 60X150 PVCM1 7030 150 | 6" | 60 |21/3"| 21157 | 1244

BPI-C 60X200 PVCM1 7030 200 8" | 60 [21/3"| 2/1158 | 1514 Sl
BPI-C 60X300 PVCM1 7030 300 | 12" | 60 |21/3"| 211159 | 22,92

B @ ) 2 JUBPI 60 (2/2061)

~
L=3m(10ft)

B 100/150 B 100/150

Q9

L=3m(10f) R
B 200/300 &/
B 200/300
J BPI H100 PVCM1 7030
B H PVCMI
mm inch mm inch [SLTEA N
BPI 100X200 PVCM1 7030 200 8 | 100 47 | 24898 | 21,15 °
35x9
BPI 100X300 PVCM1 7030 300| 12" | 100| 4" | 24964 | 3068 7 -5
BPI 100X400 PVCM1 7030 400 16" 100 | 4" | 21166 | 39,75 {—h bo ‘
BPI 100X600 PVCM1 7030 600 | 24 | 100| 4° | 21167 | 5549 I
. A 21U8P1 100 (212062 A RmEY
[ 7| 00000 S
L=3m(10ft) 00000 SE}
42 |

|99



Oy

BASORPLAST

AR

@b BPI-C H100 PVCM1 7030

SE_Dbasor

BELECTARIC

H PVCM1
mm inch mm inch m N
BPI-C 100X200 PVCM1 7030 200| 8" [ 100 | 4 | 255091 | 21,15 .
BPI-C 100X300 PVCM1 7030 300 | 12" | 100 | 4" | 2/5092 | 30,68 S
BPI-C 100X400 PVCM1 7030 400 | 16" | 100 | 4" | 21160 | 39,75
BPI-C 100X600 PVCM1 7030 600 | 24" | 100 | 4" | 21161 | 5549 )
F.: f‘ 2 JUBPI 100 (2/2062) T ]
=
L=3m(10f) sl
EPT’
— ’LZL
@ TBPI PVCM1 7030
- 2
o noh. [0 S
TBPI 100 PVCM1 7030 100 4" | 21185 | 719
TBPI 150 PVCM1 7030 150 | 6" | 211186 | 874
TBPI 200 PVCM1 7030 200| 8 | 21187 | 1037
TBPI 300 PVCM1 7030 300 | 12" | 21188 | 1333
TBPI 400 PVCM1 7030 400 | 16" | 2/1189 | 2061
B TBPI 600 PVCM1 7030 600 | 24" | 21190 | 32,97
L=3m(10f) ’@
F TBPI 600
@BIK]O-BPI
A Mo
mm inch mm e IEHIEE
BIK10-BPI 60X100 AL 53| 2“ | 15|  60x100 27063 | 2,77
: BIK10-BPI 60X150 AL 95 |33/4"| 15|  60x150 207064 | 2,88 5
BIK10-BPI 60/100X200 AL 140 |51/2"| 1,5 | 60/100X200 | 2/7065 | 2,99 QI e |
0 3 BIK10-BPI 300X60 AL 226 |88/9"| 1,5 300x60 2/7066 3,22 _ 2
IKT0 BIK10-BPI 300X100 AL 235 914" | 15|  300x100 | 277067 | 337 l I
BIK10-BPI 400X100 AL 3712127 2 | 400x100 | 217068 | 3,60
BIK10-BPI 600X100 AL 502 1934"| 2 | 600100 | 277069 | 407
(8
! i
@ RA50 2M PVCM1
PVCMI 50 h
ERKCE SNk
RAS0 2M PVCMI1 | 26357 | 1067 ﬁi@
¥
K
22x7.5 "

100




BASORPLAST

‘UJ AlBPl -SE.Dbasor

BELECTARIC

@ CPBPI PVCM1 7030

B H C R PVCM1 %“/ 8
mm inch mm inch mm inch mm inch mm = J_DLN
5

CPBPI 60X100 PVCM17030 | 100 | 4“ | 60 |21/3"|224 |85/6"| 80 |31/7"| 2/1168 | 54,52
CPBPI 60X150 PVCM17030 | 150 | 6" | 60 |21/3"|224 |85/6"| 80 |31/7"| 2/1169 | 57,19
CPBPI 60X200 PVCM17030 | 200 | 8" | 60 |21/3"|218 | 84/7"| 80 |31/7"| 2/1170 | 59,63

CPBPI 60X300 PVCM17030 | 300 | 12" | 60 |21/3"|218 |84/7"| 80 |31/7"| 2/1171 | 66,37

CPBPI 100X200 PVCM17030 | 200 | 8" |100| 4" |218 84/7"| 80 \31/7"| 2/5188 | 72,52 0
CPBPI 100X300 PVCM17030 | 300 | 12" | 100 | 4" 218 |84/7"| 80 |31/7"| 2/5189 | 78,15

CPBPI 100X400 PVCM1 7030 | 400 | 16" | 100 | 4" 218 |84//"| 80 |31/7"| 2/1172 | 97,11 B R

CPBPI 100X600 PVCM1 7030 | 600 | 24" | 100 | 4" |241|91/2"|100| 4" | 2/1173 | 146,96 "

2 JUBPI 60 (2/2061) 5%
2 JUBPI 100 (2/2062) E I ?ﬁ‘gﬁ
Z )

B R
C
H100
@ TCPBPI PVCM1 7030
B c PVCM1
mm inch mm inch mm
&, . TCPBPI 100 PVCM1 7030 100 | 4" |219|858" | 2/5194 | 3378 B c
_ iy TCPBPI 150 PVCM1 7030 150 | 6" |217|81/2" | 2/5195 | 44,52
TCPBPI 200 PVCM1 7030 200 8 |218\84/7"| 2/5198 | 50,52 .
TCPBPI 300 PVCM1 7030 300 | 12" | 217 |81/2"| 2/5199 | 62,15
TCPBPI 400 PVCM1 7030 400 | 16" |215|81/2" | 2/5200 | 76,07
TCPBPI 600 PVCM1 7030 600 | 24" |21581/2"| 2/5201 | 11111
e @ () PPt 600
Q CCBPI PVCM1 7030
B H C R PVCM1 c
mm inch mm inch mm inch mm inch mm S M
CCBPI 60X100 PVCM17030 | 100 4° | 60 |21/3"|238 |93/8"| 130 |51/8"| 2/1174 | 5341 1l j‘

CCBPI 60X150 PVCM17030 | 150 | 6" | 60 |21/3"|238 |93/8"| 130 |51/8"| 2/1175 | 5556
CCBPI 60X200 PVCM17030 | 200 | 8" | 60 |21/3"(23893/8"| 130 |51/8"| 2/1176 | 56,81
CCBPI 60X300 PVCM17030 | 300 | 12" | 60 |21/3"|238 |93/8"| 130 \51/8"| 2/1177 | 61,11
CCBPI 100X200 PVCM17030 | 200 | 8" |100| 4" |274|104/5"| 170 |62/3"| 2/5190 | 62,44 3
CCBPI 100X300 PVCM17030 | 300 | 12" | 100 | 4" |274 |104/5"|170 |62/3" | 2/5191 | 66,89
CCBPI 100X400 PVCM1 7030 | 400 | 16" | 100 | 4" |274 |104/5"|170 |62/3" | 2/1178 | 9193 © ::]: H

CCBPI 100X600 PVCM1 7030 | 600 | 24" | 100 | 4" |274 |104/5"| 170 |62/3" | 211179 | 10659 o0
2 JUBPI 60 (2/2061) c
2 JUBPI 100 (2/2062) B

=

H100

101



BASORPLAST

O awm SE basor
@Q TCCBPI PVYCM1 7030

;

TCCBPI 60X100 PVCM1 7030 100 | 4¢ 2/5202 | 53,26

TCCBPI 60X150 PVCM1 7030 150 | 6" 2/5203 | 63,85

TCCBPI 60X200 PVCM1 7030 200 8" 2/5204 | 66,07

TCCBPI 60X300 PVCM1 7030 300 12" | 2/5205 | 74,30 e
TCCBPI 100X200 PVCM1 7030 200 8" 2/5207 | 76,00

TCCBPI 100X300 PVCM1 7030 300 12" | 2/5208 | 82,15

TCCBPI 100X400 PVCM1 7030 400 | 16" | 2/5209 | 96,30 @

TCCBPI 100X600 PVCM1 7030 600 | 24" | 2/5210 | 119,26

’ @ ﬁ TCCBPI 100X600

@ CXBPI PVCM1 7030

B H C R PVCM1
mm inch mm inch mm inch mm inch m 2

CXBPI 60X100 PVCM17030 | 100 | 4 | 60 |21/3"|238|93/8"| 100 4" | 2/1180 | 5341 of
CXBPI 60X150 PVCM17030 | 150 | 6" | 60 | 21/3"|238|93/8" 100 | 4" | 2/1181 | 5556
CXBPI 60X200 PVCM17030 | 200 | 8" | 60 |21/3"|243 |94/7"| 100 4" | 2/1182 | 56,81

CXBPI 60X300 PVCM17030 |300 | 12" | 60 |21/3"|243 |94/7"| 100 4" | 2/1183 | 61,11 %T%
CXBPI 100X200 PVCM1 7030 200 | 8" | 100 | 4" |279| 11" | 120 |45/7"| 2/5192 | 6244 ¢ lus
CXBPI 100X300 PVCM17030( 300 | 12" |100 | 4" |279| 11" | 120 |45/7" | 2/5193 | 66,89

CXBPI 100X400 PVCM1 7030|400 | 16" |100 | 4" |279| 11" | 120 |45/7"| 2/1184 | 91,93 E

CXBPI 100X600 PVCM17030| 600 | 24" | 100 | 4" |279| 11" | 120 |45/7" | 2/4707 | 106,59

2 JUBPI60 (2/2061) H60
2 JUBPI'100 (2/2062)

a Tlrc

o/

a8
c "l
I ]
H100
@@ TCXBPI PVCM1 7030
B
L = [ o
TCXBPI 60X100 PVCM1 7030 100| 4* | 25211 | 5326
TCXBPI 60X150 PVCM1 7030 150| 6 | 25212 | 6385
TCXBPI 60X200 PVCM1 7030 200 & | 25213 | 66,07
TCXBPI 60X300 PVCM1 7030 300| 12° | 25214 | 7430
TCXBPI 100X200 PVCM1 7030 2000 & | 25215 | 7600
TCXBPI 100X300 PVCM 7030 30| 127 | 2526 | 82,15
TCXBPI 100X400 PVCMI 7030 40| 16" | 25217 | 96,30
TCXBPI 100X600 PVCM 7030 600 | 24 | 25218 | 11926 °
p @ ) ToxePI 100600

102



BASORPLAST

‘Umxn

'l r PDBPI 60/100 GSP 7030

SE_Dbasor

BELECTARIC

TFBPI GSP 7030

"9
|

. PSBPI PVCM1 7030

e | o :
PDBPI 60/100 6SP 7030 | 23521 | 7,23
46
A~ /1008 PVC (2110020) — ﬂ
o °
= 9
142
B H
mm inch mm inch m e
TFBPI 60X100 GSP 7030 100 4* |60 |21/3"| 24395 | 1222
TFBPI 60X150 GSP 7030 150| 6" |60 |21/3"| 214800 | 1319 gl A
TFBPI 60X200 GSP 7030 200 8 |60 (213" | 2/43% | 1348 &
TFBPI 60X300 GSP 7030 300| 12" | 60 |213"| 2/4838 | 1548 ¥
TFBP 100X200 GSP 7030 200) 8 |100| 4 | 25220 | 17,63 z N
TFBPI 100X300 6SP 7030 300 12° [100| 4" | 25221 | 21,19 o
TFBPI 100X400 GSP 7030 400| 16" [100| 4" | 25125 | 2363
TFBPI 100X600 GSP 7030 600 24" |100| 4" | 2/5219 | 2481 B
A 2/100 M8 PVC (2/10020)
H PVCM1
LM REE i .
PSBPI 60 PVCM 1 7030 60 [213"| 23522 | 689 * *
N—— N——y
PSBPI 100 PVCM1 7030 00| 4 | 23523 | 807 [ 25 ] [25]
A 47100 M8 PYC (2110020)
H60 H100

103



BASORPLAST

mOsam SE.besor
JUBPI PVCM1 7030

H PVCM1 25%8 ,
LU RER Ll S
JUBPI 60 PVCM1 7030 M [135 | 22081 | 230 e
JUBPI 100 PVCM1 7030 74 3 | o062 | 281 —
JUBP1 60 --> 2/100 M8 PYC (2/10020) oo

JUBPI 100 --> 4/100 M8 PVC (2/10020)

- ==

[

H-26

J25[ 50 .\‘
-

250

JUBPI 100

JUBPI-A i304

H i304
mm inch  REF. €lu
JUBPI-A 60 i304 60 [21/3" | 25036 | 1037
JUBPI-A 100 i304 100 4" | 25037 | 1348
A 4/100 M8 PVC (2/10020)
TornilloBl;
B JUBPI-B 100
-
U JUBPI-B i304
H i304 0 325

40x9 .
mm inch REF. €lu i

b | |
60 [21/3| 213520 | 652 =0 oo
100| 47 | 25038 | 815 B

H-20

JUBPI-B 60 i304
JUBPI-B 100 i304

JUBPI-B 60

) 4/100 M8 PVC (2/10020)

40x9 50 32,5
U
> :)\:) 0 :‘)(—L)
n
250
JUBPI-B 100

@ CTBP-100 PVCM1 7030

H-28

| RE | eu
. CTBP-100 PVCM1 7030 ‘ 2/10020 ‘ 51,19
'@

&

JoS®Rg

W

104




BASORPLAST
B  BPl -SE.Dbasor

BELECTRIC

105



105 (232) 120 (265)

130 (287) 220 (486)

180 (397)

rors7 6y

3#"[ | 3#"[ I
-20°C 2N ! 20 /
ISOTR 10358
UNE-EN 61537 PUCMI PVCML UV DIN 8061

L

PSHG

90 (199) 105 (232) 120 (265) 130 (287) 220 (486) 180 (397)

ks 6y

ISR 1
UNE-EN 61537 i

SVG

ros7 KLy

ﬂwc N ' ules i i
-20°C /: *\: /: i\:
[ [ /
L!J L—J ISO/TR 10358
UNE-EN 61537 PVCM1 PVCM1 UV DIN 8061

106

E38



|u BASORPLAST
- . Dasor

BELECTARIC

SHG
B w| 6| PVCM1 UV

mm inch CTA(kg) CTAGkg) (A0 0 REE €l s S S
SHG 100 100 4 | 9 | 45 | 26779 | 667 | 200011 | 69 T
SHG 150 150 6 | 105 | 525 | 2678 | 800 |210012| 822 §
$HG 200 2000 & | 120 | 60 | 26781 | 1281 | 210013 | 13% e ™
SHG 300 00| 127 | 130 | 65 | 2782 | 1600 | 21004 | 1637 509
$HG 400 40| 16 | 220 | 110 | 27134 | 2126 | 2710015 | 2178 %‘{E/D:
SHG 600 600| 24" | 180 | 90 | 27135 | 2341 | 2710016 | 2415 —

.LJ 162

SHG100

i~
o
S

-

5

T p
Eﬁ 9 A 80
= 50 B+65
[ ] |
‘rﬁﬂ ‘\lgxni sy

]

i

—

gH: T: ﬁ 13%9 58x9 19x11
‘ = = = =g

w1 — — —

363 B+14

SHG150 SHG200 SHG300 SHG 400/600

PSHG 2M

GSP /304
“he | o |
28
PSHG 2M i304 207203 | 27,78 A{T
CT2 M10X100 i304 2[7228

85

2,37 —

O,
 1CPSHG 304 (217228) 3 E{
1 M10c100 DIN 931 + 1 M10 DIN6923. . q)
&

[ O
17
PAS SHG M10x100 DIN931

@é M10 DIN6923
.0
10 E

2000

107



U |

BASORPLAST

J
= =& Das0or
s A BLECTRIC
KSHGR + PSHGR 600
GSP /304 o 0
| REE | €| e
KSHGR 6SP 7030 217403 | 14,00 g | ()
PSHGR 600 GSP 7030 217404 | 2541 u
CT2 M10X100 i304 27228 | 237 JE} 7501
TFSHGR PVC 212112 | 1,30 §
KSHGR 25x11 E[R‘
PSHGR —>KSHGR & 4xB21304 Eﬁ
SHG 100~300 > KSHGR /& 1x P SHG 304 KSHGR
SHG 400~600 > KSHGR ~J& 2 P SHG 304 o [0
—
= ™
o o
o ]
3 o
0]
(e}
O
M10x100 DIN931 [e] i
10 : Q{ 86
L PAS SHG PSHGR
B CTA PVCM1 PVCM1 UV .
mm inch kg b SUEINITN REE € I,
SVG 100 100| 4 |384] 846 | 2710056 | 7,56 | 210050 | 830 o & i E
$VG 150 150 | 6 |384| 846 | 2710057 | 815 |2/10051 | 89 L | L=
$VG 200 200 8 |384| 846 | 2710058 | 867 |2/10052| 9,56 f—
SVG 300 300 | 12 |204| 450 | 2/10059 | 9,85 | 210053 | 1089 o Bl o o=
$VG 400 400| 16" |120| 263 | 2/10060 | 1096 |2/10054 | 12,15 oo ocfalis,
SVG 600 600 | 24' | 60 | 132 | 210061 | 1274 |2/10055 | 14,30 1500 10110
A BPI> SVG: 21100 x M8 PVC

108




s BASORPLAST

T Fpisupeors =& basor

109






BASORCANAL (@) SCE




BASORCANAL () SCE

N

1 L>100 X > 120 « )
= t>10m & AN\l e ]:J le.p f1P20 fikio] AR
UNE-EN 50085 UNE-EN 61537 g E || U
UNE23727 UNE-EN 50085 UNE-EN 50085 UNE-EN 50085 IEC60529 IEC 50102
CPWT TCPWT TSCPWT CP45WT TCP45WT TSCP45WT
’ " ) H
TEWT TTEWT TSTEWT CCCXWT PSWT REWT
| ﬁ &ﬂﬁu I @ &
' 9
TFWT JUWT N% Bl DIN 7991 M6 TMK
%
B H100 (4")
mm inch cm? in?
100 4 85,56 13.26
200 8 181,56 28,14
300 12 277,56 4302
400 16 371,32 57,55
500 20 461,32 72,43
600 24 563,32 87,31
12 | ez




I

/]

\

il

//

J
/

/)]
/]

//

i

7/

7
v/

NN =0r
R U e
CTA (Kg) mm inch mm inch ;]
WT 100X100 S 21 | 150 |100| 4 |100| 4 | 2/10146 | 40,06 -
WT 200100 S 45 | 150 |200| 8 |100| 4 | 210147 | 5265 -
WT 300100 S 69 | 150 [300| 12 [100| 4 |2/10148 | 6265 Vel
WT 400X100 S 93 | 150 [400| 16 [100| 4 |2/10149 | 72,71
WT 500X100 GS 117 | 150 [500| 20 |100| 4 | 210150 | 82,39 i
WT 600X100 GS 141 | 150 [600| 24 [100| 4 |2n0151| 9194 g [[Tso]
L=2m (66 1) & 2wt 7
3 xSV (B) B=100-> 2/1046 ; B=200 --> 2/1048 ; B=300 --> 2/1049 ; B=400 > 2/3413 ; I
B=500 --> 2/3414 ; B=600 --> 2/3415 e -
H__ i | S i
TWT AL
g s :
mm inch 5 g
TWT 100 AL 150 | 100| 4 | 2/10191 | 3761
TWT 200 AL 150 (200 8 |2/10192 | 60,97 = =
TWT 300 AL 150 |300| 12 |2/10193 | 89,55 =M=
TWT 400 AL 150 |400| 16 | 2/10194 | 11413
TWT 500 AL 150 |500 | 20 | 2/10195 | 139,10
TWT 600 AL 150 |600| 24 | 2/10196 | 16387
& 6xDIN7991 (0/1220)
1 PSWT (2/10180) ~> TWT (400 - 600) W= =
— EIMZ=MME] |
TSWT GS
N PG | :
N | o I —r—
TSWT 100 6S 100 4 | 210185 | 17,35
TSWT 200 63 200 8 |2/10186 | 2645
=, TSWT 300 S 300| 12 | 210187 | 3742 A ——
TSWT 400 GS 400| 16 | 2/10188 | 4690
TSWT 500 GS 500 | 20 |2/10189 | 5652 R dlo
B TSWT 600 GS 600 | 24 | 2/10190 | 66,06 =
L=2m (66 /&~ 6xDIN 7991 (011220)
@ CPWT GS
R B H “ 12x8
-
(Kg) mm inch mm inch REF. €lu . © @ﬂ
CPWT 100X100 6 150 |100| 4 [100| 4 |2/10152 | 4335
CPWT 200X100 65 150 (200 8 [100| 4 |2/10153 | 5394 8
CPWT 300100 6 150 |300| 12 [100| 4 |2/10154 | 66,77 5 =
CPWT 400X100 6 150 |400 | 16 [100| 4 | 2/10155| 81,94
CPWT 500X100 6 150 |500| 20 [100| 4 | 2/10156 | 99,42 !
CPWT 600X100 GS 150 |600 | 24 |100| 4 | 2010157 | 117,87 9

A 4xB1 (235%)

B=500 --> 2/3414 ; B=600 --> 2/3415

JUWT

1xSV(B) B=100 -->2/1046 ; B=200 --> 2/1048 ; B=300 --> 2/1049 ; B=400 --> 2/3413 ;

»

E38

113

L
O
(2]
o |
=<
=
<<
()
1=
=]
172
=T
==




L
(8]
(2]
P |
=<
=
<<
[
1=
=]
172
=T
==

TCPWT 100 AL 00| 4
TCPWT 200 AL 150 |200| 8 |2/10198 | 3981 oo
TCPWT 300 AL 150 | 300| 12 | /10199 | 61,23 BRTEEEL
TCPWT 400 AL 150 [400 | 16 | 2/10200 | 87,10 EMEMEME
TCPWT 500 AL 150 (500 | 20 | 2/10201 | 118,13 @ﬁ@ ﬁ@ ﬁ@
TCPWT 600 AL 150 | 600 | 24 | 2/10202 | 15432 = W= W= T =
4 : TEIEIED
A B=100200,300 3 DIN 7991 (0/1220) =i gﬁu "
A B=400,500,600 5 x DIN 7991 (0/1220) ]
TSCPWT GS
N e
mm inch REF. €lu . .
: TSCPWT 100 65 00| 4 | 2/10203 | 14,00 o
TSCPWT 200 65 200 8 | 210204 | 2065
. . TSCPWT 300 GS 300| 12 | 210205 | 29,55 s ’
TSCPWT 400 GS 400| 16 | 2110206 | 4077
TSCPWT 500 GS 500| 20 |2/10207 | 54,32
TSCPWT 600 GS 600| 24 | 210208 | 70,13 ’
~ B=100200,300 3 x DIN 7991 (0/1220) p
 B=400,500,600 5 x DIN 7991 (0/1220) B
@ CP45WT GS
TN
k) mm inch mm inch [EIET 4 |eo i) —12x8
CP45WT 100X100 GS 150 [100| 4 [100| 4 | 210158 | 4503
CP45WT 200X100 GS 150 [200| 8 [100| 4 |2/10159 | 5439
CP45WT 300X100 GS 150 (300| 12 |100| 4 | 210160 | 6342
CP45WT 400X100 GS 150 [400| 16 |100| 4 | 2/10161 | 79,68
CP45WT 500X100 GS 150 (500 20 |100| 4 |2/10162 | 9658
CP45WT 600X100 GS 150 [600| 24 100 4 | 2/10164 | 11490

A 4xB1(2356)

1 xSV (B) B=100 -->2/1046 ; B=200 --> 2/1048 ; B=300 --

B=500 --> 2/3414 ; B=600 --> 2/3415

JUWT

> 2/1049 ; B=400 --> 2/3413 ;

TCP45WT AL

TCP45WT 100 AL
TCP45WT 200 AL
TCP45WT 300 AL
TCP45WT 400 AL
TCP45WT 500 AL
TCPASWT 600 AL

L
(Kg)
150
150
150
150
150
150

B
mm inch
100| 4 | 2/10209 | 23,48
200 8 | 210210 | 34,13
300 12 | 2/10211 | 47,68
400 | 16 | 2/10212 | 62,32
500 | 20 | 2/10213 | 83,94
600 | 24 | 2/10214 | 109,23

A 3xDINT991 (0/1220)

114




TR
@ TSCP4SWT GS
mm
TSCP45WT 100 GS 100| 4 | 2/10215 | 14,19 SEHQ?D
TSCP45WT 200 GS 200 8 | 2/10216 | 18,39
TSCP45WT 300 GS 300 12 | 2/10217 | 23,74
TSCP45WT 400 GS 400 | 16 | 2/10218 | 30,00 950
TSCP45WT 500 GS 500 | 20 | 2/10219 | 39,35 °
TSCP45WT 600 GS 600 | 24 | 2/10220 | 50,39
A 3xDIN7%91 (0/1220) 4
g —BJ
@ TEWT GS

o [ Po |

% B H 12x8

(Kg) mm inch mm inch REF. €lu I[ T a o .ﬂ‘
TEWT 100X100 GS 150 | 100 4 [100| 4 | 2/10165 | 4871
TEWT 200X100 GS 150 (200 8 |100| 4 | 2/10166 | 60,00
TEWT 300X100 GS 150 |300| 12 |100| 4 | 2/10167 | 73,68
TEWT 400X100 GS 150 | 400 16 [100| 4 | 2/10168 | 89,61 S5 s
TEWT 500X100 GS 150 |500| 20 [100| 4 | 2/10169 | 107,87 J . @
TEWT 600X100 GS 150 |600| 24 [100| 4 | 2/10170 | 126,77 L

A 6xB1(2435%)

1 xSV (B) B=100-->2/1046 ; B=200 --> 2/1048 ; B=300 --

B=500 --> 2/3414 ; B=600 --> 2/3415

T JUWT

> 2/1049 ; B=400 --> 2/3413 ;

TTEWT AL

N

(K®) mm inch -
TTEWT 100 AL 150 {100 | 4 | 2710221 | 28,84 ﬁt
TTEWT 200 AL 150 {200 8 | 2/10222 | 4819
TTEWT 300 AL 150 {300 | 12 | 2/10223 | 7116
TTEWT 400 AL 150 400 | 16 |2/10224 | 99,23
TTEWT 500 AL 150 500 | 20 | 2/10225 | 132,45
TTEWT 600 AL 150 600 | 24 | 2/10226 | 170,84
A 4xDINT91 (0/1220)

TSTEWT GS
B
mm inch [ €lu
= TSTEWT 100 GS 100 4 | 2/10227 | 16,39 @ o
=, TSTEWT 200 GS 200 8 | 2/10228 | 2394

TSTEWT 300 GS 300 12 | 210229 | 3381
TSTEWT 400 GS 400 16 | 2/10230 | 46,00
TSTEWT 500 GS 500 20 | 2/10231 | 60,52 @
TSTEWT 600 GS 600 | 24 | 2/10232 | 77,35

A 4xDINT991 (0/1220)

|

B+200

115

L
O
(2]
o |
=<
=
<<
()
1=
=]
172
=T
==




CCCXWT GS

L
(8]
(2]
P |
=<
=
<<
[
1=
=]
172
<<
==

B H
mm inch mm inch REF. €lu
CCCXWT 100 6 10| 4 |100] 4 |210171 | 6645 o g
CCCXWT 200 6 2000 8 [100| 4 |210172 | 7406 )
CCCXWT 300 6S 00| 12 [100| 4 |210173 | 8168 ole
I
CCCXWT 400 GS 400| 16 |100| 4 |2/10174| 89,29 olo i
CCCXWT 500 GS 500 20 100 4 |2/10175 | 9684 i i
COCXWT 600 GS 600 24 |100| 4 |2/10176 | 10445 - o
® o{e ® [l
A 4xB1(21435)
L
N* w© ] hw ® In
72N JUWT
CCCX WT
-
PSWT GS
[ PG| E
REE. | €m I
PSWT 65 | 2710180 | 17,16 T
A 4xBL(24356)
O ~N
187,577 ]if::ﬁji
REWT GS
N e | 2
mm inch
REWT 100 GS [107] 4 |2n0087 | 355 5 12
¥ 2xB1 (24356) e .
TFWT GS
B H
mm inch mm inch
TFWT 100 G 0] 4 |100] 4 |210240| 516 {
TFWT 200 GS 200 8 100 4 |210241| 671
TFWT 300 GS 00| 12 100 4 |2/10242 | 806
TFWT 400 GS 400| 16 |100| 4 |2/10243| 942
TFWT 500 GS 500 20 100 4 |2/10244 | 1077 5
R B
TFWT 600 GS 600| 24 [100| 4 | 210245 | 1213
12

A 2181 (2/4356)

116 | e32




JUWT GS

=E_Dbasor

BELECTRIC

JUWT 68 2110177 | 2,32
‘ v O 12)(8)j
A 4xB1(24356)
120 12
SV GS
o 3 e :
kg b mm inch mm m 4 LE[
SV 100 65 276|609 | 100 | 4“ | 1,5 | 2/1046 | SCM 3 35x7.5
SV 200 6S 253558 200| 8" | 1,5 | 2/1048 | SCM J 2 D /@g
SV 300 6S 207 | 456|300 | 12" | 1,5 | 2/1049 | SCM Brad
SV 400 GS 506 |1116/ 400 | 16" | 1,5 | 2/3413 | SCM Be72
SV 500 6S 460 1014|500 | 20" | 1,5 | 2/3414 | SCM SVO 100/150/200/300
SV 100/150/200/300 SV 600 6S 414|912 600 | 24" | 1,5 | 2/3415 | SCM

& 2 xBL (24356-£2)

SV 400/500/600

L
C
r
40

<

72927

2727

27 l

B+146

Lo

ey
»

I

SVO 400/500/600

B1-100 EZ

L

o o
©  BIH00EZ | 14 | 24356 | 2300
alw;
-y = £
DIN7991-100 Mé6X16 EZ
s
| REE_ | €|
1 % DIN7991-100 M6X16 EZ | 2710265 | 10,90
o
TMK-100 M6
I 5

TMK-100 M6

| REE [ €u | i ——

| 2710266 | 42,32

=
“e

g

16

16

E38 | 117

L
O
(2]
o |
=<
=
<<
()
1=
=]
172
<<
==




AN A —




basortfubb
PVC / RLH

RE1250 RLH 7035 ... P
R1250CLH7035 P
R1250 PVC 7035 ... P

—
[a1]
(%2

2
==
=]
&=
o
n
=T
oo




BASORTUB

O e SE_basor

~
_ J
RE1250 RLH
DN TN RLH 7035 h
mm inch mm inch 61386 REE. | €m
RE1250 16 16 | 58 | 14| 50" | 4322 | 54 |07 | 26453 | 193
RE1250 20 20| 45 | 16 | 58" | 4322 | 54| 07 | 26454 | 258 g
RE1250 25 B 1 | 20| 45| 432 | 54|07 | 26455 | 344
‘ RE1250 32 32 1147| 22| 677 | 432 |54 07 | 26456 | 547 —
RE1250 40 40 [147| 26| 17 | 4322 | 54|07 | 26457 | 688
RE1250 50 50 | 2 | 31|129| 432 |54 07 | 26458 | 945 ox
RE1250 63 63 |21/’ | 60 |23/8"| 4322 | 54 | 07 | 26459 | 1367 f'-\
@ :§:125°N |o»u N4 HALOGEN &_/
AV FReE :
90°C |
PoTTC —
m'“ﬂ PS5 RoHS/ QM(VE ;QE'\I/I %
& J
= R1250 CLH
(7)) )
DN UNEEN CLH 7035
S IK o \
mm inch 61386 REF. €m .‘!.
é R1250 16 16 | 58 | 4422 |08 | 27217 | 258 w
S R1250 20 20 | 45 | M22 | 08| 27218 | 344
= R1250 25 5| 1| M2 | 08| 27219 | 445
g Rmn 32 |114| M22 | 08| 27220 | 617
R1250 40 40 [1477| 4422 |08 | 27221 | 883 B
R1250 50 50 | 2 | 4422 | 08| 27222 | 1336 g
R1250 63 63 212 M22 |08 | 27223 | W
; ) Lo L
Q) A 1wrize0 :§:1250N |O¥6] NS 1L ocEN
AVYFREE
00°C ol
, RAHS ./ ) S =
ﬂm RS/ K& 3/ f}‘
& J

120 | Bos | BASORTUB



% BASORTUB
RLH-CLH -=E. Dasor

BELECTARIC

R1250 PVC
DN UNE-EN PVC 7035
mm inch 61386 K REF. €/m DN

R1250 16 16 | 58" | 4321 | 07 | 2/6460 1,04 D
R1250 20 20 | 4/5" | 4321 | 07 | 2/6461 1,40
R1250 25 25 1" 4321 | 07 | 2/6462 1,95
' R1250 32 32 [11/4"| 4321 | 07 | 2/6463 2,58
R1250 40 40 |14/7") 4321 | 07 | 2/6464 3,28 3
R1250 50 5 | 2" 4321 | 07 | 2/6465 4,69 R
R1250 63 63 [21/2"| 4321 | 07 | 2/6466 6,33 |
(
s /" JUR 1250 § 1250N O'ZJ

T o7 ot gt

(
JUR1250
N Lo
mm inch mm inch m
JUR1250 16 16 | 58" | 50 | 2 40 2/6732 0,27
JUR1250 20 20 | 4/5" | 55 |21/6"| 40 2/6733 031
JUR1250 25 25| 1" |60 213" 40 2/6734 043
JUR1250 32 32 |11/4"| 70 |23/4"| 40 2/6735 0,66
JUR1250 40 40 |14/7"| 80 [31/7"| 40 2/6736 113
JUR1250 50 50 | 2" |90 312" 40 2/6737 1,49
JUR1250 63 63 |21/2"| 130 |51/8"| 40 2/6738 328

@ EL vHa RoHs/ s 237
CPR

oA R

mm inch mm inch m €/u
CPR 16 16 | 58" | 54 |21/8"| 40 26739 0,68
CPR 20 20 | 4/5" | 67 |22/3"| 40 2/6740 0,92
CPR 25 25 | 1" |8 (313" 40 2/6741 1,38
CPR 32 32 |11/4" 110413 40 2/6742 2,58 %
CPR 40 40 |14/7"|138|53/7"| 40 2/6743 3,83
CPR 50 50 | 2" 172|679 40 2/6744 570
CPR 63 63 |21/2" | 217 |81/2" 2/6745 9,30

@yc Efouc PS4 RoHS/ Q)K{% N /

CFR

DN L IP RLH 7035
mm inch mm inch m €/u

CFR 16 16 | 58 |220]823| 65 | 26819 | 578
CFR 20 20| 45 230 9 | 65 | 26820 | 641 L
CFR 25 25| 1" |540(94/9" 65 | 206821 | 7,66 Eé
CFR 32 32 |14 2710|1058’ 65 | 266822 | 1156 o 5
CFR 40 40 |14/77|300|114/55"| 65 | 206823 | 16,17 2

CFR 50 50 | 20 |340(1325" 65 | 2/6824 | 20,23

L |” *E8  romsy K& 297

121

BASORTUB.)) SBT



BASORTUB
RLH-CLH

T
@ MCR1250

SE_Dbasor

BELECTARIC

WL

mm inch mm mm “ €lu
MCR1250 16 16 | 58" | 15| 42| 65 | 2/6746 281
MCR1250 20 20 | 45" | 15 | 44| 65 | 206747 320
MCR1250 25 25| 1" | 15|47 | 65 | 2/6748 3,59
MCR1250 32 32 |11/4") 16 | 52 | 65 | 2/6749 4,53
MCR1250 40 40 |14/7"| 16 | 64 | 65 | 2/6750 6,56
MCR1250 50 50 | 2" | 18|72 ] 65 | 26751 742

HALOGEN

lﬂ-s“c mgonc IP%” RO—HS/ Qxaﬁl& \\ ’éEE

SPR1250

DN A B C 3 RLH 7035
mm inch mm inch mm inch mm inch kg m
SPR125016 | 16 | 58" | 12 | 1/2"| 25 | 1" | 21 | 566" | 3 | 26753 | 0,22
SPR125020 | 20 | 4/5" | 12 | 1/2"| 28 |11/9"| 26 | 1" | 3 | 2/6754 | 0,24
SPR125025 | 25 | 1" | 12 | 1/2"| 32 |11/4" 31 |12/9"| 3 | 2/6755 | 0,26
. SPR125032 | 32 |11/4"| 12 | 1/2"| 43 |12/3"| 44 |13/4"| 3 | 2675 | 0,37
SPR125040 | 40 \14/7"| 14 | 509" 50 | 2" |52 | 2" | 3 | 2/6757 | 0,62
SPR125050 | 50 | 2" | 14 | 509"| 56 |21/5"| 62 |24/9"| 3 | 2/6758 | 0,74
90°C 8\ \ )/
. HALOGEN
ﬂ-“ m RoHS/ Q)Km ™ )FREE
75
(/) ABR1250
DN F RLH 7035
\ mm inch kg m €lu —
ABR1250 16-32 16/32 | 58™-11/4" | 15 2/6760 0,59
ABR1250 20-63 20063 | 45-212" | 15 2/6761 097 )
90°C (‘ \ y 745
. : W HALOGEN
m-sc ﬂ _ROHS/ Q&Xﬁ/‘z N\YFreE

BASORTUB.)) SBT

122



BASORTUB

d] COFLEX SE_basor

BELECTARIC

4 )

e LA LL AN LR
e
B Ll AL L LT

%@Zb’ﬂ’frﬁmm“\\w W

S
% i % ffrrmmummm\m\\“\“
77 T T

rrfﬂmmumrlmm\\\m

m's"c mm :§:320N )OVZJ RoHS/ LX6 @% /R HALOGEN

Dext Dint UNE-EN RLH 7035

mm inch mm inch 61386 REF. €/m
COFLEX 16 16 | 58" | 11| 37" | 2322 | 2/6995 0,88 II % B
COFLEX 20 20 | 4/5" | 15 | 3/5" | 2322 | 2/6996 1,11 ll
COFLEX 25 25 | 1" |20 | 4/5" | 2322 | 2/6997 1,67
COFLEX 32 32 (11421 1" | 2322 | 2/6998 2,34
COFLEX 40 40 |14/7"| 34 |11/3"| 2322 | 2/6999 383
COFLEX 50 50 | 2" | 44 |13/4"| 2322 | 2/7000 5,00

123

BASORTUB (L)) SBT






Bbasorfix

(Y P. 126
ECT RA P. 130

B SE/TRIPLE/IM - PAFV e P. 136
(#)0BP/0BC/OAP/OAC ... P. 137
LD RA/CT - JURA P. 137
s GV2, GVV2, BRP, BCA, CSJ ... P. 138
(E)VR, SBL, SBC, SBZ ..o P. 140

Z)DIN933, DIN912, DIN934, DIN125,

DIN6923, DIN9021, IS07380 ...P. 141
@SCM,CCM,CM ......................................................... P. 142

TTTTL oo P. 143

Q
&)
<
>=
=
3
=




BASORFIX (B\J ACC

BASORFIX

41/82 =& DasS0or

BELECTARIC

P41X21

e A ww IENCEENENTOEE 2>

P4141X21X1,5 3M 1,5 11,44/022|0,79|0,04|1,86(0,11| 2/6366 498 - - EjeY
P4141X21X2,5 3M 25 12,14/10,3311,08|0,06(2,73|0,16| 2/0235 7,29 2/0236 9,74

N
U
p— (¥
== &////,/, 25x11 \U

T
50
3000

=

L=3m(10f) O‘“
a1
P41X41
e A W Wy 2
LUV N ReE | €m | REE | €m | S
P41 41X41X1,5 3M 15 11,95(0,30/2,09|0,12(2,92|0,17| 2/6365 | 6,77 - - =
e
P41 41X41X2,5 3M 25 |3,13/0,48(3,16(0,19|4,54|0,27| 2/0233 | 10,04 | 2/0234 | 1354 cY
P41 41X41X2,5(013)3M 25 |3,13|0,48|3,16|0,19|4,54|0,27| 2/7388 - - U
. 25x11(x13)
= 3
= S, Ul
L=3m(10f) U R
41
P41-D 82X41
e A Wx Wy HDG 2
J

mm cm? 2 cm® in® cm® ind m
P41-D 41X82X2,5 3M | 25 |637/098[949]0579,11]055| 25573 | 29,83 sex

|

j

(¥9 |
=
= ) ey

41

82

25x11

50

L=3m(10f) O

25

41

126



BASORFIX

A 41/82 =E=. basor

BELECTRIC

K41 / Qreac 700 kg K82 / Qreac 1100 kg K82ME / Qreac 1100 kg

1 L 2

SB41 / Qreac 700 kg SBL41 / Qreac 600 kg KA41 / Qreac 1000 kg 4182H / Qreac 800 kg

4182CR 4182TE 4182CV / Qreac 500 kg 4182A 4182B / Qreac 350 kg

i oy

4182C / Qreac 350 kg 4182CD / Qreac 350 kg 4182D / Qreac 1.050 kg 4182E / Qreac 700 kg 4182F / Qreac 700 kg

J | |

4182G / Qreac 250 kg 41821 SB41 / Qreac 700 kg SBL41 / Qreac 600 kg 4182H / Qreac 800 kg

A

3

TF41 TM41 TAD TEP

127

BASORFIX R\ ACC



BASORFIX

41/82
K41
v o
« v I

K41 | 700 | 40 | 2me22 | 1157

@ f 2 x T M10X30 (0/0320 - i304) + 2 x TM M10 (071071 HDG)

K82
Qreac  Pap
M
K82 | 1100 | 40 | 25574 | 1590

@ }‘ 4 x T M10X30 (0/0320 - i304) + 4 x TM M10 (071071 HDG)

Qeac  Pap
o v BRI
K82ME | 1100 | 40 | 27020 | 2637
2x @ 4T M10X30 (0/0320 - 1304) + 4 x TM M10 (0/1071 HDG)
4xB3 (2/8827 - HDG)
Ix + + A 2T ML0X30 DING33 (010320 - 1304) + 2 x TH M1 (071071

HDG) + 2 x T M8X20 DIN933 (0/0318 - i304) + 2 x TAG M8 DING923 (0/0348 - i304)
2 @ ) 4 x T M8X20 DIN933 (0/0318 - i304) + 4 x TAG M8 DIN6923 (0/0348 - i304)

e
« v KN

SBL41X41 | 600 | 40 | 26472 | 668

@ ’ 2 x T M10X30 (0/0320 - i304) + 2 x TM M10 (071071 HDG)

@ A 215328827 - HDO)

BASORFIX (B\J ACC

128

. Dasor

BELECTARIC

108

80

120

108

S

80

93

¢
JE e
(=]
<+
1
180 JA-,
Qreac 83
46, 41
8 [P e
o| @, & o
g R B )
@

©

104

50 .25

46

44

132

25X11



BASORFIX

41/82 -=E. Dasor

BELECTRIC

KA41
Qreac Pap HDG
P
KA41 | 1000 | 40 | 2475 | 1456

@ A 2T M10X30 (0/0320 - 1304) + 2 x TM M10 (0/1071 HDG)

@ A 2183 (28827 - HDG) 2501

SB41
Qreac Pap HDG
kg N-m REF. €lu
$B41 | 700 | 40 | 2471 | 681 lgrenc 2

@ ) 2 x T M10X30 (0/0320 - i304) + 2 x TM M10 (0/1071 HDG)

¥
@ A& 23838827 - HDO) 5 Nasat

4] 44 120
132

104
50 25|
11
[ [
lan)
-
o

85

4182CR

Reducc Reducc  Pap m

;o AR

4182R | o% | 0% | 40 | 26473 | 1012 @ o

® P g
@ A 5xT M10X30 (0/0320 - 1304) + 5 x T M10 (0/1071 HDG) o 8 L)

& 19,5 [:
@ /¥ 553 (28827 - HDG) a5

o f—e - ez
141

129

BASORFIX R\ ACC



BASORFIX (B\J ACC

BASORFIX

41/82 -SE. basor

BELECTARIC

4182TE
Reducc Reducc  Pap o5 a4 ‘
z y N-m REF. €lu ] 8 Hey *‘
o ¥
4182TE 0% | 0% | 40 | 26474 | 677 ZSXHJ@D L
@ A4 xTMI0X30 (010320 - 304) + 4 x TM M10 (0/1071 HDG 403 = il
424 N 25X11
51 Ea
@ A 4xB3 (218327 - HOG) e
BeZ AT 1
4 Lhes
127 -
4182CV

ez Pap

e vn IETENICTE .
41820V | 500 | 20 | 2477 | 380 @Q =18
2 W&o © P oo
46

2
’Jj_l
|

L A0)
L

4182A
Reduce  Pap
41824 | 20% | 40 | 26311 | 336 N HE
© S ¥
R
@ A 4xTMI0X30 (010320 - 1304) + 4 TM M10 (/1071 HDG) 190 L
Q) F sxs3essr-Hoo
M Eje z

4182B

Weace  Pap

kg N-m REF. €lu P 4
41828 | 350 | 40 | 2312 | 437
N o
v 2

88

@ A 4T MI0X30 (010320 - 1304) + 4 TM M10 (/1071 HDG)

@ A~ 4xB3 (208827 - HDG) 2

130




BASORFIX

41/82 -=SE. Dasor

BELECTRIC

4182C
—_— .
M o . o
4182¢ | 30 | 40 [ 28313 | 131 \Q oz \@wﬂ
(@) A2 7m0600030- 304 + 26T W10 01071 HDG) [
40
08
@ A 2xB3 (28827 - HDG) =
dE
|21 ]
= 50
4182CD
weace [T i 0
« AT PN
418200 | 700 | 2m27 | 240 &

50

@ ) 3 x T M10X30 (0/0320 - i304) + 3 x TM M10 (071071 HDG)

@ /~ 3xB3(218827 -HDG) —

102
o
o
8
e
|

4182D
weace o [T
T o o
41820 | 1050 | 40 | 26314 | 721 ] -
S
@ A 4xTMI0X30 (010320 -1304) + 4 x TM M10 (0/1071 HDG) g oY ol
h 5
&
@ /A~ 4xB3 (218827 - HDG) "
42

BASORFIX R\ ACC

131



BASORFIX [\ ACC

| LN

BASORFIX

41/82 . Dasor

eL

4182E

Qeacc  Pap

BECTRIC

o2

e v EEEEICTE a
4182F | 700 | 40 | 26315 | 467 7,—‘
@ }‘ 3x T MI0X30 (010320 - 1304) + 3 x TM M10 (0/1071 HDG) " 3
%
@ A 2x33(28827- HDO) oo [w|e
& 48,5 20
137

4182F

woe
« v KN

4182F | 700 | 40 | 26316 | 563

U

@ A 34T M10X30 (0/0320 - 1304) + 3/4 x TM M10 (0/1071 HDG)

Q) A 30832827 - oo

40

41826

I
N

41826 | 250 | 40 | 28317 | 288 o

@ f 2 x T M10X30 (0/0320 - i304) + 2 x TM M10 (0/1071 HDG) 46,7

@ & 2xB3 (258827 - HDG) 2

40

20

69

Qreac

132



BASORFIX

41/82

4182H

SE_Dbasor

BELECTRIC

Qeace  Pap
\f kg N-m REF. €lu
\ 4182H | 80 | 40 | 2698 | 716
' @ 4% T M10X30 (010320 - 1304) + 4 X TM M10 (/1071 HOG)

@ A 4xB3 (218827 - HDG)

813

25,5 43 48 17,5
3
M10x20
146
h !
¥
%I EQ A
= 25x11

\ Qreac

e
: I

41821 | 0% | 2m011 | 611

@ )4 x T M10X30 (0/0320 - i304) + 4 x TM M10 (0/1071 HDG)

[©) A sxs3iemmer- oo

e

b
$
$
6

b B

cH]
cH]
cH]
cH]

EjeZ

BASORFIX R\ ACC

133



BASORFIX [\ ACC

BASORFIX

41/82 . Dbasor

BELECTARIC

TSO
%)
e . q 5
mm U} I
150 IEREEEES ¢ o
—————— g
W I
"0
104
PSOS
s w o TN f
mm inch mm inch mm [ EIETR & &
PS0S GOX140X5 60 213 | 140 [5127| 5 | 21132 | W
g PS0S 80X180X8 80 317|180 | 77 | 8 | M3l | 077
T
@ @"’/D‘
B e
PSOM
e
@
o AR %
PSOM 200X200X5 5 | 21155 | s
= PSOM 200X200X10 0 | 2045 | W -
He ®
@ J& EJ.L
200
TF41 PVCM1
PVCM1
TF41 PVCM1 | 2627 | 041

41

=
>

134



BASORFIX

41/82 SE_Dbasor

BELECTRIC

TM41
e O Qcot Pap ZN HDG 316 )
RO O T REF | €u | REr | eu [EANNGT
TMAIM6 | 6 | 500 | 100 | 35 |2/17556] 041 |2/8225| 048 | -
TMAIMB | 6 | 600 | 240 | 84 |217557| 046 |2/17583| 052 | - | ‘W
TMAIMIO | 8 | 700 | 350 | 17 |2/17551] 051 [2/17584 057 | -
- J
TAD EZ
e Qrac  Qcot  Pap 25 h
m ok e e EEMEIE Y V[
TAD M8 EZ 6 | 600 | 240 | 84 | 217558 | 041
TAD M10 EZ 8 | 700 | 350 | 17 | 255543 | 044
34,5
- J
TEP EZ
e Qtrac  Qcort  Pap h
mo ke g te N
TEP M8 EZ 6 | 600 | 240 | 84 :
TEP M10 EZ 8 | 700 | 350 | 17 | 217567 | 093
- J

sas | 135

BASORFIX R\ ACC



BASORFIX [\ ACC

BASORFIX

ik =E. Dasor

BELECTARIC

SE PAFV

A B w D d RM PAFV
mm mm mm mm mm kN REF. | €lu
SE 15-26 PAFV 77 45 50 | 1526 | 10 200 | v | 27282 | 1371
SE 26-38 PAFV 92 60 60 | 2638 | 12 30,0 X 2/7283 | 14,28
SE 36-52 PAFV 105 60 75 | 3652 | 12 20,0 X 2/7284 | 16,68
SE 50-75 PAFV 126 60 9% | 5075 | 12 10,0 X 2/7285 | 19,04
SE75-100 PAFV | 200 80 150 [75-100| 15 68,8 X 2/7286 | 40,09
X
X

SE 100-135 PAFV | 225 85 175 ]100-135] 15 674 2/7287 | 58,34 'Q“ "&' g o
SE 135-170 PAFV | 260 90 210 |135-170] 15 66,3 2/7288 147,07 o im)
W
\I/ ﬂlzo"c — A
m g o - 8 @
UNE-EN 61537

TRIPLE PAFV

A B ] D d RM @ PAFV
mm mm mm mm mm kN REF. |€Iu

TRIPLE 27-38 PAFV | 180 | 75 | 125 | 3X27-38 15 359 | ¥V | 27289 | 4952

TRIPLE 38-51 PAFV | 195 | 80 | 145 | 3X38-51 15 398 | ¥ | 2/7290 | 5790

TRIPLE 51-69 PAFV | 220 | 85 | 170 | 3X51-69 15 699 | v | 27291 | 71,88

TRIPLE69-90 PAFV | 252 | 90 | 215 | 3X69-90 15 56,7 Y| 27292 (117,03

TRIPLE 90-118 PAFV | 321 | 100 | 270 | 3X90-118 | 15 54,3 Y| 27293 |16568

TRIPLE 118-150 PAFV | 400 | 110 | 340 | 3X118-150 | 15 543 | ¥ | 217294 |279,34 o9 @
W

RoHs/ 31/ K I~ &

UNE-EN 61537

A B H w D d RM PAFV
mm mm  mm  mm  mm mm kN REF. €lu
IM12-32PAFV | 180 | 50 50 | 148 [12-32| 14 | 295 | v | 2/7295 | 50,22
IM32-48 PAFV | 345 | 50 50 | 170 |32-48| 15 | 295 | v | 2/72% | 71,18 N

120°C
-
-40°C
M

rorsy 3/ o8&
UNE-EN 61537

W
W~

SE41 GC

N  HDG
mm
SE41 20-24 GC 15 207355 | 2,84
SE4124-28 GC 15 20735 | 3,19
SE41 28-32 GC 15 27357 | 349
SE41 34-36 GC 15 2/7358 | 3,80
SE41 36-40 GC 15 27359 | 4,50

136



BASORFIX

£1Ll = E.boasor

BELECTRIC

f OBP /0BC/ OAP / OAC

f—

0BP 2M 35 7 210248 1,66 - -
0BC 2M 1 35 7 27214 1,66 - -
0AP 2M 15| 35 14 | 2/0250 354 - - '

0AC 2M EZ 15| 3 14 | 2/7227 527 =

OR3M AL 15| 3 | 1 - . 20806 | 572 156

25

e B H

— e | em | R | e€m 1 [_J
N
U
0

~ |

\
—_—y G [0
‘

L=2m(6,71t)

'LI' RA/CT

BOH € e A W Wy PG HDG P .
moom an ot on' o IEEECHETEETE .

RA35 3000 3% | 14 | 15 15|09 02810020237 358 |2/0238| 541 c EeY

RA35 35X14 2M 3% | 14 |15 15|09 ]028|100|2/3484 371 - -

RAS0 3M 50 | 14 | 30 | 15 | 1,1 | 030 | 1,68 |2/0239| 4,45 |2/0240| 6,64 D K

CT40 3M 40 | 20 | 20 | 15 | 125|065 | 1,63 |2/4471| 428 |2/0246| 6,20

CT40 2000 40 | 20 | 20 | 15 | 125|065 | 1,63 | 2/5656 | 4,32 - - 2

CT20C 20 | 20 | 20 | 10 | 038|009 | 0,25 | 2/0241 | 1,57 - - D
L=23m(656-101) CT20 2M 20 | 10 | 10 | 1,0 | 038 | 0,09 | 0,25 | 2/0242 | 157 - - |

25x8,5
M6, M8 D/

+
)
v
\
\
o
>
~
2}
—|

15x6,5

OO O o o o o

‘125

CT20

JURA
M PG | HDG | —
JURA 35 28 | 21122 | 189 | 21123 | 224
JURA 50 40 | 21124 | 204 | 23473 | 256

§M6

192

50

23

w | CDO CoO Co C}\

|137

BASORFIX R\ ACC



BASORFIX [\ ACC

.BﬁSORFIX

-=E. Dasor
BELECTARIC
BCA
H HDG
! mm REF. €lu
BCA 41X41 80 | 28309 | 559 —
BCA 41X82 130 | 28810 | 638 ° “
ey
80
?8
CsJ
ALU N 430
EAEALEKE « o
CS) AL/ i430 | 23461 | 127 | om0 | @ | 23462 | 223

§M6

138



BASORFIX

() SE_Dbasor

BELECTRIC

VR
Qrac
« KT
VR M6 L1 400 | 217562 | 083
VRM8L1 800 | 23397 | 144
VRMIOLI 1400 | 25535 | 227
VRM12L1 2500 | 206502 | 3:89
MVR M6 - | 2633 | 02
MVR M8 - | ome2 | o2
. 9°
c o=
MVR M PRL
SBL
PG HDG .
sBL | 20351 | 091 | 20361 | 153 .
2 wsamo ) [kg
= “25x9 m&
— o>
7]
BRI
36
SBC
Qreac 1 Qreac 2 PG HDG 5 oreac2 5
O R | v | REE | € |
SBC | 40 | 40 | 20352 | 188 | 20362 | 1,70 H 3
18
35 )
% M8 & M10 i ‘ ‘F -A
70 25X9
Qreacl
SBZ
) PG | HDG | 250 s
"R REE | €l N o
$BZ | 35 | 20354 | 102 | 20364 | 162 @T o
Lsl
% M8 & M10
’\I
T
@X*/Q
36

Qreac

139

BASORFIX R\ ACC



BASORFIX (B\J ACC

BASORFIX

Z A = E.boasor

BELECTARIC

DIN 933/ DIN 912 /1S0 7380

om we P M L H BN 304 *
ul uwd Nm mm mm mm mm REF. €u T T T

DINS33 M10X30 | 100 | 100 | 35 | 10 | 30 | 66 |2/17559| 0,22 [2/17547| 041 - .
DIN933M1OX20 | 100 | 100 | 35 | 10 | 20 | 66 (217563 - |217578 035
DING33M8X55 | 100 | 100 | 15 | & | 55 | 54 |217586| 0,16 | - | - - - =
DIN933M8X25 | 100 | 100 | 15 | 8 | 25 | 54 |2/17545) 015 | - | - % = =
DIN933M8X20 | 100 | 100 | 15 | 8 | 20 | 54 - |217546] 035 M o
6
6

DING33MGX25 | 100 | 100 | 8 25 | 41 | 25545 014 |217549] 014 L]
DING33MBX20 | 100 | 100 | 8 20 (a1 - | - | - | - @
DING12M10X30 | 100 | 100 | 35 | 10 | 30 | 10 .

DIN912 M8X70 100 | 100 | 15 | 8 | 70 | 8 |2/17580| 0,32 |2/17581| 0,76 DIN 933 DIN 912
DIN912 M8X55 100 | 100 | 15 | 8 | 55 | 8 |2/17577| 0,39 |2/17579| 0,80
8
6

O

ISO 7380

IS07380 M8X30 | 100 | 100 | 15 30 | 44 - - |2/17585| 0,25
IS07380 M6X25 | 100 | 100 | 8 25 | 3,3 |2/17582| 0,16

DIN 6923

DING923 M6
3 DIN6923 M8

DIN 934

d ot A H [N 304

mm mm mm €lu REF. €/u -
Me | 14 | 10| 6 |217552] 0,03 |217554| 0,09

M8 | 18 13 8 |2/17553 | 0,04 |2/17555| 0,14

¢ a0 I o

mm om [EEANRCTE REE €u

- DIN934 M6 Me | 10 | 48 | - - - - . (‘
DIN934 M8 Mg | 13 | 62 | - : - - d
i DIN934 M10 MIO | 17 | 77 . = . . 7
V DIN934 M12 M2 | 19 | 97 | - - - - .i
-

Dint Dext e “ i304

mm mm mm m REF. €lu
DIN125 M6 64 | 12 | 16 | 2/17565 | 0,03 | 2/539 | 0,08
DIN125 M8 84 | 16 | 16 | 2/17541 | 0,03 | 2/17544 | 0,08
DIN125 M10 105 | 20 2 | 217561 | 0,05 | 2/17542 | 0,05
DIN125 M12 13 24 | 25 - - 2/17560 | 0,11

DIN 9021

\
/

EAN
_~

DIN 125

Dint Dext e i304
mm mm  mm m REF. €lu

DIN9021 M6 64 | 18 | 16 | 2/7023 | 007 | 2/7022 | 0,16
DIN9021 M8 84 | 25 2 2/7021 005 | 2117543 | 012

3

140 |




BASORFIX
dibs

SE_Dbasor

BELECTRIC

CCM
M L Qtrac
SR .
CCM6x60 ZN 6 60 180 2/6419 0,59
CCM8x60 ZN 60 | 225 | 26420 | 063
| 65mm, @ 8mm (CCM 6X60) / @10mm (CCM 8x60)
SCM
D L Qtrac
m o g MR K
SCM10x75 ZN 10 75 340 2/4672 0,72 -
SCM12480 ZN 12 | 80 | 780 | 26258 | 114

| 62mm (SCM 10x75) - | 72mm (SCM 12x80), @ 10mm (SCM 10X75) / @12mm — (SCM 12x80)

CM
T
m o« KT
CM6x30 ZN 8 6 | 280 | 26468 | 054
CM8x30 ZN 10 8 | 370 | 26469 | 067

30

| 32mm - @ 8mm (CM 6x30) /| 33mm - @ 10mm (CM8x30)

REF. €lu
TDC 2/5066 271,97
BPZ 207224 19,82

TDC BPZ

141

BASORFIX R\ ACC



BASORFIX (B\J ACC

BASORFIX
&)

SE_Dbasor

BELECTARIC

TT/TTLLTN
Smin  Smax Dcable A B LTN
mm?> mm? mm mm  mm REF. €lu
TT10-35LTN - 3 | 4a8| 22 18 | 2/67% | 498
TT 35-95 LTN - 9 |8al2| 30 | 24 | 2/6797 | 629

TTL 10-35 LTN 10 | 35 |4a8| 25 2/8189 | 3,06

30

FPS AL
FPSC AL 26794 | 231 e
FPSL AL 2679 | 231

70

FPSC

o
N

I
30

FPSL

15,5

19,5

S
®
wn

70

FPSL

142




?ﬁSORFIX

SE_Dbasor

BELECTRIC

VR min VR max VR DIN 976 & DIN 934
SE 15-26 PAFV M8x85 M8x85 i304
SE 26-38 PAFV M10x100 M10x100 REF. €lu
SE 36-52 PAFV M10x100 M10x100 VR M8X85 2/10246 | 1,62
SE 50-75 PAFV M10x100 M10x150 VR M10X100 2/10247 | 153
SE 75-100 PAFV M12x150 M12x150 VR M10X150 2/10248 | 2,05
SE 100-135 PAFV M12x150 M12x200 VR M12X150 2010249 | 293
SE 135-170 PAFV M12x200 M12x250 VR M12X200 2110250 | 345
TRIPLE 27-38 PAFV M12x150 M12x150 VR M12X250 210251 |
TRIPLE 38-51 PAFV M12x150 M12x200 VR M12X360 010052 | o
TRIPLE 51-69 PAFV M12x150 M12x200
TRIPLE 69-90 PAFV M12x200 M12x250 L M8 DIN 934 -
TRIPLE 90-118 PAFV M12x250 M12x360 G M10 DIN 934 - =
TRIPLE 118-150 PAFV M12x250 M12x360 MVR M12 DIN 934 _
IM 4x12-32 PAFV M12x150 M12x150
IM 4x32-48 PAFV M12x200 M12x200
GV2 GS
B Qreac DING33 M8x50
mm kg m DIN 934 M8
GV26S | 11 | 250 | 215501 | 306
2 wsano @ R
O
325 9
O
Q 9105
95 Kg
GVV2 GS
B DIN933 M8x50 _
mm é omosims B
GVV2 65 | 1 | 2m0m3 | 507 -

M8 & M10

AW

200 Kg 80 Kg

200 Kg

81

DIN934 M8
@ O ]:B/DIN933 M8x50

S
®10,5

BRP GC

Qreac HDG
"Rl R | €
| 1000 | 25624 | 135

40
%2@
o

55

Qreac

143

BASORFIX R\ ACC



144 | w0



n— | — basor

ELECTARH:




(2"x2")

CTA

40

35

30

25

CTA (Kg/m)

20

ERE H35 (1 3/8

ERE H35 / ERE-C H35

CTA (Kg/m)

0
1.0

0

T T T
11

I B T LA B e e e e
17 18 19 20 21 22 23 24 25
d(m)

T T 1 T
12 13 14 15 16

ERE H60 / ERE-C H60 i304

1601
] — CTA Fa0
140 - Def F
] F25
120 b
E 1 [
2 100 F20
= 1 ot
o 80 e b
J I F1s
60 e T
J S F1o
407 t
J s
20 -——————————————
10 11 12 13 14 15 16 17 1.8 19 20 21 22 23 24 25

d (m)

ERE H100 (47)

ERE H100 / ERE-C H100

CTA (Kg/m)

— CTA 100-300
CTA 400-600
— — Def

=& Daso

]

Def (mm)

Def (mm)

. d-5
BELECTA
ER 50X50 mm
11
B
£
®
[s]
T T T T T T T T T T
14 15 16 17 18 19 20
d (m)
ERE H60 / ERE-C H60
160 r
g 30
140 — CTA100-300 r
i CTA 400-600 [
120 — — Def F2s
_ £ 1004 20
E ) ] B
E < F
® < 80 L
F1
a 5 i . 5
60| F
§ F10
40177 r
i s
20 r
R R R R T R
10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
d (m)
ERE H80 / ERE-C H80
200 40
180 — CTA 100-300 :—35
i CTA 400-600 [
160 [
1 — — Def F-30
140 E
— £ 1 25
3 < - L
£ s 1207 g
2 £ 100 20
= L
[a} 5 | F
80 Fis
60 F
§ F10
4077 r
i Fs
20 | v opov o
10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
d (m)
B
£
3
a




MRE H60 (21/3")

MRE H=60 mm

(ww) Jeq

T
15 1.6 1.7 1.8 19 2.0 21 22 23 2.4 25

MRE H100 (4")

MRE H=100 mm

(ww) Jeq

FRE
FRE H35 (1 3/8")

FRE H=35 mm

220
200

180
160;
140;
120;

CTA (Kg/m)
Def (mm)

100
80
60—

40
20

FRE H80 (3 1/7")

FRE H=80 mm
300 30

— CTA
- — Def

250 [25

200 [20

CTA (Kg/m)
\
\
Def (mm)

150 -
100 e

50 FE : Ls

——— T
15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
d(m)

CTA (Kg/m)

CTA (Kg/m)

CTA (Kg/m)

MRE H80 (3 1/7")

180 MRE H=80 mm 12
160

1 10
140
120 48
100 " el

1 T 6
80| T
ool 4
40 B B B B S LB RN

1.5 1.6 1.7 1.8 1.9 20 2.1 2.2 23 2.4 25

d (m)
FRE H60 (2 1/3")
FRE H=60 mm
60

300

250

200
150

100

50
o et e B e et e e
15 1.6 17 18 1.9 20 21 22 23 24 25 26 27 28 29 30
d(m)
FRE H100 (4")
FRE H=100 mm

——— 7
15 1.6 17 18 1.9 20 21 22 23 24 25 26 27 28 29 30
d(m)

0

=E. Dbasor

BELECTRIC

(ww) joq

Def (mm)

Def (mm)

| 147



=E. Dasor

BELECTRIC

BFR (ANCE NMX-J-511)

CTA kg/m Clasificacion CTA kg/m Clasificacion
5ft | 61t 5t 6 ft 5ft | 6ft 51t 6 ft
1,52m|1,83m| 1,52m | 1,83m 1,52m|1,83m| 1,52m | 1,83m

BFR 100x35 223 | 155 | DHAA - BFR 100x35 189 | 132 | 5AA
BFR 150x35 223 | 155 | DHAA - BFR 150x35 223 | 155 | bHAA
BFR 200x35 223 | 155 | BAA - BFR 200x35 223 | 155 | DHAA
BFR 300x35 284 | 19,7 | 5AA BAA BFR 60x65 128 | 89
BFR 60x65 125 | 87 - - BFR 100x65 287 | 199 | DBAA 6AA
BFR 100x65 284 | 19,7 | DHAA BAA BFR 150x65 253 | 176 | DHAA
BFR 150x65 3,7 | 22 5AA BAA BFR 200x65 445 | 309 | 5BB 6AA
BFR 200x65 476 | 33,1 | 5BB BAA BFR 300x65 54 | 375 | 5BB | 6BB
BFR 300x65 57,1 | 396 | 5BB | 6BB BFR 400x65 602 | 418 | 5BB | 6BB
BFR 400x65 699 | 485 | 5BB | 6BB BFR 500x65 57,1 | 39,6 | 5BB | 6BB
BFR 500x65 635 | 44,1 | 5BB | 6BB BFR 600x65 54 | 375 | 5BB | 6BB
BFR 600x65 794 | 551 | 5BB | 6BB BFR 200x105 73 | 50,7 | 5BB | 6BB
BFR 200x105 72,2 | 50,1 | 5BB | 6BB BFR 300x105 699 | 485 | 5BB | 6BB
BFR 300x105 76 | 528 | 5BB | 6BB BFR 400x105 76 | 528 | HBB | 6BB
BFR 400x105 111,11 772 | 5BB BA BFR 500x105 73 | 50,7 | H5BB | 6BB
BFR 500X105 107,8 | 748 | 5BB 6A BFR 600x105 699 | 485 | 5BB | 6BB
BFR 600x105 1175 816 | 5BB 6A

BFR (NEMA VE 1)

CTA kg/m (Ib/it) Clasificacion CTA kg/m (Ib/ft) Clasificacion
5 ft 8 ft 5ft 8t 5 ft 8 ft 5ft 8t
1,52 m 244 m 1,52m | 244m 1,52 m 244m 1,52m | 244m
BFR 4"x1"1/2 (100x35) 223(15) | 87(58) BFR 4"x1"1/2 (100x35) 189(12,7) 74 (5)
BFR 6"x1"1/2 (150x35) 23(15) | 87(58) BFR 6"x1"1/2 (150x35) 223(15) | 87(58)
BFR 8"x1"1/2 (200x35) 223(15) | 87(58) - - BFR 8"x1"1/2 (200x35) 223(15) | 87(58)
BFR 12"x1"1/2 (300x35) 284(191) | 11,1(7,5) - - BFR 2"x2" (60x65) 12,8 (8,6) 5(34)
BFR 2"x2" (60x65) 125@4) | 4933 - - BFR 4"x2" (100x65) 28,7(19,3) | 11,2(7,9)
BFR 4"x2" (100x65) 284(191) | 11,1(7,5) - - BFR 6"x2" (150x65) 253(17) | 991(67)
BFR 6"x2" (150x65) 31,7(21,3) | 124(83) - - BFR 8"x2" (200x65) 445(299) | 174 (11,7) | DHAA
BFR 8"x2" (200x65) 476(32) | 186(125) | 5AA - BFR 12"x2" (300x65) 54,(36,3) | 21,1(14,2) | HAA
BFR 12"x2" (300x65) 57,1(384) | 223(15) 5AA - BFR 16"x2" (400x65) 60,2 (40,4) | 235(15,8) | HAA
BFR 16"x2" (400x65) 699 (47) | 27,3(183) | DHAA - BFR 20"x2" (500x65) 57,1(384) | 22,3(15,) | DHAA
BFR 20"x2" (500x65) 63,5(42,7) | 248(16,7) | 5AA - BFR 24"x2" (600x65) 54(36,3) | 21,1(142) | 5AA
BFR 24"x2" (600x65) 79/4(533) | 31(20,8) A - BFR 8"x4” (200x105) 73(49) | 285(19,2) | 5AA
BFR 8"x4" (200x105) 72,2(485) | 28,2(189) | 5AA - BFR 12"x4” (300x105) 69,9(47) | 27,3(183) | 5AA
BFR 12"x4" (300x105) 76 (51,1) | 29,7 (20) 5A - BFR 16"x4" (400x105) 76(51,1) | 29,7 (20) 5A
BFR 16"x4" (400x105) 111,1(74,7)| 43,4(29,2) | 5A 8AA BFR 20"x4" (500x105) 73(49) | 285(19,2) | 5AA
BFR 20"x4" (500x105) 107,8(72,4)| 42,1(283) | 5A 8AA BFR 24"x4" (600x105) 69,9(47) | 27,3(183) | 5AA 8AA
BFR 24"x4" (600x105) 1175(79) | 459(30,8) | 5A 8AA

148 |



=E. Dbasor

BELECTRIC

BF2R 100..300 (4"..12") H65 (2")

BF2R 100..300 H=65 mm

BF2R 60x65 (2"x2")

BF2R 60X65 i 7
65 : : — CTABF2R B=300 L30
1eee CTA BF2R B=200 [
60-1s, — CTABF2R B=100..150
— Def [
55 o5
= 50— NG e
o S N 7 g
= < A5 N oot 5
3 < T
= o, - 3
3 o QO NG e BRI : 2
35— = :"»-q_./ 15
30 T
D S s S [ 10
- 20
[ T T L L T S T R T R R - T T T T T T T T T
1.0 1.1 1.2 13 1.4 15 16 1.7 1.8 19 2.0 0 11 12 18 14 15 16 17 18 19 20
d (m)

BF2R 200..300 (8"..12") H105 (4")

BF2R B=200-300 H=105 mm

BF2R 400..600 (16"..24") H65 (2)

BF2R 400..600 H=65 mm 110
120 30
] [ S e S S R DR SR S o CTA BF2R 300x105 [ o5
110 —— CTABF2R B=600 —— CTABF2R 200x105 [
T ONC L e CTA BF2R B=500 F
—— CTABF2R B=400 25

-—— Def

100

CTA (Kg/m)
(ww) Jog

T
1.4 15 1.6 1.7 1.8 1.9 2.0

BF2R B=400-600 H=105 mm

190
180 4. \.= CTABF2R B=600
N, —— CTABF2R B=500
170 ‘ | —— CTABF2R B=400 r
-—— Def =20

CTA (Kg/m)
(ww) Jog




B8 % SE_basor

(0 BF2R (ANCE NMX-J-511)

CTA kg/m Clasificacion CTA kg/m Clasificacion
5ft | 6ft 5ft 6 ft 5ft | 6ft 5ft 6 ft
1,52m|1,83m| 1,52m | 1,83 m 1,52m|1,83m| 1,52m | 1,83m
BF2R 60x65 125 | 87 - - BF2R 60x65 128 | 89
BF2R 100x65 284 | 19,7 | 5AA 6AA BF2R 100x65 28,7 | 199 | B5AA 6AA
BF2R 150x65 37| 22 5AA BAA BF2R 150x65 253 | 17,6 | DHAA
BF2R 200x65 476 | 33,1 | 5BB BAA BF2R 200x65 445 | 309 | 5BB 6AA
BF2R 300x65 57,1 | 396 | 5BB 6BB BF2R 300x65 54 | 375 | 5BB 6BB
BF2R 400x65 699 | 485 | 5BB 6BB BF2R 400x65 60,2 | 418 | 5BB 6BB
BF2R 500x65 63,5 | 44,1 | 5BB 6BB BF2R 500x65 57,1 | 396 | 5BB 6BB
BF2R 600x65 794 | 551 | 5BB 688 BF2R 600x65 54 | 375 | 5BB 6BB
BF2R 200x105 (E-BFR) 69,9 | 485 | 5BB 6BB BF2R 200x105 (E-BFR) 69,9 | 485 | 5BB 6BB
BF2R 300x105 (E-BFR) 66,6 | 46,2 | 5BB 6BB BF2R 300x105 (E-BFR) 699 | 485 | 5BB 6BB
BF2R 400x105 (E-BFR) 919 | 638 | 5BB 6BB BF2R 400x105 (E-BFR) 76 | 528 | 5BB 6BB
BF2R 500X 105 (E-BFR) 983 | 683 | 5BB 6BB BF2R 500x105 (E-BFR) 794 | 551 | 5BB 6BB
BF2R 600x105 (E-BFR) 1142 79,3 | 5BB 6A BF2R 600x105 (E-BFR) 635 | 44,1 | 5BB 6BB

BF2R (NEMA VE 1)

EZ / HDG i304 /1316

CTA kg/m (Ib/it) Clasificacion CTA kg/m (Ib/ft) Clasificacion
5 ft 8 ft 5ft 8ft 5 ft 8 ft 5ft 8t
1,52 m 2,44 m 1,52m | 244m 1,52 m 244 m 1,52m | 244m
BF2R 2"x2" (60x65) 125@84) | 49(33) - - BF2R 2"x2" (60x65) 12,8 (8,6) 5(34)
BF2R 4"x2" (100x65) 284(19.1) | 11,1(7,9) - - BF2R 4"x2" (100x65) 28,7(19.3) | 11,2(7,9)
BF2R 6"x2" (150x65) 31,7(213) | 124(83) - ) BF2R 6"x2" (150x65) 253(17) | 99(6,7)
BF2R 8"x2" (200x65) 476(32) | 186(12,5) | 5AA - BF2R 8"x2" (200x65) 445(299) | 174(11,7) | 5AA
BF2R 12"x2" (300x65) 57,1(384) | 22,3(15) | DHAA - BF2R 12"x2" (300x65) 54,(36,3) | 21,1(14,2) | HAA
BF2R 16"x2" (400x65) 69,9(47) | 273(183) | 5AA - BF2R 16"x2" (400x65) 60,2 (40,4) | 235(158) | 5AA
BF2R 20"x2" (500x65) 63,5(42,7) | 248(16,7) | 5AA - BF2R 20"x2" (500x65) 57,1(384) | 22,3(15,) | DHAA
BF2R 24"x2" (600x65) 79,4 (533) | 31(20,8) 5A - BF2R 24"x2" (600x65) 54(36,3) | 21,1(142) | 5AA
BF2R 8"x4" (200x105) 72,2 (485) | 28,2(189) | 5AA - BF2R 8"x4" (200x105) 73(49) | 285(19,2) | 5AA
BF2R 12"x4” (300x105) 76(51,1) | 29,7 (20) 5A - BF2R 12"x4" (300x105) 69,9(47) | 27,3(183) | 5AA
BF2R 16"x4" (400x105) 111,1(74,7)| 434(29,2) | 5A 8AA BF2R 16"x4” (400x105) 76(51,1) | 29,7 (20) 5A
BF2R 20"x4” (500x105) 107,8(72,4)| 42,1(283) | 5A 8AA BF2R 20"x4” (500x105) 73(49) | 285(19,2) | 5AA
BF2R 24"x4” (600x105) 117,5(79) | 459(30,8) | 5A 8AA BF2R 24"x4” (600x105) 699(47) | 27,3(183) | 5AA 8AA

150|



BFR 60X65

n N
=] o
| T

CTA (Kg/m)
&

=)
| IR

5 — T — T
1.0 1.1 1.2 1.3 1.4 1.5 1.6 1.7 1.8 1.9 2.0
d (m)
BFR H35 (1 3/8")
BFR H35
40 40
35 F35
30 30
B b r
> 25 —25
5 4 L
< ] r
5 20 {20
15 F15
10 10
1 T T T T T T T T T f
10 11 12 13 14 15 16 17 18 19 20
d(m)
BFR Hé5 (27)
BFR H65
110
100 == CTABFR B=500..600
90; ee« CTABF B=500..600
— CTABFR B=100..400
+eee« CTABF B=100..400
E - — Def
£ l
< 60|
= 4
o 50|
40|
30|
2077
10 ~—— —— [ —— ——————————————~ 5
10 11 12 13 14 15 16 1.7 18 19 20 21 22 23 24 25
d (m)
BFR H105
140 70
1 = CTABFR B=400..600
1207 S e« CTABF B=400.600 || °°
] — CTABFR B=100..300
100 sesse CTABF B=100.300 || 2°
= 1 - — Def [
2 80— 40
= i L
(&)

@
=]
L

N
[=)
L

T T 1T 1T T -1 1T T 717
16 16 1.7 18 19 20 21 22 23 24 25

d (m)

T T
10 11 12 13 14

[ . baso[

BELECTR.I

(2"x27) i3

BFR 60x65 i304 /i316

(ww) Jog
CTA (Kg/m)

Def (mm)
CTA (Kg/m)

€
£
@
a

T T T T T T T T T T T T T T T T

1.2 1.3 1.4 1.5 1.6 1.7 1.8 1.9 2.0

d (m)
i304
BFR H35i304 /i316

€
£
©
o

BFR H65i304 /i316

Def (mm)
CTA (Kg/m)

Def (mm)
CTA (Kg/m)

— CTABFR B=100..400
=== CTA BFR B=500..600
- — Def
B
£
B
o
10
— T T T T T T T T T
112 13 14 15 16 1.7 18 19 20 21 22 23 24 25
d(m)
» o=
BFR H105 (47) i30
BFR H105i304 /i316
80
— CTABFR B=100..300 ;70
=== CTA BFR B=400..600
- — Def 60
E
E
3
a

T
12 13

T T T T T T T T 71 T
14 15 16 17 18 19 20 21 22 23 24 25

d(m)

|151



FE H60 (21/3)

FE H=60 mm

CTA (Kg/m)

== CTAL3
— Def
— CTAL6

—50

0 \ T T T T T —0
30 35 40 45 50 55 6.0
d (m)
FE H100 (4”) d=333 (13 1/97)
00 FE H100 p333 o
4503 LIM CTA B=500 - gﬁ tg
4003 — Def t-40

LIM CTA B=600

T
2.0 2.5 3.0 35 4.0 45
d(m)

FE H150 (6”) d=333 (13 1/9")

FE H150 p333

(ww) Jog

LIM CTAB=500

LIM CTA B=600

LIM CTA' B=750

LIM CTA B=900

=— CTAL3
—— CTAL6
-—— Def

—80

—60

—40

—20

FE H100 (47) d=250 (107)

FE H100 p250

50

LIM CTA B=600 -446 kg/m

== CTAL3
— CTAL6
— Def

—40

d (m)

(ww) joq

(ww) joq

(ww) Joq

/m)

5
X
=
(¢}

CTA (Kg/m)

200

=E. Dasor

BELECTRIC

FE H75 (3") d=333 (13 1/9")

FE H75 p333

350

300

250

(ww) Joq

150

100

50

O] « v v e e |0
2.0 25 3.0 35 4.0 45 5.0 55 6.0

FE H120 (4 5/7") d=333 (13 1/9")

600 FE H120 p333 60

== CTAL3
— CTAL6
— Def

LIM CTA B=750
—50

LIM CTAB=900

(ww) Joq

FE H75 (3") d=250 (107)

FE H75 p250

350

300

250

200

(ww) Jog

150

100

50

FE H120 (4 5/7") d=250 (10")

FE H120 p250 60

== CTAL3
— CTAL6
— Def

LIM CTA B=900
: —50

(ww) Joq




FE H150 (67) d=250 (107)

FE H150 p250

900
LIM CTA B=600 — CTAL3
800 —— CTAL6
J -—— Def
700 LIM CTA B=750

LIM CTA B=900

L e
35

CTA (Kg/m)

BSL & BSLR

BSL H150 (67)

BSL H=150 mm
1400 LIM CTA B=300 F45

) — CTA F
1 LIM CTA B=400 Eas

1000 E
1 _ 30

800 Tk
] LIM CTAB=600 P £
600 i F20
1 F1s

400 E
N E10

200 = e E
i e — 5
0—F—g IR T T T T T -0

15 2.0 2.5 3.0 35 4.0 4.5 5.0 55 6.0

d(m)
BSL (NEMA VE 1)
Side Rail (Hxe) Class
150x2 16C - 20B
200x2 20C

—80

(ww) Jog

Def (mm)

CTA (Kg/m)

=E. Dbasor

BELECTRIC

FE (NEMA VE 1)

Side Rail (Hxe) Class
60x1,5 8C-12A
75x1,5 8C-12A
75x2 8C-12B
100x1,5 12C-16A
100x2 12C-16A
120x1,5 12C-16A
120x2 12C-16B-20A
150x1,5 12C-16A
150x2 12C-16B-20A
BSL H200 (8”)
BSL H=200 mm
1400 LIN CTA B=300 EFas
1200+ _ Def 40
1 LIM CTA B=400 ;35
1000 £
1 _ 30
800 P z
] LIM CTA B=600 et B E
600— ;—20 E’
1 E1s
400 E
N E10
200 £
i [ 5
0 /‘/‘w N U ™ N T T T 0
1.5 2.0 25 3.0 35 4.0 45 5.0 5.5 6.0
d (m)

BSLR (NEMA VE 1)

Side Rail (Hxe)
125x2
150x2

Class
20B
20C




. besog'

SUPPORTS

(CcsHofgd |

C-SHO
14 €-5HO-300
12
10
= J C-SHO 200 C-8HO 100
E 87
b ]
3 4 C-SHO-150
4
P
0 S e e e e
0 10 20 30 40 50 60 70 80 90 100 110
CTA (Kg)
CS+SCR
12 SCR 700
10 SCR 600 SCR 500
i SCR 400
8|
B | SCR 300
§ SCR 200
5} 6
a | SCR 150
o SCR 100
1 SCR 50
P
S B B L R
5 10 15 20 25 30 35 40 45 50 55 60 65

CTA (Kg)

SCR i304/i316 500-600

SCR 500-600 i304

Def (mm)

SCR 600

SCR 500

BELECTR.I

(SR |

SCR

12
14 SCR 700
10 SCR 600
9] ; : SCR 500
8 ; g SCR 400

z 7] SCR 300

£ 6 SCR 200

2 5] : SCR 150
4] SCR 100
3] SCR 50
2]
1]
0 T T T T T T T T T T T T T

0 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80

CTA (Kg)

SCR i304/i316 100-400

SCR 100-400 i304

SCR 400

. d SCR 300

7 SCR 200

Def (mm)
@
1

4] SCR 150

SCR 100

[ 5 10 15 20 25 30 35 40 45 50 55 60 65 70
CTA (Kg)

SRB
12
14 SRB 700
10 SRB 600
o] ; : SRB 500
8] g . SRB 400
z 7] SRB 300
£ 6 SRB 200
8 5 : SRB 150
4] SRB 100
3]
2]
1]
0 T T T T T T T T T T T T T T T

CTA (Kg)

CS+SRB

Def (mm)

SRB 700

SRB 600 SRB 500

SRB 400

SRB 300
SRB 200
SRB 150
SRB 100

LR L e e e e e
5 10 15 20 25 30 35 40 45 50 55 60 65
CTA (Kg)

C-SR+C-PC (GS)

o C-SR 600

o] C-SR500  C-SR 400
B C-SR 300
E
ERES

C-SR 200
14
0 — 71— . — :
20 40 60 80 100 120 140 160 180
CTA (Kg)



[ . beso[

BELECTR.I

SUPPORTS
SRiPCGO G

SR+PC (GC) KSR + R
25—
20— SR 400
SR 400 -
- _ , SR 300
€ 3 15—
£ £ -
5 SR 3 - SR 200
10— -
SR 200 -
5-
&= s T
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 0 10 20 30 40 50 60 70 8 90 100 110 120 130 140 150
CTA (Kg) CTA (Kg)

HL HR
18 S 25 S
1 SHL 600 ] SHR 800
161 ]
14 SHL 500 20
12 SHL 400 1
_ 1 SHL 300 154 SHR 600
£ 104 € 1
£ 1 £ ]
3 8 SHL 200 8 10 SHR 500
6 : ]
1 SHL 150 1 SHR 300
4 ]
5]
1 SHL 100 1
2 ]
0 | R T T T T e O e e e e e e
0 20 40 60 80 100 120 140 160 180 200 220 240 260 280 0 50 100 150 200 250 300 350 400 450 500 550
CTA (Kg) CTA (Kg)

P2 |

SP2
. SHV 12
1 114 300
5 SHV 500-800
] 10-]
6] o
) o 200
5] SHV.400 ]
E . £
£ 4] SHV 300 £ 6
3 ] ~sHv200 8 54
57 : e : 4-| : 100
) —
2] — 3+
7 — 2-|
1] —
] — 1
o T T T T T T T T T T T T T T T T T T T T T T 0 T I I [ T ! I I T I T | | T T T T
0 20 40 60 80 100 120 140 160 180 200 220 0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180
CTA (Kg) CTA (Kg)




. besog'

BELECTR.I

SUPPORTS (™
EX -

SP+R450
45
0] SP 1000
%1 SP 800
£ 301 SP 700
b -
g% SP 600
204 SP 500
SP 400
15
T T T T T T T
0 100 200 300 400 500 600 700 800
CTA (Kg)

PD1Ris0

SPD+R450
1500
30 1000
25
800
700
z 2
£ 600
& 154 400
10
51
=777
100 200 300 400 500 600 700 800 900 1000 1100 1200
CTA (Kg)

SUPPORT

Def (mm)

C-SHOT

C-SHOT 200

C-SHOT 300

C-SHOT 150
C-SHOT 100

M (kgxm)

7.5

SHO 400

7.0

65
6.0
55
5.04
45
40
35
3.04
25+

2.0

1.04

0.5+

SHO 400: Cd=1,91

zs

\ U T T T T T T T T T T T T T
10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160

Q (kg)

(spO Q@ |

SPD
] SPD 1000
25
SPD 800
20
] SPD 700
15

Def (mm)

SPD 600
SPD 500

o

T T T T T T T T
150 200 250 300 350 400 450 500 550

CTA (Kg)

P
<
o
>
o

C-SVO+VRO

C-SVO+VRO
50 SVO 600
25
20 SVO500  SVO 400 SVO 300
= :
E
g 15

SVO 150 SVO 100, SVO 200

T T T R A T T e
100 120 140 160 180 200 220 240 260 280 300 320
CTA (Kg)

| CT30+KCT3(ml

CT30+KCT30
20—
V777777777 €T30 300: Cd=0,451
18] ; : ; CT30 400: Cd=0,767
] €T30 500: Cd=1,083
16 Y : : CT30 600: Cd=1,354
14—
. 12
E
g i
= 10—
= =4
o] 78
6]
4]
o]
o e e
50 100 150 200 250 300 350 400 450
Q (kg)



UPPOR

KPC + C-PC

M (kgxm)

3
&
E)
<
s

KPC2 + PC

M (kgxm)

KPC + C-PC (GS)

L300::Cd=0,815
L450::Cd=1,223
L600::Cd=1,631

zs

LPC + C-PC

CARTELA LATERAL + C-PC (L450)

Montaje Fijo

L450 (posicion fija): Cd = 0,467

Montaje Variable

L450 (posicion vble.); Cd = 0,500
L300 (posicion fija): Cd = 0,311

L300 (posicion vble.): Cd = 0,357

zs

LA St S WL WL S S WAL WL
40 60 80 100 120 140 160 180 200 220

|
240 260 2

KPC (GC) + PC (GC)

18 L300: Cd=1,077-
L400: Cd=1,185

16— L500: Cd=1,346
L600: Cd=1,615

141

12+

10

87 zs

6]

4]

2]

-—
20 40 60 80 100 120 140 160 180 2

KPC + 2 x C-PC (GS)

[ . bc')so!'

BELECTR.I

-

KPC +2x C-PC (GS)

25

20—

M (kgxm)
&
|

zs

L300: Cd=0,594
L450: Cd=0,891
L600: Cd=1,188

LPC + C-PC L600 (GS)|

KLPC + C-PC L600 (GS)

Montaje Fijo

Montaje Variable

M (kgxm)
3
L

8 zs

L600 (posicion fija): Cd = 0,635
L600 (posicion vble.): Cd = 0,777

KLPC2 + PC (GC)

M (kgxm)
~
Il

zs

L300:Cd=0,923
L400: Cd=1,000
L500::Cd=1,154
L600::Cd=1,385

T T T f T T
120 140 160 180 200 220 240 260 280




su

SU 400: Cd=0,191
SU 600: Cd=0,287
SU 800: Cd=0,398

M (kgxm)

zs

100 150 200 250 300 350 400 450 500 550 600 650 700
Q(kg)

160 SUR
Limite M por soporte individual SUR 600: Cd=0,080
1404/ s SUR 800: Cd=0;131
4 SUR 1000; Cd=0,204
120~
100
e B
g 80—
= J
60 zs
40
20—
o f T T f f T T f T T
100 200 300 400 500 600 700 800 900 1000 1100 1200
Q(kg)
KAI8 + 18
KAI8 + 18
b L600: Cd=0,077
35 L1000: Cd=0,116
L1300: Cd=0,155
307 L1500: Cd=0,207
L2000: Cd=0,367
L3000: Cd=0,826
25
t
£
g’ 20
=
ZS
15—
10
5]
100 200 300 400 8 0
Q(kg)

SP + R450
140 H i
e S SP 600: Cd=0,128
4 SP 800: Cd=0,170
120
100 : : H : : H
/ Lim M por soporte individual
3 80—
2
= J
60
1 zs
40
20
O —fLLLGLALLLLLGLLLLLLLLELLLLNLLLALL G LLLLLALLLLLLLLLLLL L
100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400

Q(kg)

M (kgxm)

. beso[

BELECTR.I

U+R450 [

140 SU+R450
120} SU 600: Cd=0,095
SU 800: Cd=0,119

100

80

1 / Lim M por soporte individual
601 :
zs

40|

20

0 T T T T T T 1 T T T T T T T 1 T T T

100 200 300 400 500 600 700 800 900 1000 1100
Q (kg)

KIS + 18 |[mm

160

KIg +18

150
140;
130
120
110+
100

90—

80—

M (kgxm)

70
60|
50-]
40
30|
20
10

0

L600: Cd=0,069
L1000: Cd=0,092
1.1300: Gd=0,117:
L1500: Cd=0,138
L2000: Cd=0,172
L3000: Cd=0,275

ZS

T T
100 200 300

f T T T f T T
400 500 600 700 800 900 1000

Q (ka)

1100

SP

5577 T 7T

50—

45+

40

35+

30

M (kgxm)

25

20

SP 300: Cd=0,142
SP 400: Cd=0,203
SP 500: Cd=0,265
SP-600:-Cd=0,326
SP 800: Cd=0,509

zs

AT A Ao
50 10

150 200

AT AT AT A A A A A e
250 300 350 400 450 500 550 600 650 700 750 800
Q (k)

140
130
120
110
100

90

80—

M (kgxm)

70
60
50
40
30
20

10

SPD 500: Cd=0,147
SPD 600: Cd=0,179'
SPD 700: Cd=0,211
SPD 800: Cd=0,263
SPD 1000: Cd=0,316

zs

T
100 200 300

L S UL S SR
400 500 600 700 800 900
Q (k)

1100 1200

T
1000



Cl=-CE=D

SUPPORTS

SPD + R450 |

SPD + R450

250777 T T

200

150

| SPD 600; Cd=0,058
SPD 800: Cd=0,077
SPD 1000: Cd=0,096

/ Lim M por soporte individual

M (kgxm)

100

zs

SUPPORTS

T
1000

12‘00
Q)

T ! T f T
1400 1600 1800 2000 2200

B CTA

mm inch kg Lb

100 4" 276 609
150 6" 260 573
200 8" 253 558
300 2" 207 456
400 16" 506 1116
500 20" 460 1014
600 24" 414 912

=E. Dbasor

BELECTRIC



=E. Dasor

BELECTRIC

BPI (iEC 61537) BPE (UNE-EN 61537)
@MAX. 400C gMAx. 60°C
d=15m&T=40C - Carga
2 Carga admisible (Kg/m) .
MODEL d=1m&T =60 J Y admisible (Kg/m)
(HeB) —— MODELO | Distancia i m |Distancia 1,5m MODELO | Distancia 1,5m
CTA kg/m (Ibf) e
BPE-60x100 39 20 BPE-60x100 20
60x100 23(155) BPE-60x150 43 22 BPE-60x150 22
ngigg ;: (;22) BPE-60x200 64 31 BPE-60x200 31
X (%63) BPE-60X300 | 74 38 BPE-601300 38
60x300 45 (30,3)
100x200 79(53,1) BPE-100x200| 119 57 BPE-1001200 57
100)(200 1921 (617'9) BPE-100x300 125 61 BPE-100x300 61
100)( 00 1? (;S 9 BPE-100x400 168 81 BPE-100x400 81
00x600 8(733 BPE-100x600 227 112 BPE-100x600 112
SHG 100..300 (4°..127) SHG 400..600 (16"..24")
s SHG 100-300 SHG 400-600
7 > SHG 300 60° SHG 300 40° zz: /SHG 400 60° SHG 400:40°
6 /// 18— ///
5 /:SHGJ 5060° SHG 150 40°. SHG 200 40° 7 ////SHG 600 60° SHG 60040°
z L7 -7 sHG20060° E 14 ////
E 4| PO £ 12 ////
g et g8 10 o
3 //4//////5./4(3 100 6 SHG 100 40° o] ////
2| 5 //://:/: - 6| 5 7
P 4 7
14 P 1.7
oz 2] 2
0 0 1‘0 2‘0 3‘0 40 5‘0 6‘0 70 8‘0 9‘0 160 11‘0 wéo 130 140 0 ‘ 2‘0 4‘0 ‘ (-3‘0 8‘0 160 ‘ TéO 11‘10 u‘ao ‘ 1é0 ‘ 20‘0 ‘ 22‘0 ‘ 21‘10
CTA (Kg) CTA (Kg)
KSHGR + SHGR SHG
HEHIR 2 SR B CTA 40° CTA 60°
] PERFIL SHGR L600: C¢=0,70 mm inch kg Lb kg Lb
o] 100 4" 90 199 ? ?
150 6" 105 232
o 200 8" 120 265 ?
§ 300 12" 130 287 ?
] 7s 400 16" 220 486 ?
600 24" 180 397 ? ?
5‘0 1(‘}0 |éU 260 25‘0 3(‘}0 350 400
Q (kg)
PSHG SVG
B CTA 40° CTA 60° B CTA 40° CTA 60°
mm inch kg Lb kg Lb mm inch kg Lb kg Lb
100 4" 90 199 ? ? 100 4" 384 846 192 423
150 6" 105 232 150 6" 384 846 192 423
200 8" 120 265 ? 200 8" 384 846 192 423
300 12" 130 287 ? 300 12" 204 450 102 225
400 16" 220 486 ? 400 16" 120 263 60 131
600 24" 180 397 ? ? 600 24" 60 132 30 66

160|




. D3sS0or

ELECTARIC

SPAIN HEADQUARTERS

Avenida Alcodar 45-47
46701 Gandia (Valencia)
T. +34.962.876.695

MEXICO Basor México SAPI ITALY Basor Electric SRL FRANCE Basor France

PORTUGAL Basor Caminho de Cabos UNITED KINDOM Basor Electric LTD

HUNGARY Basor Elektro KFT ARGELIA Basor SARL M.N.A Equipments

THAILAND Basor THAI USA Basor Electric Inc.



BASOR ELECTRIC, S.A.

basor@basor.com

www.basor.com

in) o &)

Linkadin Twitter Youtuba

Basor Electnc SA EHasorlectric youtube.com/user’

basorelsctnic

>
LL
—
W
>
-
Z
T
=
O
J
<
g
=
L
—
0
T
U

Z
L
L
o
O
LL|
af




